A

A

1
Match the list I (name of scholars) with List IT (Books) and choose the correct answer
using the codes given below the list :

List - I List - 11
A. Aristotle i. Ges Periodos
B. Eratosthenes ii. The Oceans
C. Hecataeus iii. Ekumene
D. Posidonius iv. Meteorologia
A B C D

(1) i v il i

(2) i 1 i iv

@) iv iii i i

4) i 1 iv il

A1 (gt @1 M) @1 GA-L ([GTa) & A A R R gE @ R RY T BIe @
SN R FE SR T

-1 = - 11
i T aRe
ERARVIRS ii. T R
: iii. Yo
. OIS iv. MfeAmSrar

Uéfg

(1) i dv i il

() iii i i v

3) iv i i i

4) i i iv i

Consider the following statements ;

Assertion(A): Posidonius pointed out that at new moon and full moon there are high
tides whereas low tides are caused when moon is in the First and Last quarter.
Reason (R): Posidonius was a scholar of Greek period.

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

ferfeRRad ®eml w faar &

AMBUT () : TSGR 3 g1 % 7 oA &k qftfar § s== R B € wefs e
Ul 3R INRaS) foardl ¥ BT & 99 B9 WK B ¥

PR (R) : UireIFRT e YRvs @ v fage 9|

(1) &1 AT IR S & 8 3R YR 37 6 e aRAT & |

(2) < TAT AR I FE! & IR IR I DY e ARAT &) 2 |

(3) 31 WEl § R IR eI & |

(4) o1 T & IR AR We © |
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2

3. Match the list I (name of the Rivers as mentioned in Rigveda) with List IT (The present

A

names of the Rivers) and choose the correct answer using the codes given below the
list ;

List-I List - II
A. Sutudri [.  'helum
B. Purusni II. Chenab
C. Asikni III. Ravi
D. Vitasta IV. Sutlej
A B C D

M I I I IV
@ I 1 I IV
@)y IV I I I
@mn m I IV

A1 (G & e ¥ SfeRad AR @1 T ) 31 G-I @R & adar ) @ W
AT B AR A 3 A9 RY T Pl FT ST TR Fel SR G
A - 1 =0 - 11
A. g L sem
B. gwRAl II. <99
C. ARy I =fg
D. faear IV. St

A B C D
(1)1 I oI 1v
@ I 1 I 1Iv
(3) Iv I II I
(4) 11 I 1 Iv
Consider the following statements ;
Assertion (A): Hecataes is known as the father of geography

Reason (R): His main book 'Ges Periods' presented the first systemic description of
the world

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue but R is false

(4) Ais false but R is true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



ferforRad ol W fER ax

@ () : Rarermd 4yma & I & Wy F H o €|

FRT (3TR) : T8 T TS T GRT fawd 1 v aRerd faRer s w2 |
(1) o 1 R <1 T § 3R IR o DT Wel A=A B |

2) 3 qAT AR Sl FE § IR AR o B Fel ARAT Tl E |

(3) 3 WE § U= SR eI € |

(4) 3 AT & W IR [l B |

Consider the following statements;

Assertion (A): Behavioural approach in geography was introduced in 1960s
Reason (R): Its origin was based on the frustration against the normative and
mechanistic models developed with the help of quantitative technique

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A

(3) Aistrue butRis false

(4) A is false but R is true

ferfarRaT woml W faar X

e (31) @ quTel § asR gRedIor 1960 & e # U fohar Ty o |

HRO (@TR) : THP IART AHAS qHAe B G @ (R wee R vie dfee @
faeg fA=Tem o= amnRa of !

(1) 37 G AR ST A& B &R IR of & HE ARAT & |

(2) o TAT AR T WE & UReg AR 3 P FE ARAT TE |

(3) & WA & UR=g IR TAT ¢ |

(4) o T & U] TR e 2|

Match the list I with List [T and choose the correct answer using the codes given
below the list;

List-1I List-1I

A. T.Haggerstrand 1. - Theoretical geography
B. William Bunge II. Geographic dissemination of innovations
C. Gilbert White III. Methods of regional analysis
D. Walter Isard 1V. Human responses to flood
A B C D

1) I 1 IV II
@ I II IV I
@) IVv I I I
@ T IV I 10

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.



A
-1 BT - B 1T At Y SR A B Y R T P B ST e G SR g ¢
T - 1 T - 11
A. Bo TRES L e e
B. faferms a=h L. ARl BT 4RMferd TR
C. fireee =rse (1. &=y favewy & a5
D. dleer 91 V. 916 & forg #ra gffshas
A B C D

(1) I 1 IV II
2 I I IV I
@) IVI I I
4 M IV I 1II

7. Which one of the following statements is Not True about humanism in geography?
(1) Humanism does not treat humans as machines

(2) Humanistic geography gives importance - to human awareness, human
consciousness and human creativity

(3) Humanists accepts the reduction of space and place to geometrical concepts of
surface

(4) Humanism developed as criticism against positivism and quantitative revolution
ferafelRaed & | SIF-d1 S i # Aaaae @ ar # 98 8 8 2

(1) FadT 7t &7 7 & w9 § T8 7l 2 |

(2) HHIETE! HIel HIT SRS, A Ia-T AR AT Ta-eHdal o qewd odl # |

(3) WIS WaE B SR SRS B STE &R T ¥ o 31 WeR B ¥
(4) AFAATETE HHRIHS AR ATHAHD Hifd & faog raraT @ w9 7 aasRid g |

8. Match the List I{ names of the scholar) with List IT (Model characteristics) ;
List-1I List - IT
A. Taaffe and Gould 1. Six stage transport development model(1963)

B. Gould II. Four  phases interrelationship ~ between
metropolitan and third world countries
C. Vance II. Five stage Mercantile model(1970)
D. Rimmer 1V. Spatial exploration model(1966)
A B C D

1) 1 I I IV
2 I 1 1 1V
@) I IV Il I
4 IVI 1 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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-1 (gt & =) B gA-1 (Fed o) & e id

g -1 A - 11
A. T IR TSes o ool gRaes faar Aisd (1963)
B. WSS 11 Aeifees ok dd g & <l @
C. a= L. dfg =iy Raega #ted (1970)
D. R™R V. WRRE taa@eyd Jted (1966)
A B C D |

M 1 I I IV
@ I 1 Il IV
@) 1 IV I I
4 IV 1 I I

Which of the following model of transport development is based on the colonialism?

(1) Gould _ (2) Rimmer

(3) Vance (4) Lanchene

uRaed e & FrefaRad ded § @ d9-w Sufdeare R smerlRa & 7
(1) ST : (2) ¥R

(3) T (4) o=+

Which stage of the Vance's model talked about localised internal trade and
manufacturing ?

(1) Fourth stage (2) Second stage

(3) Sixth stage (4) First stage

qia & dieet & fhe axor ¥ weriaga sfaRe @R SR R & aR # A @1 E ?
1) ag == (2) fedira =

(3) Badl TR (4) wIH TIOI

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P:T.0;



11.  Match the List I( indices or term) with List I (Symbols) ;

List -1 List - II
A. Cyclomaticnumber I p
B. Etaindex I v
C. Alpha index L. n
D. Node ‘IV. o
A B C D

(1) I IV I II
@ I I I 1V
@) 1 I I IV
(4 1 I IV I

T (@Roww s o) @ A () S e e

-1 - 11
A. AsTRfeE wwan L
B. ScI se I v
C. P gSaA 1L n
D. TS IV. a
A B C D

(1 1 Iv II 1m
@2 I I 1O 1v
@ I I u I1v
4) I I IV II

12. Which one of the following is not a transport connectivity measure?

(1) Koning number (2) Route index
(3) Piindex (4) Detours index
T A DI STRAUIE Hdeiac! AuR el § 7

(1) SifFT /R (2) e e

(3) T R | () Ry R

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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13. Which one of the following is demersal fish variety /species?

(2) Sardine

(1) Salmon
(3) Cod

(4) Herring

T A BE- ST Aol e /gt @l § ?

(1) Fomd

(3) ®fs

(2) wverET
(4) BRAT

14. Arrange the following in descending order according to their size of population in

2015

(i) Bangladesh (ii) Japan (iii)Brazil (iv) Nigeria

(1) (iv)-(iii )-(ii )-(0)
(3) (iii)-()-(iv)-(ii)

(2) (ii)-(i)-(iii)-(iv)
(4) (iii)- (iv)-(i)-(ii)
2015 # SIFRIRET @ MR & AR Fr=fiRad a1 oreRig) 4 # 2raRed a ¢

(i) ST (i) ST (i) STeie (iv) ArgeiRa

(1) (iv)-(ii )-(ii )-(i)
(3) (iii)-(i)-(iv)-(ii)

(2) (i)-(1)-(iii)-(v)
(4) (iii)- (iv)-(i)-(i)

15. Match the list I (name of books) with List II (Authors) and choose the correct answer

using the codes given below the list ;
List-I

A. The nature of geography

B. The urban questions

C. Social justice and the city

D. Locational analysis in geography
A B C D

1) IV 1 I I

@ IO IV I 1

Gy 1 I I IV

(4) I I IV I

List -1I
I. D.Harvey
II. P.Hagget

III. R.Hartshorne
IV. M.Castels

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)

P. T.O.
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A1 QDT & ) - (e & A e X IR gl @ A R T B @
SUINT TS el SR G

T -1 | Tﬁh-il
A. T TR ife Ryt I. $o ga
B. T 319 qagEd II. o &7c
C. arrd SiRed yoe g R IIL. 3fRo BIEN
D. deIEd Ffaf 39 Rdumes IV, THo ded
A B C D

(1) IVv.1 1II II
(2) U1 v 1 1II
@) I I U v
(4 I I IV I
16. Consider the following statements;
Assertion (A): Losch's model is less restrictiv'e than Christaller's

Reason (R): Losch treated each function as having a separate range, threshold and
hexagonal hinterland

Answer:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) AistruebutR is false

(4) A isfalsebutRis true

rfeRead odl R [JaR o -

AMHUT (31) : AT BT Afee fohveor @ o ¥ &9 IRERE © |

PRI (AR) : T A AP BaEH B Th AT Vo], RS AR TR fBeeere &
g ¥ q1 2|

(1) 1 TAT 3R T Fal © 3R AR 37 &) FEl IREAT 8 !

(2) 3 qAT IR [T T & TR IR I Bl FE GRAT Tl 2 |
(3) <1 WA B U= IR AT ¥ |

(4) 31 T & IR IR W ¥ |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



19.

20.

el

Chain migration is based on;

(1) Job opportunities (2) Kinship

(3) Proximity to place of origin (4) Combination of 1 and 3
9 AU MR

(1) IR & JGER W (2) AT W

(3) SWRT B W & Fdcar (4) 13R 3 & FISH R
Which one of the following do not concerned with migration laws?
(1) Stouffer _ (2) Reilly

(3) Ravenstien (4) Thompson

T W BT AT A PRE & e ad v

(1) ¥R 2) deh

(3) ETRIEd (4) g

Find out the odd term out of the following.

(1) Central business district (2) Loop

(3) Centralization _ (4) Core

rafalaa A & fQww v &1 yar & -

(1) wxa fasra RRgae (2), 7@

(3) e : @4) BR

C. Harris and E. Ullman have propoundéd theory of multiple nuclei which is based
on 9 zones. Which zone occupy the heavy manufacturing?

(1) 3rd zone (2) 4th zone
(3) 6th zone ' (4) 8th zone

lo aR¥ R o ITHT 71 9 SHT W menRRa g5l e & Rigra &1 zenfie fear 2
PIF-AT SF aorHr fAafsior o1 sfeniiT ewar 2 ?

(1) 3rd & (2) 4th &=
(3) 6th = (4) 8th <

Strassendorf pattern of settlement is associated with which of the following
settlement?

(1) Compact settlement (2) Dispersed settlement
(3) Linear settlement (4) Ring pattern

.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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ol

23.

Sewriie &1 WA e PrefiRaa i & R deeric & Wi s g § 7

(1) @Hige dearie (2) feade dearie
(3) R HeaHe | 4) R Ye

Which of the province of Canada is most densely populated?
(1) Ontario (2) Nunavat

(3) Alberta (4) Manitoba
BN BT DIF-A1 Ui FE B HAETE) arelr 8 7 |

(1) siferRar | (2 TEE

(3) oTctgel (4) AFEET

Consider the following statements;

Assertion (A): The plain areas having fertile soils and suitable climate for the
cultivation of crops are the regions of high density of population

Reason (R): There is an inverse relationship between the arable land anc
concentration of population

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istruebutR is false

(4) A is false but R is true

Preferad woi X RaR B

IBYT (31) : HHe B WA B fory Iuwrs; ML R U Sedrg gl ATl &
A & ITd B B &F 8 |

PR - (FR) P A R AT T HDaw & G g fquda w6 7 )
(15 aﬁmmﬁﬂﬁésﬁ?maﬁwaﬁw%

(2) & T IR A FE B R AR A B AL @] TE B

(3) 31 WEI & W IR T B |

(4) 91 TET § R AR AE T |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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24. Consider the following statements;

25.

Assertion (A): Indigenous people are strikingly different and diverse in their culture,
religion and social and economic organizations

Reason (R): the indigenous people are termed as Fourth world

(1) Both a and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A istrue butRis false

(4) A is false but Ris true

frfaRad wodl w® IR #Y

e (@)« wEh @R T eph, e ofR Wi SR Sniie HISH! H BTl ST
3k fafdw 21

HRT ¢ (3R) : @ At wy el gfar FEr S g

(1) o TN 3R S W8 & iR TR o &1 | AT & |

2) aammﬁﬁ%mwaaﬁﬁmﬁ%l

(3) & W& ® WY IR TA B |

(4) 3 oI B U AR A © |

Consider the following statements;

Assertion (A): Pastoralism among the Masai is strongly linked with culture

Reason (R): Cattle are kept not because they can be sold or consumed, but because
they can be immolated in religious rites and magical ceremonies

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

frafeRag et ) faR

b (3) : TS @ dra undears gear W WEph W Sl g9 T |

PHROT (AR) : FIRE B @ ST gafery 8 b 9 99T O WAl © AT Wil Sl ||
3, TR TN f 3 enfife R o SiTgE wARIE # Fai R O wad & |
(1) & oI AR A W ¥ SR AR o B wR e ¥

(2) 31 T AR TR WE ¥ UG IR A B e AT F |

(3) o WE & UR AR e B |

(4) 3 T T IR IR Tl B

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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26.

27.

A
Match the list I (Races) with List IT (Sub races) and choose the correct answer using
the codes given below the list;

List - I List - II

A. Caucasoid I. American indians

B. Negroid II. Alpine

C. Mongoloid III. Melanesians

A B C

(1) I I I

2 0 I I

3 I o 1

(4 I II II
-1 (R7) D1 A1 (Fa-39) & G Ao I MR Al & A9 Ry 1 Ble a1 SUAT a1
e IR G

e - 1 T - 11
A. PIEREETS . mRew fea
B. s II. 3rurs+H
C. ANATS I11. fe=Rms
A B C -
(1) T I 1O
2 I I I
(G) I I I
(4 I HI II

Match the list I (name of estate farms) with List II (regions) and choose the correct
answer using the codes given below the list;

List-I List - IT
A. Latifundia I.  Europe
B. Ranches II. Anglo America
C. Fazenda III. Latin America
D. Plantation [V. Asia
A B C D

M 1 I IV I
@ I I IV I
@ I I II IV
(4 IV Il I 1I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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28.

29.

13

Tﬁh—l(ﬁuﬁftﬁrﬁfmﬁm)aﬁ@—l[(ﬁ)iﬁwaﬁa?ﬁaﬂ??ﬁﬂfﬁﬁﬁﬁ@aﬁew

SO TS FE SR g

-1 = - 10
A. ddwafemr L g™
B. == 1. ¥t smReT
C. o IL S orRa
D. <M IV. TRrn

A B C D
M 1 1 IV I
@ I I IV I
@G I I I IV

(4 Iv 11 1 I
Which of the following is the port of five seas ?

(1) Murmaansk (2) St. Peterbersk

(3) Moscow - (4) Valadivostoc
1 & P it wEEt &1 deE § ?

(1) FRA~D (2) frewwm

(3) HI=RT (4) JeIEIARTIH
Which of the following is not a Chinese minority community?
(1) Huis (2) Uighurs

(3) Chins (4) Manchus

o @ T AN oS wIEE T 8 ?

(1) g™ (2) TR

(3) fa= (4) da

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)

P.T.0.
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30.

31.

A

Match the list I (Shifting cultivation) with List IT (Region) and choose the correct
answer using the codes given below the list ;

List-1 List - II

A. Milpa L. Indoﬁesia

B. Ladang I1. Brazil

C. Ray III. Vietnam

D. Roka IV. Central America and Mexico
A B C D

(1) T I 1m 1w

2 IVv. 1 III II

3 II I I I

4 I IV II I

G- Rt siedem) o - @F) & o 3 B R G B AW Ry W B @
JUIART @ Hal IR ?_ﬁ :

T - 1 T - 11

A. fae I gemHRErr

B. oS II. seite

C. R ITI. ga=

D. T IV. dger amRar ik A
A B C D

Q) 1 I I v
@ IV I I 1
3 I I IV I

(4) II Iv I 1II
Rocks having vertical strata are easily loosened and broken down due to the process
of

(1) Oxidation _ (2) Bio-chemical weathering

(3) Temperature changes (4) Chelatian

Sgad URdl aTell FESH AT I Glell Bl SRl © SR T O &, $9 ufhar & SR
(1) sifeiree= (2) I-aHEa IR

(3) A H gRac (4) farerem

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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32.

33.

15

Which of the following cunes are formed by ineffective winds along the coasts and
margins of deserts?

(1) longitudinal dunes (2) Transverse dunes
(3) Barkhan dunes (4) Parabolic dunes

PreferRaa 3 & e <g=F @1 Pl ael ok AR & A @ rel Fer drell T
g1 & HNOT BIAT © ?

(1) eriegeTe e (2) g g
(3) =@M SN | (4) wtfas S
Match the list I (The end product of normal or fluvial cycle of erosion) with List II
(Geomorphologists) and choose the correct answer using the codes given below the
list ; _
List-1 List - II
A. Peneplain I. A.C.Lawson
B. Pediplain II. LC.King.
C. Panplain III. C.H. Crickmay
D. Panfan IV. W.M. Davis
A B C D
(1) Iv II 1I I
2 I I m 1
3 I 1 o I
(4 Iv I I 1I

W—I(w%mwmﬁaﬂaﬁawaﬂmm)aﬁiﬁ—n(ﬁmﬁﬁ)%
- 1 T - 11 |

A. U= I © . aaa

B. U= I wa. AL fea

C. U 1. <. v fhen

D. 9%+ V. S, o, sfds
A B C D

1) IV I I I
@ 1 I I IV
@ m I I 1V
@ IV I I 1

M.Phil.lPh.DJURS-EE-Nov.-2018)(Geography)(SET-Y)I (A) P.T.O.
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34. Match the list I with List II and choose the correct answer using the codes given
below the list ;

List - I List - II
A. Medial moraines 1. The material dropped at the end of a valley glacier
Ground moraines ' II. The material dropped at either side of a glacier

C. Lateral moraines II. Deposition of glacial till along the internal margins
of two glaciers at their confluence

D. Terminal moraines IV. Deposition of glacial till at the floor of a \}alley
A B C D |

(n 1 I m 1w

(2) O I I

@) IV III I 1

@ M IV 0 I |
AL B AT D AR A o R Gl B A RY T BT BT IUART IR WE SR G

-1 = - 11
A. AT ART I 3ol ifRR & ofd § PRE T \areh
TS ARA 1. RrR & F e fRE T wreh
C. v ART I 3" W W ] R & faRes aike &
| ARER B feutfees
D. effFe ARe IV. T defl & del R TRRR o1 feuifes
A B C D

O I oI m IV
@ I W IV I
@ Iv Il I 1
4 I IV I 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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35. Match the list I (Metamorphic rocks) with List II (Original rocks) and choose the

correct answer using the codes given below the list ;

List-1I List - II
A. Gneiss I. Sandstone
B. Marble II. Shale
C. Quartzite III. Granite
D. Slate IV. Limestone
A B CcC D
O I 1M IV I
@ IV II I I
3) I v I II
4 I o O 1v

FA-1 (emiie e) B G-I @ERRMT JFe) & a7 B R @ & o ol ™

BIE BT YA IS He! SR G

g - 1 ‘ & - 11
A 4 I deweH
B. AWA CIL ¥
C. TEIIEe I11. 15T
D. Wi V. dgae™

1) I I IV I
@ Iv I 1 1
@ Il IVv I 1
@ 1 I I IV

36. The earth is rotating on its axis is established by the fact that

(1) The moon and stars move in the sky
(2) The earth experiences day and night
(3) The planetary winds are blowing

(4) The time in different parts of the earth is not same

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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gRaT JOHT g8 R YA V& ¢, I8 3 G20 W Wiua g3 or ¢
(1) <ear 3R ar e § gaa € |
(2) gedt & SR M &7 9T BT B |
(3) @i gAY S B
(4) gt & fafy= Rt # awg wam =6 2

37. The gradient of highly meandering river is ranges between

(1) 20cm to 10 m per km
(2) 20 cm to 15 m per km |

(3) 20 cm to 20 m per km
(4) 20 cm to 25 m per km

TS GARR 1 B il 71 & g Bl 2 |
(1) 20 =#to & 10 #Ho wfer favo
(2) 20 W¥o A 15 #Hio Uiy fHHo
(3) 20 o | 20 Ho ufay o
(4) 20 J¥lo | 25 Ho iy falo

38. Consider the following statements and select the correct answer from the code given
below;

Assertion (A): Fjords are the features produced by glacial erosion

Reason (R): Glaciers descending from coastal mountains may reach the sea and
continue their erosion on sea floor

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A istruebutR is false

(4) Ais false but Ris true

frafRad wodi &R AR &Y ok | R T e W Suge SR g
AMAHAT (31) : BIS TARRR &RV AR IaAfed f¥ward €|

PR (3TR) : T UBTSI 6 IR Tl TORER [HE TP Ugd GHd o AR S T W
I &ROT TN W FHd & |

(1) 1 T 3R 1 FET & 3R 3R 3 B FE! ARAT & |

(2) 31 TAT IR GHI HEl & TR IR I B T ARAT TE ¢ |

(3) 31 W B K] AR T © |

(4) 1 TAT & U= IR A & |

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



39. Which of the following layer reflect very high frequency radio waves?

(1) Elayer
(3) Sporadic E layer

(2) Flayer
(4) Glayer

e § 3 P uRa 9ga 9w amgRy A axat B ufafifa ewd @

(1) § =a
(3) WRfS® g uRd

(2) T® WRd
(4) SN O9_e

40. Aurora Borealis is producead in:

(1) Ionosphere
(3) Mesosphere

(2) Exosphere
(4) Stratosphere

RRT ARTfRT 379 I BT © ¢
(1) MATREIR (2) TERATRGZR
(3) HAIR®GIR (4) wTR®HER

41.

42,

Sub polar low pressure belts are located between
(1) 50°- 55° latitudes N-S hemisphere

(2) 60° - 65° latitude N-S hemisphere

(3) 30°-45° latitude N-S hemisphere

(4) 45°-55° latitude N-5 hemisphere

WU gdiT B G99 9T 3o 4 Rerd €

(1) 50°- 55° ifeegs N-S eHIRBAR

(2) 60°-65° AfeTys N-S 2HIRHAR

(3) 30°-45° wifecys N-S eIR®BUR

(4) 45°-55° ifeegs N-S eHIRGAR

19

Match the list I (winds) with List II (countries) and choose the correct answer using

the codes given below the list ;

List-1 List - II
A. Sirocco [.  Spain
B. Salano II. Libya
C. Khamsin III. Sahara
D. Gibli IV. Egypt

A B C D
M m I IV I
@ 1 I I v
@ IV m I I
@ o m IV

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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43.

A

A1 (BaR) B G-I (Q3) & [T 7 R R g d M R T Bre 1 SUANT e

[E SR G

@ -1 T - 11
A. RRrEar L =9
B. drerm=l II. fafear
C. @Aty 1. BRI
D. fireeh IV. e

A B C D
M m 1 IV I
@ I I I IV
@) IV Il I I
4 o0 m 1 1V

Consider the following statements;

Assertion (A): Fogs are more widespread over oceans

Reason (R): The oceanic fogs are generally advectional in nature
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue butR is false

(4) A is false but R is true

fFrefaRad ol ) ffar w

A (37) : FERATRY UR HIExT 3ifdie &g 2 |

HRUT (3TR) : HEMFR & DIEX M TR R UHfa # fharers 8 € |
(1) o qAT IR SFT T 3R 3R 37 o T8 ey B

(2) & TAT AR T qE U IR T P AL AR TE ¥ |

(3) 31 WEl ® U IR T &

(4) 31 AT § I AR HE B

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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=44. Consider the following statements;

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)

45.

Assertion (A): Anticyclones are systems of high pressure surrounded by low pressure

Reason (R): A cyclor{e is low pressure system of isobars with lowest pressure at the
centre and pressure increasing in all the radial directions

(1) Both a and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Ais true but Ris false’

(4) A is false but Ris true

frfeRaa wedl R =R =

B (3) @ TERTEAT BH <d1d W foR Iz garg drefl & € |

FROT (3TR) : U whald ITGEER o HH q@ qTell qF & O s H A9d HF <9
BT & 3R i Mega fRemelt # <amg gedr 2|

(1) o o orR <Y WA R ok AR o ) W e B
(2) o AT AR ] FE & TR IR 3 B W) ARAT 78 & |
(3) 1 WEl § UR=] MR TeAdl 2 |

(4) & AT B YR IR HEl B |

Match the list I (ocean currents) with List II (coasts) and choose the correct answer
using the codes given below the list ;

List-1 List - II

A. Florida L. S?ain and Azores

B. Gulfstream II. West coast of south Africa

C. Canary III. South-east USA

D. Beneguela IV. Grand Banks of Newfoundland

A B C D

(1) m v 1 1II

@2 I [ I IV

3 m I I IV

4 v Ul o I

P.T. O.
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46.

47.

- A
-1 (TR T) B GA-IL (@) & T A N AR g B R RA T B BT ST
RS Fel SR g ¢ ‘

g -1 A - 11

FAIRST I W9 3R R

Toh W 1L IR PR 36 ATSY TPIpT

DA . FRe-83€ 4, 9. T

e V. s 4% 3 Jwescs

A B C D

1) M IV I 1

2 I I I 1v

3 I o I v

4 IV I 1 I

o n = »

Which of the following is an area of steep slope extending just after the confinental
self ?

(1) Continental slope (2) Ocean deep

(3) Sea plain (4) Oceanic ridges

57 W P Bifcioe Yew @ a1 RRT N dren W el B e 2
(1) »ifedes i () oM S

(3) ¥ == (4) rerte Rew

Which of the following statement is false?

(1) Salinity controls evaporation

(2) On an average ocean surface water temperature is 26.7 degree centigrade
(3) The average salinity in the seas and oceans is 35%

(4) Red sea has high temperature in the south due to high evaporation
frfefaa § & @F-a1 wad 1o § ? |

(1) oravrar arsfiexor @7 fAafya owar 21

(2) AT WIZ B ALl ST BT amgHE 26.7 I AR g 2 |

(3) WHR! 3R AENNRI # 3{RAq= ofqure 35% & |

(4) S=a IR & HRYT ST # ¥ W F ST quHE B § |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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48. Which of the following statement is true?

49.

50.

(1) Kimbal has classified the oceans according to salinity
(2) Dead sea is the most saline water body on earth

(3) The maximum salinity in the southern part of the Indian Ocean is found in west
of Australia due to dry conditions

(4) 80% of the water in the oceans has a temperature permanently below 55 degree F

frfoRad # & -\ 2 WE & °

) fFaa 3 U @ SGIR FEHERT BT gIisRer a1 81

2) oAl W ST A A A#f¥FH G Arell T A € |

(3) fs FERTR @ Rh &= § waie e g uRRefEl @ o argfar @
uf¥em # il el ® |

(4) TERIFR & 80% ol ! arad 55 R F 4 a temdfl w9 & € €1

The period of nearest distance between moon and the earth is called

(1) Apogee - (2) Perigee

(3) Perigean (4) None of the above
A1 R gedl @ & e g o s 1 e ST €

(1) wareh | (2) IR

(3) gRfra= (4) 39 O ®E T

Consider the following statements;

Assertion (A): Neap tides rise to a lesser height than spring tides
Reason (R): Neap tides occur on full moon

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue butRis false

(4) A isfalse but R is true

frefaRad sl W g &

afme (@) : RET Trgs B ger § AU Tigs $F HAE a6 el 8 |
HRUT (@MR) : A9 ez gfdfar o= B 2 |

(1) o T AR I W ¥ SR SR o &) Wél A B!

(2) o TRAT IR S WE ¥ UG AR I B Al AT TE F |

(3) 31 |E & W=y AR AT 2 | |

(4) 31 ToT § WR=Y AR WE B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O,
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51. Match the list I (Pass) with list II (State) and choose the correct answer using the codes
given below the list ;

List - I List - IT
A. Shipkila . Arunachal Pradesh
B. Niti passl II. Himachal Pradesh
C. Nathula II. Uttrakhand
D. Bomdi la IV. Sikkim

A B C D
1 I m IV I
@ I I 1 1V
@G IV I 1 1I
4) IV II II I

A1 (@) B AL (29 B | A o SR g @ MR R W B @1 swn axe

e I G
L -1 = - 11
A. Rrapr o I R P |
B. #fy um L fRwrEe s
C. e o [II. STRIES
D. ar<d @ AR s

A B C D
1 I m IV I
@ I m 1 1V
@) IV I 1 1

@ IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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52. Match the list I (name of Rivers) with List II (Their tributaries) and choose the correct
answer using the codes given below the list ;

List-I List - II
A. Krishna I. Chambal
B. Brahamaputra II. Indravati
C. Godavari III. Tista
D. Yamuna IV. Bhima

A B C D
1) Iv I I I
@ I v I 1
@) Iv m I I
4 I IV I 1
ﬂ;ﬁ’rlW%w)aﬁmﬁn(eﬁwaﬁﬁ)mwuﬁaﬁaﬁ?qﬁzﬁ%ﬁﬁ
T BIE BT IYANT RSB AE SR G

- 1 - 11
A. FwT 1. o9
B. S&gAT I Sgrach
C. TR 11 fo=a
D. IgA V.

A B C D
1 IV II 1 1
@ m v I I
@ IV I I I
4 1 IV TI I

53. Match the list I (type of climate) with List II (region) and choose the correct answer
using the codes given below the list ;

List-1 g List - II
Aw I. Rain shadow zone of Karnatka
Amw I[I. Thar desert

BShw I11. West Bengal and Bihar
BWhw IV. Malabar coast

A B C D |

U m IV I I

2 mr 1 IV 1II

@y o ..1. B I

4@ oI 1v 1 10

=R el

M.Phil./Ph.D.JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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-1 (Serary &1 UhR) @) @1l @F) @ T 7 & IR gl & A1 Ry T BIe
YN PRSP Hel TR G

= - I S ¥E-I
A. T S 1. FAIcd BT T ST S
B. U UH S=g 1L aR A=
C. 4 ta wa sg [l Re 97 3R fd8R
D. 9 S&¢ 4. S IV. AGER BRS
A B cC- D
1 m v I 1
@ MM I IV I
@ I 1 1V I
4 1 Iv I I

54, Main reserve of Chromite in India are distributed in :

(1) Bihar | (2) Orissa

(3) Gujarat (4) Rajasthan
IRT H Hrge &1 7= Rod faaka # -

(1) fer # ‘ (2) shfear #
(3) IO A (4) eI #

55. Which of the following wood is obtained in the dry region of India, particularly
Karnatka, Andhrapradesh and Tamilnadu?

(1) Ebony (2) Sandalwood

(3) Sal (4) Mahua

frrafafed & & dF-0 ‘c?rqie"f YRA & YD & § U H S 2, JId: BCd, A
e o afferrg 4 ?

(1) zar (2) =T

(3) e (4) =gam

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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56. Match the list I (Tribes) with List II (states) and chcose the correct answer using the
codes given below the list ;

List-1 List - 11
A. Santhals [. Rajasthan
B. Mikirs . Andaman and Nicobar
C. Jarawas II. Jharkhand
D. Bhils IV. Assam
A B C D
(1) Iv 1 1o I
@ O Iv I I
@ I o v
4 o m 1 I
A1 (SRR BT I (1) @ W A R SR < B A Rl T ae w1 Sw
-1 = - 11
A, T [. SR
B. fAfax II. 3few™ &R fFAeER
C. SR 1. s
D. #e IV. 3
A B ¢ D
1) IV I I 1
(2 m v I I
3 1 1O 1 IV
(4 oI m 1 1V

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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57. Which of the following are stationary waves?

(1) Swell _ - (2) Surf
(3) Sea _ (4) Seiches
fFrefaRad # | -0 e 39 ® 7
(1) ¥ (2) &%
(3) = @) A=
58. At each place in sea or ocean tide occurs every day after
(1) 12 hours 20 minutes (2) 12 hours 22 minutes
(3) 12 hours 24 minutes - (4) 12 hours 26 minutes
TS AT AENNR A YIdh W8 W TS & 2 Bl &
(1) 12 &< 20 fame (2) 128c 22 fame
(3) 12Hc 24 fAme ' (4) 12%2 26 fAme
59. The process of soil formation is referred as
(1) Orogenesis (2) Pedogenesis
(3) Orthogenesis (4) Cosmogenesis
ST & e @1 ufhar @1 wefia fear o @
(1) SRR () eoFRRT
(3) Ao (4) PrEFRERT

60. Which of the following stage occurs when 50% of the total voids and pore spaces are
filled and the remaining 50% is occupied by air :

(1) Field capacity stage (2) wilting stage
(3) Saturated stage (4) Unsaturated stage

ﬁwaﬁﬁﬁaﬁaw@m%wwmsﬂ?mﬂwwSO%WWﬁ%GﬁQE‘W
50% &aT W ¥R Er &

(1) wies FIRTE o (2) fafeeT ww
(3) HgRTs W : (4) FRTE W

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



61. International map projection is a modified

(1) Cylindrical projection (2) Policonic projection
(3) Zenithal projection (4) Mercatcr's projection
(1) Rycifsma vroraRT : P RIGIEAREIR I ERE
(3) St gt (4) TRHEX YrorERH

62. The correct sequence of the given parts of electromagnetic spectrum in terms of their
wave length is

(1) Ultraviolet-visible-gaimma-infrared-radio

(2) Gamma-ultrvoilet -visible-infrared-radio

(3) Gamma-radio-infrared-ultraviolet-visible

(4) Visible-ultraviolet-Gamma-infrared-radio

T e @ "ot ¥ fieye gEe Wegn & R T R B A aghh ©
(1) sregratee — afEe — T — RS — A

(2) T — SregTdrree — AREd — RS — AT

(3) T — A — IR — IfegEree — v

(4) SRyt — sregritee — AT — $EHRS — ¥

63. Which of the following projection is suitable for diamond shaped countries?

(1) Mercator's projection (2) Mollweide's projection
(3) Bonne's projection (4) None of the above
FreT wEToT § W BE-ET ERT B TR arel < @ forg Suge €

(1) AR@eR Yroiae (2) HATES YroTaeT

(3) 9 GroTa , (4) TTH A By ALl

64. Match the list I with List II and choose the correct answer using the codes given
below the list;

List-1 List - II

A. Hypsometriccurve 1. Population age sex diagram
B. Hythergraphs ~ II. Spatial travel time diagram
C. Isochrones [1I. Elevation/depression ratio diagram
D. Pyramids IV. Climatic diagram
A B C D
1 I oIV
@ 1m v I 1
3 m v I I
(4) Iv. 11 I 1

" M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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65.

66.

67.

A BT G-I B R W e} AR G B AR RY T Bre B ST 9k T8 ST G ¢

-1 = - 11
A, Rumits &d [ S oy ot e
B. f&gyms 1. W ¢aa TgH 3IRd
C. osHEmHE II1. Cferaem / fSuee IRRT e
D. faufas V. Ferrghies R

A B C D
(M I 0 mv
2 m v 1 1
@) m IV I I
4) Iv 1 I 1

Which of the following pair is not properly matched?

(1) Rotameter-used for measuring dislances on maps

(2) Plainimeter - used for measuring areas on maps

(3) Pantography - used for reduction of maps

(4) Ediograph - used for measure volumes

e 4 1 B0 S weT A Wil ©

(1) Jerier — R R g4 99 & forg wanT fhar o @

(2) @R — T W & Y A B Ry e R o &
(3) TAUTH — TR B B B B oy yART B S

(4) s — snaas Wow @ v g fear S @

Which one of the following is not a zooplankton?

(1) Copepod (2) Flagellate

(3) Euphausid (4) Pleuston

fpg # § $I9 S[eriaed T8 8 ?

(1) ®Iuts (2) weiSTere

(3) gwifre - (4) wgweT

Epiflora and Epifauna are

(1) Pelagic species - (2) Benthic species
(3) Nekton species (4) None of the above

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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YfawreRT &R Ui @

(1) e efa - | (2) T iy
(3) W@ Sl (4) 38 | BIg TE

68. 'Baobab species is the only significant tree from Senegal to Tanzania'. This statement
refer to which of the following biome :

(1) Savana biome (2) Monsocn biome

(3) Tropical evergreen forest biome (4) None of the above

CICICIE R NI SR ] ﬁ"\ﬂﬁm qH YHAE ngcﬁw TS él wE o ffafes [y

A DI Hafid BT B

(1) a1 a8 (2) WA aam

3) ciftde Taxdfie BRI arim @) T e el
69. Match the List I( Grasslands) with List IT (Countries), |

List-1 List - 11

A. Pampas [.  South Africa

B. Pustaz II. New Zealand

C. Canterburry 1II. Hungary

D. Veld IV. Argentina

A B C D
1) 1 IV I I
@ I 1 I 1V
3) I 11 81 EAY
@ IV m I 1
-1 (Treeis) &1 Al (@) & el Al o

-1 = - 11
A. 9 I A3 AHIHI
B. gaa 1. =pfele
C. e I &
D. dJ%8 IV. s/reHT

A B C D
1) 1 Iv I 1

@2 I I I 1V
@G 1 I I v
@ IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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70.  Find out the odd among the following;

(1) Lianas : (2) Epiphytes
(3) Arboreal (4) Vines
= # Ry sma a

(1) fermma . (2) Ufwrse
(3) SR (4) =

71.  Which one of the following statement is not true ?
(i) India has two of the 25 hot spots in the world
(2) China has about 30% of its area under forest
(3) Saprophytes rely on dead animals and plants
(4) Lightening is one of the process of nitrogen fixation in soils
71§ A BH-A1 B ARG T § 7
(1) fazg # 25 gfc e § 4 9RdT 7 2|
(2) %@aﬁéﬁmwso%wﬂ%m%
(3) ¥RwIge ga ARl iR Nef wx R 7
(4) <rgefT Mg # AEge fhReE @ ufhar § s 2|

72. Match the list I (name of national parks/sanctuaries) with List IT (state) and choose
the correct answer using the codes given below the list;

List -1 List - I1

A. Keoladeo Ghana bird sanctuary 1. Assam

B. Jaldapara sanctuary II. Himachal Pradesh
C. Shikari devi sanctuary III. West Bengal

D. Manas wildlife sanctuary IV. Rajasthan

A B C D
1) IV Il I I
@ O I 1 1V
@ 0 1 IV II
4 1 I I 1V

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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@1 (i e /ded B Am) B Al @R B AR A WS g @

T B BT SUANT BB Tl SR G

g - 1 - 11
A. DR B 98 Haegd I |
B. SAURT gl : II. fEamae uew
C. R & dAegd I, I el
D. 99 dscsas® dae®l V. ISR

A B C D
1) IV I I 1
@ o o 1 1V
@ I 1 1Iv I
@ 1 1 I v
73. Which of the following sarellites provide global coverage with high resolution

(1) Geostationery satellites (2). Sun synchronous satellites
(3) Both (1) and (2) (4) None of the above
frfefad § & PH-1 SUTE I YoileqeE B w1 Af¥ad FARS FIH B E |
(1) Rrree dease (2) = Rispra
() (1) &R (2) < (4) T W oI e
74. LANDSAT, SPOT and IRS are examples of
(1) Geo-stationery : (2) Sun -synchronous
(3) Return Beam Vidicon (4) Radars
1) e 2) a=-RimEd
(3) Red 4 fafss™= (4) =R

75. Which of the following sensors are unaffected by atmoshpheric conditions and thus
they are able to penetrate smoke, clouds, haze and snow.

(1) Microwave sensors (2) Radio wave sensors

(3) Infrared sensors (4) Photographic sensors

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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e & 1 BiA-a SRR argHeaa Rofy & somifad wEar ® SR 39 U6R 9 ga, died,
g ok T ¥ waw PR H W g

(1) "EPT G (2) YR A TR
(3) FHRS TR (4) wreEfhE AR

76. What time is most suitabla for éeriai photography?
(1) 9.00 AM. to 12.00 A.M. (2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 AM. to 8.00 A.M. (4) 4.00 P.M. to 5.00 P.M.
RIS BRI & o S -a1 99 Ja SuYE ©
(1) 9.00 AM to 12.00 A.M. (2) 1.00 PM to 2.00 P.M.-
(3) 7.00 AM. to 8.00 A.M. (4) 4.00 P.M. to 5.00 P.M.

77. What is the range of wave lengths of visible and near infrared radiation spectral
region ?
(1) Wave band of 3-14um (2) Wave band of 5-100 pm
(3) Wave band of 5-50 pm (4) Wave band of 0.4-3 pm
fAfTge ol free gpRe WA Waed ASF & 99 A & a7 3 § 2
(1) 99 4€ of 3-14um (2) 99 ¥ of 5-100 um
(3) 99 ¥ of 5-50 um (4) 99 < of 0.4-3 pm

78. Which is not the right expianation of the term?
(1) Datum is the reference plane usually the mean sea level

(2) Ground nadir is the piumb point on the ground from the perspective centre of the
aircraft

(3) Both 1and 2 are true

(4) iis true 2 is wrong

B TH @ HEl IRAT el © ?

(1) Sed MR W IRId FHE WR &I YHd <1 ¢ |

(2) eE Aifex e & IRven o= ¥ T R <9 @5 |
(3) TMI 18R 298! &

(4) 1 w8 & 2 Tor ¥

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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79. Which is not the right explanation of the term?

(1) Antecedent boundaries existed even before the cultural elements like roads,
villages etc.

(2) Subsequent boundaries came after the cultural elements but it ignored the
cultural elements

(3) 1is true and 2 is wrong

(4) Both 1 and 2 are wrong

FH <H B HE R E E 7

() TPl et enfd SRy Wikepfe Tl & gget Hft Ead W AioE o |

(2) srgadt WM ARSfIE Tl B A I @ T wipiie al @ e F €|
(3) 198 8 3R 2 7Terd

(4) <11 &R 2 T B

80. Match the list I (name of scholars) with List II (name of the theory) and choose the
correct answer using the codes given below the list ;

List - I List - II
A. Mackinder L. Air power theory
B. Spykman II. Heartland theory
C. A.T.Mahan III. Rimland theory
D. Jones IV. Unified field theory
A B C D
() I m 1 1V
(2 o 1 1v 1
3 I v II II
(4) Iv I 1II I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P. T.O.
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81.

82.

A

- (et & =) & GA-I ((rema &1 9M) & 0 7 B &R g & 1 [y T
IS B IHANT DD Hel SR g '

-1 - 11
A. AHfdex I 9] R g
B. wIsEHHA 1. seds g
C. v wga Il Rudls

D. oA V. gfFwigs wies Rgra
A B c D

QO I m I IV
@ I I IV I
@G I IV I II
4 IV I II I

Who among the following is not associated with the idea of geopolitics ?

(1) Ratzel : (2) Aristotle
(3) Trewartha ' (4) - Kjellen
fr A & 3 Rrdifoftes o faar @ =8 Jer e ?

(1) Xeofe (2) I

(3) grarart oo (4) S
Which of the following is a landlocked state in South America continent ?
(1) Chile | (2) Bolivia
(3) Colombia (4) Peru

et 7 B Ay MReT FEE § o dfgs we ® ?
(1) Freh (2) dreffaan
(3) PreAfFa 4) U=

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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83.

34.

85.

Which country control the Suez canal ?

(1) Egypt (2) France

(3) Britain : (4) Consortium of countries
WS BT DT HIF-AT < TR e g ?

(1) sfore (2) W

3) faga .' . (4) < &1 WY

Who dictates the following?

Whoever rules east Europe, will rule heartland,
Whoever rules heartland, will rule the world island,
Whoever rules the world island, will rule the world.
(1) Spykman (2) Mahan
(3) Mackinder (4) Ratzel |

frF = B SISl <1 8 P

S @IS N WY FH R G B, Beds AR BT,
S BIE ) Breie W WA HRAT § ges g9 A YR BT,
S @IS A ges €19 F T wRan €, wg § e o

(1) wrEHHT ' (2) HgT

(3) Hepfepex (4) Yo

Who among the following have not proposed regionalization scheme of India
(1) Rao and Bhat (2) V.Nath

(3) S.P.Chatterjee (4) M.S. Swaminathan

g % O fre AR @ TSI W Bl uRanigd el fhar & 7

(1) 9 3R wg 2) &

(3) TH. . FTll (4) TH. TH. WHARRHA

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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86. Match the list 1 (name of scholars) with List Il (concepts/theory) and choose the
correct answer using the codes given below the list ;

List -1 List - II
A. Perroux . Growth Foci
B. Hirschman I1. backwash and Spread effects
C. Myrdal [II. Trickle down and polarization effects
D. R.P.Mishra IV. Growth pole theory

A B.C D
M omoI1v
2 m 1 1 1v
@) Iv O I 1
(4 Iv I I HI

G-I (Rgmt & W) & -1 @R/ Re=) @ 90 3d & R g@ @ 49 R W
PHIE B SUANT BRP Wal IR g

g -1 =l - 11
A. URTERT 1. T IR
B e - I Sdrer ok B ghac
C. fass 111 fRos s 3R dIeRISOeH IHhac
D. R . fism IV. Mr giet eary

A B C D
-1 m I IV
@ m I I IV
@) IV I I I
@ Iv 1m 1 I

87. Which of the following is not an example of resource/problem based area
programme ?

(1) The Drought Prone Area Programme -
(2) Tribal Development Agency Project
(3) The Command Area Development Programme

(4) The Hill Area Development Programme

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



fr § Q oY TR /gaeT o &5 erdmE o ST 98 8 7
(1) @1 avr &3 HrimHA

2) e fer okl doide

(3) Furs TRar RAsr Srimd

(4) TETS & R BRimT

88. Who among the following have Not worked on regional development of India?

(1) Hemlata Rao (2) Ashok Mitra
(3) V.SKale _ (4) V.Nath
frer o ¥ fpem wRa @ Qo Rera w® s 7€ B g ?
(1) B¥efT X (2) erene
(3) 9. va. FTe (4) 4. e

89. Which one among the following is Not a rural develepment programme in India?
(1) SFDA (2) DPAP
(3) NREP (4) ULBD
o F T wRa ¥ wrivr e Sriws e v v
(1) THo UHo Elo To (2) Slo dlo Yo Glo
(3) THo 3MRo So Ho (4) o Teto Hlo Lo

90. Which of the following multi-purpose river valley project in India was developed on
the lines of Tennessee valley project ?

(1) Sutlej river valley project (2) Tungbhadra river Valley project

(3) Damodar river valley project (4) Cavery river valley project

aRa F e Aedl-ude dore § ¥ fraer R S N diotae @1 e # ger o ?
(1) cert T4 defl dorae (2) ET L del Hiotae

(3) TR LT el WISt (4) I 7 el Hroiae

91. Temperature between 24 and 30 degree centigrade, rainfall above 200cm, well
drained deep fertile soils is ideally suited to which of the following crop :

(1) Tea (2) Wheat
(3) Sesame (4) Corn

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T. O.
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92.

93.

94.

A

24 3R 30 &l WEUs & & &1 auEH 200 WHo & FUX auf, T dRE TN IUSS
A aesl wu @ fFr=folRea o waa @ fog Suge = -

(1) = (2) 7%

(3) forer (4) @™
Which one of the following is not producer of Rubber ?
(1) Tripura | ‘ (2) Karnatka
(3) Bihar (4) Tamilnadu

o= ¥ BIF IR BT IATED A8l 8 7

(1) Prgzr (2) wicH

3) fEr (4) afverTg

What is the approximate chare of Agriculture in national GDP of India ?
(1) 15% (2) 20%

(3) 25% \ (4) 30%

IRA & T S DL 0L By a7 g R T §

(1) 15% : (2) 20%

(3) 25% (4) 30%

Mollasse and bagasse are the bio-product of
(1) Rubber industry | (2) Sugar industry
(3) Cotton textiles industry (4) Japrota oil industry

Ao IR I dRI-rsae & ¢

(1) YR S @ (2) YR FSF BT

(3) ®ied cHICEd SSET B (4) STYIST O ST Bl

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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95. Match the list I (name of crops) with list IT (scientific name) and choose the correct
answer using the codes given below the list ;

List -1 List - II
A. Rice [. Pennisetum Typhoides/glaucum
B. Barley II. Oryza sativa
C. Jowar III. Hordeum vulgare
D. Bajra IV. Sorghum vulgare
A B C D

Q@ I I I IV
2 I IV I I
@ I I IV I
@ I IV I II

A1 (G & A) B GE-I1 @5 | @ A A R R g @ e kA T 3l

T -1 [T - 11
A. T ae I URicH CISwhIasy / Tlen
B. i CIL 3IRISST AeTEd]
C. &R III. Ef&am qemiR
D. 9oRI IV. 999 gaR

A B C D
Q I o I IV
@ W IV I I
@ I I IV I
@ 1 IV I 1II

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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96. Which one of the following technique is most suitable to study spatial pattern of
settlements '

(1) Nearest neighbour analysis

(2) Z - test

(3) Factor analysis

(4) Residuals from regression

ferferRee ﬁﬁﬂﬂ-@ﬁﬁrﬁ?ﬁ@ﬁﬂﬁt%ﬁﬁﬂﬂﬁﬁ%%@ﬁﬂﬂﬂ%w%.
(1) fFradead w&R st

(2) ST

(3) SR SRR

(4) “oirsgard wiA Ruad

97. What is the range of correlation coefficient ?

(1) Infinite

(2) Oto1

(3) -1to+1

(4) None of the above

IR B Ufhl¥v< & w7 IF 8 ?
(1) eriIfa

2) 0% 1

(3) .18 +1

(4) 37 A DI e

98. The range of Nearest neighbour analysis (NNA) varies between 0-1-2.15? How 0 is
interpreted in the NNA?

(1) Absolute agglomeration/concentration
(2) Random distribution
(3) Even distribution

(4) Compact distribution

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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fypead Sav SR (TF. TH. ©) &1 %67 0-1-2.15% 99 €1 TA. U U d 0 &1 e

HY B ST 7 P

(1) TAIRE TAIRYA / ST

(2) Veu fediege
(3) wH fexdreger
(4) e e

99. Match the list I (name of scholars) with List II (methods/techniques) and choose the
correct answer using the codes given below the list ;

List -1
Ashok Mitra
King and Dacey
G.K. Zipf
M. G. Kendal
A B C D
(1) m 1 1Iv 1I
2 I v 1 1I
3 Iv 1 1III I
4 O I 1 IV

o ol

List-1II
[. Ranksize rule
II. Ternary diagram
III. Ranking method

IV. Nearest neighbour analysis

g Qe @ T B @ - @R/ deie) @ @ Aa W R gl @ A fd
BIS BT IGANT TS Al SR G

AT -1
. 3TN A
e iR S
ST @, RTam
TH. Ol ded
A B C D
(1) m 1 IV I
) I Iv 1 I
@) IVv 1 I II
(4 I o 1 1

g0 ® »

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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100. Consider the following statements;

Assertion (A): Ginni coefficient is a measure of inequality
Reason (R): Range of G varies between 0 and 1

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) Ais true butRis false

(4) A is false but R is true

et el o) R R

afmer (o) : fY B-ufsRice 39 saaferdy @1 W &

RO : (@1R) : o A ¥ 0R 1B &g @

(1) 31 qAT R I WET & AR AR 3 B WEl ARAT © |

(2) 31 TAT AR S e & IR AR I &I Fe! ARAT 78l &

(3) 31 W& & W] IR T

(4) ¥ T & W IR o

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



1. Match the List [ indices or term) with List IT (Symbols) ;

List -1 List-1I
A. Cyclomaticnumber 1. pu
B. Etaindex = I ®
C. Alpha index III. n
D. Node IV. o
A B D

1) I IV II I
@ I I I IV
@ I I I IV
@ 1 T IV I

-l Gfeaa sear eH) & G-l (Req) @ A PN -

- 1 - 11
A. TEIAHfeE w@Im L. i
B. ITI ss& I v
C. oTePhT SS I 7
D. e IV. a
A B € D

O I IV I II
@ O 1 0 Iv
@ I I I IV
4 1 I IV II

2. Which one of the following is not a transport connectivity measure?

(1) Koning number (2) Route index
(3) Piindex (4) Detours index
$TH ¥ DIF-9T TFRAUIE Beidefae! HoR T8l & ?

(1) ST T%R (2) wc ISHI

(3) TE T @) Ry R

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T.O.



3. Which one of the followirg is demersal fish variety/species?

(1) Salmon (2) Sardine
(3) Cod ' (4) Herring
9 A S Sade Hoel fw /ot o 8 ?
(1) e (2) wveTEd
(3) TS @) T
4. Arrange the following in descending order according to their size of population in
2015

(i) Bangladesh (ii) Japan (iii)Brazil (iv) Nigeria

(1) (iv)-(iii )-(ii )-(i) (2) (ii)-()-(iii)-(1v)

(3) (iii)-(1)-(iv)-(ii) (4) (iii)- (iv)-()-(ii)

2015 H STFRIRET & 3TBR & AR [RGB 3fRTE! A H TR o
(i) IR (ii) SU (iii) ST (iv) ArseiRar

(1) (iv)-(iii )-(ii )-() ' (2) (i1)-(i)-(iii)-(v)

(3) (1ii)-(1)-(iv)-(ii) (4) (iii)- (iv)-(3)-(ii)

5. Match the list I (name of books) with List II (Authors) and choose the correct answer
using the codes given belcw the list ;

List -1 List - II
A. The nature of geography I. D.Harvey
B. The urban questions II. P.Hagget
C. Social justice-and the city [II. R.Hartshorne

D. Locational analysis in geography:  IV. M.Castels
A B C D

(1) Iv.1 11 1II

(2) 11 1Iv 1 1I

3 I IO I Iv

(4) II I IV I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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AL (Gl & W) AL (el & Wy A Y R g @ TR Ry T e @
SUANT BB HEl SIR g -

- 1 - AT - 11
A. T TR 3 Ryt I o B9
B. < 3+ wiweE II. dlo &7e
C. dAre IRed vs g Ridh II. 3fRo BIEWH
D. dieee MaRg 9 R IV, THo owed
A B C D

(1) IVv.1 11 II
@ oI IV 1 II
@ I I 1 IV
4 II I 1Iv I
6. Consider the following statements;
Assertion (A): Losch's model is less restrictive than Christaller's

Reason (R): Losch treated each function as having a separate range, threshold and
hexagonal hinterland

Answer:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A istrue but R is false

(4) A isfalse but R is true

feraferRaa puql w fAar o -

AMBAT (&) : e BT AiSa fhveaR & gorr § 7 gfodfdd 2
SRU (HR) : AT 7 TS HaTH DI Th Nl o), YAEeS AR SRS femesers @
w9 H A B

(1) 31 T TR Tl FEI & 3R SR 37 &) HE AT © |

(2) 31 TAT AR Il Fel B IR AR A B FE ARAT H&f 2 |

(3) & W& T W= IR AT B |

(4) & TAT T URT] R HEl B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T.O.



7. Chain migration is based on;
(1) Job opportunities (2) Kinship
(3) Proximity to place of origin (4) Combination of 1 and 3
I AIGUYA RN & :
(1) ISR & IR W (2) FHFAT W
(3) Saft & I & Adcar w® (4) 13k 3 & FIAH W)
8. Which one of the following do not concerned with migration laws?
(1) Stouffer (2) Reilly
(3) Ravenstien (4) Thompson
T B A1 A Frml § Heftg =g 7 ?
(1) (2) el
(3) YgTREISA (4) aruR
9. Find out the odd term out of the following :
(1) Central business district (2) Loop
- (3) Centralization (4) Core
fr=faRaa § 9 R{yw wsg &1 udr &1
(1) s faorw feRgae (2) @
(3) WrgemgoIE (4) BR

10. C. Harris and E. Ullman have propounded theory of multiple nuclei which is b’lbOd
on 9 zones. Which zone occupy the heavy manufacturmg7

(1) 3rd zone (2) 4th zone
(3) 6th zone (4) 8th zone

Alo BR¥ 3R o I 7 9 WHT R MRy ggurh Mifie & Rigra &1 wfig fear 2 -
DIF-1 G aorn Ao & eiferT wvar g ?

(1) 3rd SH (2) 4th =
(3) 6th S (4) 8th 9

11. Temperature between 24 and 30 degree centigrade, rainfall above 200cm, well
drained deep fertile soils is ideally suited to which of the following crop :

(1) Tea (2) Wheat
(3) Sesame (4) Corn

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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24 3R 30 f&uft AR & g &1 qgHE 200 o B FWR 9], ) dRE TR SIS
Y amest wu 3 FrafoRed e woe @ g sugea @

(1) = _ (2) 1§
3) fore (4) @

12. Which one of the following is not producer of Rubber ?
(1) Tripura (2). Karnatka
(3) Bihar (4) Tamilnadu

fre § PN TR T SEE T8 E 2

(1) FBrgwr (2) TS
(3) fasrm (4) e
13. What is the approximate share of Agriculture in national GDP of India ?
(1) 15% , (2) 20% |
3) 25% (4) 30%
WRA B A ST L G H B BT gt ) war & ?
(1) 15% (2) 20%
(3) 25% (4) 30%

14. Mollasse and bagasse are the bio-product of

(1) Rubber inﬁustry (2) Sugar industry

(3) Cotton textiles industry | (4) Japrota oil industry
A SR S qrEa-eE B

(1) R S &I (2) TR SSHET BT

(3) BieT CHATRS TSR AT (4) SIWET TS TS BT

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T.0.
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15. Match the list I (name of crops) with list II (scientific name) and choose the correct
answer using the codes given below the list;

List-1I List - IT
A. Rice [.  Pennisetum Typhoides/glaucum
B. Barley II. Oryza sativa
C. Jowar III. Hordeum vulgare
D. Bajra IV. Sorghum vulgare

A B C D
M I m I v
@ N IV I 1II
@) I I IV I
4 I IV I II

A1 (Bt & A1) B -1 (@0 9W) & W A Y AR gl B A RY W pre
BT SHANT PP TE IR g

T - 1 - 11
A. =FEad I UHRICH TRwESY /Teidd
B. Wi II. 3fRTSSIT Fersdr
C. &R 1. 2w gamR
D. I -~ IV, 9R¥H gaR

A B C D
1M I o I v
@ m IV I I
@ I I IV I
@ I IV 1 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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16. Which one of the followi ing technique is most suitable to study spatial pattern of
settlements

(1) Nearest neighbour analysis

(2) Z-test

(3) Factor analysis

(4) Residuals from regression

ffoiRaa # & S9-0 daie Ao %WW%W%WWW%
(1) Frpead Aar srfaRee

(2) Ts-TE

(3) waeR IR

(4) Yeiregere wid Rasa

17. What is the range of correiation coefficient ?

(1) Infinite

(2) Oto1

(3) -1to+1

(4) None ﬁf the above

HIRATH BT BRI @ a1 391 8 ?
(1) r=ffAa

(2 09 1

(3) -1 +1

(4) T | BIE T

18. The range of Nearest neighbour analysis (NNA) varies between 0-1-2.15? How 0 is
interpreted in the NNA?

(1) Absolute agglomeration/concentration
(2) Random distribution .
(3) Even distribution

(4) Compact distribution

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.3. 0
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B
fehedd HeR IFITIRIT (T, TF. T) & 357 0-1-2.15a dg €| U9, U9, U & 0 & e
I B ST B P

(1) veHIege AR / HTiger
(2) Yoo feeiieqe

) wA feediegam
(4) srTe oo

Match the list I (name of scholars) with List IT (methods/techniques) and choose the

correct answer using the codes given below the list ;

List -1 List - II
A. Ashok Mitra [.  Rank size rule
B. King and Dacey II. Ternary diagram
C. GK. Zipf III. Ranking method
D. M. G. Kendal [V. Nearest neighbour analysis

A B C D
(1) M I IV I
2 I IV I I
@ IV I I 1
4 1 I I 1V

Tﬁ’rlW@W)ﬁ?ﬁﬁdl(ﬁf@l/ﬁ%ﬁ?ﬁ)%%ﬂﬂﬁﬁ??ﬁﬁ%%ﬁ@
BIS BT ITANT FRB He) SR G

= - 1 L - 11
A. oeNd =T 1. Y& a9y o
B. f&w 3k S [1. e ARG
C. <N 3. R 1. e Ry
D. UH. Wl dsd 1V. awean AR uafalRe

A B C D
1 I I IV I
@ I IVv 1 1
@ IV I I I
4 M oI 1 IV

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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20. Consider the following statements;
Assertion (A): Ginni coefficient is a measure of inequality
Reason (R): Range of G varies between 0 and 1
(1) Both A and R are true and R is the correct explanation of A |
(2) Both A and R are true but R is not the correct explanation of A
(3) A istruebutR is false
(4) A is false but R is true
= wuEl R faar e
e (31) : Y dI-Ufbiige 377 saarferd &1 /i @
BRI (@FR) : S BT I 03k 1 & dra &
(1) 1 TAT 3R T &I & 3R AR 3 P e ARAT B |
(2) 3 TAT IR Al Fe! & U MR 31 B ALl ARAT &l 8
(3) 31 WEl ® U IR Tea &
(4) 31 7oA B URT IR WE B

21. Which one of the following statement is not true ?
(1) India has two of the 25 hot spots in the world
(2) China has about 30% of its area under forest
(3) Saprophytes rely on dead animals and plants
(4) Lightening is one of the process of nitrogen fixation in soils

o # ?ff BIF-A] BT GG 781 § ?

(1) faea # 25 8fc We # 9 Q7T ¥R H 2|

(2) AF B AUT &F BT TATHT 30% SITA B 3N 2|

(3) VRBIST Ja SHaR! IR ol . iR 2|

(4) egefT g # g fhavtes & ufthar ¥ 9 @ 2|

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P10
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22, Match the list I (name' of national parks/sanctuaries) with List IT (state) and choose
the correct answer using the codes given below the list;

List - I List - II
A. Keoladeo Ghana bird sanctuary 1.  Assam

B. Jaldapara sanctuary II. Himachal Pradesh
C. Shikari devi sanctuary III. West Bergal
D. Manas wildlife sanctuary IV. Rajasthan

A B C D
QM IV II H I
@ o I 1 IV
@G I 1 IV II
@ 1 I mw

A1 (T SerE /gl @ ) 31 -l (Rw) @ e e R iR gl @ AR R
T BrS BT STAN ISP FEl TR YA -

-1 - 11
A. DIARE I 98 e I M
B. SIeTaiaRT Haregey 1. Rame ydw
C. Rrard 4 Jaegd 1. 4% Tl
D. 919 dIgesas® AgeR) IV. TSR

A B C D
1) IV I I I
@ I oI 1 1V
@G I I 1V II
@ 1 I T 1V

23. Which of the following satellites provide global coverage with high resolution

(1) Geostationery satellites (2) Sun synchronous satellites

(3) Both (1) and (2) (4) None of the above

fr=fomaa & & SF-91 IuuE Swa YoilegyE @ A IReF FRY I bR § |
(1) R dearse 2) w9 Rimpra

(2) (1) 3R (2) < (4) 39 & 218

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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25.

26.

27.

11
LANDSAT, SPOT and IRS are examples of

(1) Geo-stationery (2) Sun -synchronous
(3) Return Beam Vidicon (4) Radars

(1) R (2) A-Risp=a

(3) Red dm Rfsem (4) TSR

Which of the following sensors are unaffected by atmoshpheric conditions and thus
they are able to penetrate smoke, clouds, haze and snow.

(1) Microwave sensors - (2) Radio wave sensors
(3) Infrared sensors (4) Photographic sensors

ﬁmﬁﬁaﬁmwwmﬁaﬁfﬁwmﬁﬂwm%aﬁ?wmﬁgm qred,
ge 3R 9% § U HA H GEH B |

(1) AEPIT HR (2) Fe @ A=K

(3) RS V=R (4) BERNh®s =R
What time is most suitable for aerial photography?

.(1) 9.00 A.M. to 12.00 A.M. (2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 A.M. to 8.00 A.M. (4) 4.00 P.M. to 5.00 P.M.
RIS BIERTH! & Ay HI-AT G99 a9 ST ©

(1) 9.00 AM to 12.00 A.M. (2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 AM. to 8.00 A.M. (4) 4.00 P.M. to 5.00 P.M.

What is the range of wave lengths of visible and near infrared radiation spectral
region ?

(1) Wave band of 3-14pum (2) Wave band of 5-100 pm
(3) Wavé band of 5-50 pm (4) Wave band of 0.4-3 um
(1) 99 &S of 3-14um (2) 9a % of 5-100 um
(3) 99 §% of 5-50 um | (4) 99 §Sof 0.4-3 pm

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) ' P.T.0.
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28.

29,

Which is not the right explanation of the term?
(1) Datum is the reference plane usually the mean sea level

(2) Ground nadir is the plumb point on the ground from the perspective centre of the
aircraft

(3) Both 1and 2 are true

(4) 1is true 2 is wrong

DI TH B S ARAT 8] & ?

(1) Sed emaR R RAT T WR BT I @ 8|

(2) USE TR E & uRYey B I 9 R <9 @TEe § |
(3) THI 13k 29& ®

(4) 198 82 99T ©

Which is not the right explanation of the term?

(1) Antecedent boundaries existed even before the cultural elements like roads,
villages etc.

(2) Subsequent boundaries came after the cultural elements but it ignored the
cultural elements

(3) 1is true and 2 is wrong

(4) Both 1 and 2 are wrong

B TH P T ArEn a6 E ?

(1) we!, Tt onfx SR wivpRe awt § Tget N qdadt WA Hgg off |

(2) Srgacl WA Wiveplae q@l & 919 IME AfhT I8 AiRpiae adl B FFeEl Al B |
(3) 198 8 3R 27Tefd ©

(4) SF1 1 R 2 Tad B

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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30. Match the list I (name of scholars) with List IT (nare of the theory) and choose the
correct answer using the codes given below the list ;

List -1 List - II
A. Mackinder I. Air power theory
B. Spykman [I. Heartland theory
C. A.T.Mahan III. Rimland fheory
D. Jones IV. Unified field theory
A B C D
(H I o 1 1Iv
2 m 1 1Iv 1
3 I Iv 1II I
4 IV I II I

-1 (R & W) @ A1 (e & 99) @ 91 Ad & SR gl B e A W
PIS BT IYANT PR Fel IR G

- 1 - 11
A. F@fhex I 9r] graR Rygr
B. WISHHA II. geas Rigra
C. v dLwma I Rl |

D. 99 V. gfoEs wies Rigr
A B C D

M I m I IV
@ o I IV II
@G I IV II I
4 Iv I II I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) _ P.T.O.
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31. Match the list I (Pass) with list II (State) and choose the correct answer using the codes
given below the list ;

List-1 List - II
A. Shipki la I.  Arunachal Pradesh
B. Niti pass II. Himachal Pradesh
C. Nathula T Uttrakhand
D. Bomdila IV. Sikkim

A B C D
(1) T m IV I
2 I m 1 1v
@) IV II I 1I

@ IV II I I

-1 (IT) B G-I (Q9) & |1 TA B (IR G B A RA W Bl BT STIRT WD

e IR G
A -1 . T - 11
A. Ry o I SourEd uow
B. #ifd uma 1. fRam=a g
C. Ay e 1. STRIEs
D. Y ar v, Ref

A B C D
() 0 I IV I
@ I 1 I IV
@ IV 1 I 1I

4 Iv I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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32. Match the list I (name of Rivers) with List IT (Their tributaries) and choose the correct
answer using the codes given below the list ; :

List - I List - II
A. Krishna I. Chambal
B. Brahamaputra II. Indravati
C. Godavari III. Tista
D. Yamuna IV. Bhima

A B C D
M Iv I 1 I
@ M IV I I
@Gy IVv I 1 T
4 I IV Il I
gjz?r-l(ﬂﬁa‘ia%:rm)ﬁ@fﬁ-ﬂ(@ﬂﬂﬁ@iﬁﬂﬁﬁ)%wﬁaaﬁaﬁqwﬁa%%ﬁﬁ
T PrS BT SYANT TS FEl TN g

-1 - 11
A. HOT I T
B. SEIgaT 1L gETEd
C. e 11 fore
D. gg IV. A

A B C D
1 Iv I 1 I
@ M IV I 1
@G IV I I 1
@ I IV I I

33. Match the list I (type of climate) with List II (region) and choose the correct answer
using the codes given below the list ;

List-1 List-1I
Aw - 1. Rain shadow zone of Karnatka
Amw II. Thar desert

BShw III. West Bengal and Bihar
BWhw IV. Malabar coast

A B C D

(1) m v 1 1

2 m 1 IV I

@) o I IV I

4 I v 1 II

00w

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T.O.
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qﬁ[-l(aamgao‘rw)aﬁqﬁ-ﬂ(&ﬁ)a%welﬁaaﬁsﬁ??ﬁa%%ﬁ'&wmm
SUANT PRD HE SR G

=T - 1 T - 11
A. T S&g L &ed &1 3 e 9
B. T UH Sy L oOR PRE

C. &L Ud Ta s il 3% 9777 @ik fErR
D. dI. S, T3 S V. HIGER BRE
A B C D
(1) I v 1 11
2 M I IV I
@3 I 1 1v II
4 I v I 1

34. Main reserve of Chromite in India are distributed in :

(1) Bihar (2) Orissa

(3) Gujarat (4) Rajasthan
IRA # BHET B e Rord fAala &

(1) feerR # (2) anfewm 3
(3) TormT # ‘ (4) RToTRAT H

35. Which of the following wood is obtained in the dry region of India, particularly
Karnatka, Andhrapradesh and Tamilnadu?

(1) Ebony (2) Sandalwood
(3) Sal (4) Mahua

%ﬁ%ﬁﬁﬁﬁ-@ﬁ@%%@ﬁﬁwﬁmﬁ,gﬁaﬁ:m,aﬁa
uee SR Aferg § ?

(1) z9r= (2) =gH

(3) wrer (4) wgan

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography) (SET-Y)/(B)
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36. Match the list I (Tribes) with List II (states) and chcose the correct answer using the
codes given below the list ;

List-1 . List - 11
Santhals [. Rajasthan
Mikirs II. Andaman and Nicobar

Jarawas II. Jharkhand

o 0w p

Bhils IV. Assam
A B c B
1) Iv m I 1
@ U IV I
@ 1 IO m v

4 0 I I IV

1 (o) 1 TR () B e e ¥ iR vl B A R T e @ 9w

D T G -
T -1 - 11
A. GHrId . XS

B. fafex II. afen 3R FeErR

C. SRdr IIII. IRES

D. o IV. maE
A B C D

1) IV I I I

@ W IV I I

@ 1 I I IV

@ I I 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T. O.
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37.

38.

39.

40.

Which of the following are stationary waves?

(1) Swell (2) Surf

(3) Sea | (4) Seiches

fre=foaRea # & - Ryd q@ @ 7

1) W (2) 9%

(3) (4) e

At each place in sea or ocean tide occurs every day after

(1) 12 hours 20 minutes (2) 12 hours 22 minutes
(3) 12 hours 24 minutes (4) 12 hours 26 minutes
L G TEIR 4§ Ydd T8 W €8s & 27 86 &

(1) 12 &2 20 fi=e (2) 12%2 22 fiFe

(3) 126c 24 fame (4) 1292 26 fame

The process of soil formation is referred as

(1) Orogenesis (2) Pedogenesis

(3) Orthogenesis (4) Cosmogenesis

R & o A wbar B sraffa R S @

(1) SIRISHR (2) USreHRME

(3) smeroRm (4) BrEERHR™

Which of the following stage occurs when 50% of the total voids and pore spaces are
filled and the remaining 50% is occupied by air :

(1) Field capacity stage (2) wilting stage
(3) Saturated stage - (4) Unsaturated stage

ﬁmawﬁﬁﬁ'aﬂq—mm%mwamaﬁ?uﬁ?waﬂm%ﬂ?wﬁ%‘:ﬂm@m
50% &4T ¥ WX W0 8 ?

(1) wies FIRTE = (2) fafeeT Rw
(3) dgRTs W | (4) IFITRES Wl

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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43.

41.

42.

19
Rocks having vertical strata are easily loosened and broken down due to the process
of

(1) Oxidation (2) Bio-chemical weathering

(3) Temperature changes (4) Chelatian

s TRelt aTeh e amarh | el € W € ok g S 8, 3w ufhar @ HRvT
(1) Sifeiree (2) a-fidme I

(3) oA # gRedH (4) feree=

Which of the following dunes are formed by ineffective winds along the coasts and
margins of deserts?

(1) longitudinal dunes (2) Transverse dunes
(3) Barkhan dunes (4) Parabolic dunes

W@ﬁﬁﬁﬁmwm%ﬁﬁﬁwﬁ@mﬁhﬁwuﬁaﬁmwmﬁ
gqTel B BROT BT B 7

(1) At s (2) TR $g

(3) s&E™ g« @) WREifas s

Match the list T (The end product of normal or fluvial cycle of erosion) with List II
(Geomorphologists) and choose the correct answer using the codes given below the
list ;

List -1 List - IT
A. Peneplain I. A.C.Lawson
B. Pediplain 1. LC.King
C. Panplain I1I. C.H. Crickmay
D. Panfan IV. W.M. Davis
A B C D

1) Iv I I I
@ 1 1 I 1V
3 M I U IV

(3)
@ IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) . P.T.O.
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AL @R & W AT S g @ sifw SEIE) B GA-1I (Rrammeiafine) &
mﬁﬁaﬁaﬂ??ﬁﬁ?ﬁ#ﬁ%ﬁ@mwwmmﬁw@:

T -1 T - 11
A. U L w3 ke
B. ufSwm I & < e
C. U IIL. 4. va. fren
D. 9o IV. 3= w9 Sfag

A B C D
(1) IV II 1 I
2 I I I 1v
@ m 1 I 1v
4 IV I 1 1

44. Match the list I with List II and choose the ¢

orrect answer using the codes given
below the list ;

List - I List - IT
A. Medial moraines L. The material dropped at the end of a valley glacier
B. Ground moraines  II. The material dropped at either side of a glacier
C. Lateral moraines IIl. Deposition of glacial till along the internal margins

of two glaciers at their confluence

D. Terminal moraines IV. Deposition of glacial till at the floor of a valley
A B € D

1 I I m v
2 I I IV I
@) IV Il I 1
4 I IV I I

qﬁﬂaﬁqﬂﬂ%wﬁaﬁﬁwqﬁ%ﬁﬁﬁﬁﬂﬁmmwmﬂﬁwgﬁ:

-1 T - 11
A. HfSTer are L Iel =iReR & ofg % RIS = |
B. US<s ARA 0. <RRR & H = ARE T |
C. olexa 9RA IIL 399 W R <7 @RRRE @ aiaRe WA @ e
TORRR @1 feuirem
D. <fiva are IV. T el & ae7 oR TARRR &1 Reuifrer
A B C D

M I I Im Iv
@ I I IV I
@) IV Il 1 I
@ I IV I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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45. Match the list I (Metamorphic rocks) with List II (Original rocks) and choose the

46.

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B)

correct answer using the codes given below the list;

List-1 List - II
A. Gneiss [. Sandstone
B. Marble II. Shale
C. Quartzite III. Granite
D. Slate IV. Limestone
A B C D
() o 1 v I
) Iv 11 1 1
(3) m v I I

)
@ 1 I m IV

qﬁ-l(ﬁamﬁ%asmaﬁq@-u@wﬁzﬁ)zﬁmﬁmﬁgﬁ—qqﬁzﬁ:ﬁaaﬁnﬁ'
FIE BT IUAN IS TE STR G

T -1 - g-n

A, ™ I HeweH™

B. ¥dd L 9

C. T@euge 111 3ATEE

D. W IV. ST ‘

A B C D

M I I IV
| @ Iv I I I

@ m v 1 1

4 1 I o IV

The earth is rotating on its axis is established by the fact that
(1) The moon and stars move in the sky

(2) The earth experiences day and night

(3) The planetary winds are blowing

(4) The time in different parts of the earth is not same

P.T.O.
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47.

48.

aﬁaﬁgﬁwwv@r%wwawﬁvmﬁag@m;
(1) = 3R AR TR # gy

(2) gt o 3R < &7 argwg e

(3) wiHed gaw Sedl

(4) gt & fafr=7 ol & o | & 2

The gradient of highly meandering river is ranges between
(1) 20cm to 10 m per km
(2) 20 cm to 15 m per km
(3) 20 cm to 20 m per km

- (4) 20 cm to 25 m per km

IS FAEER T B o1 T @ @rg et 2
(1) 20 W40 ¥ 10 Mo ufy. fafto
(2) 20 W0 ¥ 15 o yfy feito
(3) 20 ¥Ho J 20 Ho yfy fFeito
(4) 20 ¥ | 25 Mo ufy fFHo

Consider the following statements and select the correct answer from the code given
below;

Assertion (A): Fjords are the features produced by glacial erosion

Reason (R): Glaciers descending from coastal mountains may reach the sea and
continue their erosion on sea floor

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) Ais true but R is false

(4) Ais false but R is true
ﬁﬁ%ﬁé{ﬁﬁﬁﬁﬁﬁ?ﬁaﬁ?%ﬁﬁ@mﬁs@wgm IR T
AP (o) : B TARRR a1 gaR Sl fgwaRy #|
W(m):ﬁu%@ﬁm%aﬁ@%mmqﬁamﬁsﬂquw
T &R TR TG G B | -

(1) o1 T2 3R S W & 3R IR 31 o w wrey )

(2) o TR AR T WA B W AR o @ W wra w6 L

(3) 31 W& ¥ W] AR T ¥ |

(4) 31 TeTd & WRN] IR WE 2|

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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50.

51.

52.

53.

Which of the following layer reflect very high frequency radio waves ?

(1) Elayer (2) Flayer

(3) Sporadic E layer _ (4) Glayer

fre A A B IR 9gd S gRT A et @1 wfafdfad s € 7
(1) g oxd _ (2) TH wRe

(3) WRfS® § WRd (4) SN 94

Aurora Borealis is produced in:

(1) Ionosphere (2) Exosphere

(3) Mesosphere (4) Stratosphere

3iRRT AiRefRT 37 S BT €

(1) e (2) TEARER

(3) ArAR®HIR | (4) TTRBER

Strassendorf pattern of settlement is associated with which of the following
settlement?

(1) Compact settlement (2) Dispersed settlement

(3) Linear settlement (4) Ring pattern

Heeite @1 Boed Yo Prefalad ¥ e dooric & @ I g E 7
(1) Frdee HeaHe 2) fudwe deaie

(3) R Jeere (4) R ted

Which of the province of Canada is most densely populated?

(1) Ontario (2) Nunavat

(3) Alberta (4) Manitoba

FTST BT PIF-AT Ui G T SATETE ATl 8 ?

(1) aferRar (2) TATEE

(3) 3rerEet (4) #ferE

Consider the following statements;

Assertion (A): The plain areas having fertile soils and suitable climate for the

cultivation of crops are the regions of high density of population

Reason (R): There is an inverse relationship between the arable land and

concentration of population

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but Ris false

(4) A is false but Ris true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)

P.T.O.
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fFrefalRed ot w R o
Wm(&):mﬁaﬁ@ﬁ%ﬁmmfﬁr@aﬁvmwa@mwm
I B I T D &F & |
PRI : (AR) : BT A iR o) & FAdeor & 9 v Aol e 2|
(1) o1 TAT IR TF1 T8 2 3R 3R o & 9& @y
(2) aawwﬁﬁ%mwaaﬁwﬁmﬁ%‘l
(3) ¥ WE ? W IR e B |
(4) ¥ T € R AR WL B |

94. Consider the following statements;

Assertion (A): Indigenous people are strikingly different and diverse in their culture,
religion and social and economic organizations

Reason (R): the indigenous people are termed as Fourth world

(1) Both a and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct éxplanation of A
(3) Ais true but R is false

(4) Ais false but R is true

fer=iferRae el T fRar @ - .

AABAT (3) : TR AT S A, et ol Wi @ik i wrent F B arert
3R fafaw €

DR : (BTR) @ wa<ell il B el g war o |

(1) 1 TT AR SH1 VL & 3R IR o7 ) 9 Iy £

(2) & AT AR ] AL B WY AR o B FE) @Ry 7L L

(3) & Wl T R AR AT & |

(4) & e B TR SR WEl B |

55. Consider the following statements;

Assertion (A): Pastoralism among the Masai is strongly linked with culture

Reason (R): Cattle are kept not because they can be sold or consumed, but because
they can be immolated in religious rites and magical ceremonies

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(38) A s true but R is false '

(4) A is false but Ris true

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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fyefeRad ool ) fAaR o -

Sfrwer (@) : AarE $ drg uriEdTs g @ Wi A Jel g9 €|

W(&m):nﬁﬁm‘iaﬁwm%sﬂﬁwﬁ%ﬁéﬁwwm%munmwm
%,mw%q%ﬁmﬁm%wﬁa@émﬁﬁaﬁh%&wamﬁ%l

(1) aammaﬁﬁm‘é‘r%aﬁ?maaﬁﬂﬁmél
(2) 31 AT AR I GE § UG MR I B W AT © |
(3) o e B U] AR T B |
(4) 3 ol § R AR WEI B |

56. Match the list I (Races) with List II (Sub races) and choose the correct answer using
the codes given below the list;

List -1 List - II
A. Caucasoid I. American indians
B. Negroid _ II. Alpine
C. Mongoloid III. Melanesians
A B C
1y 1T 1 1
@ I I I
3 mr m I
4) I I I
A1 () P T (@) B e e AR ok B A R T B B Sw v
TqE W G
il - 1 - il - 11
A. DHNTS . omRe gfead
B. fumrs I 3refarg_
C. AFNCITS ML AR
A B C
(1) T 11 IO
@ I I I
S@ m oI
@4 1 I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.'F.O,
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57. Match the list I (name of estate farms) with List II (regions) and choose the correct

answer using the codes given below the list;

List - I List - II
A. Latifundia I Europe
B. Ranches [I. Anglo America
C. Fazenda {I. Latin America
D. Plantation IV. Asia
A B C D

1) I I IV I
@ I I IV I
@)1 I I IV
@ IV I I I

'ﬂjﬂ(mf%fw#mw)fﬁh{uﬁ-n(a%a)a%mﬁaﬁaﬁ?qnﬁa%%ﬁﬁ@maﬂ

SUGNT P& FE TR G -

- 1 =T - 11
A, REwAsTr L R
B. Y= 1. Urel siRe
C. whower 1. <ifeq smRaer
D. wr=eH V. Tmn

A B C D

1) I W IV I
@ I I IV I
G 1 I 1 Iv
@ IV I I I

58.  Which of the following is the port of five seas ?

(1) Murmaansk (2) St. Peterbersk
(3) Moscow (4) Valadivostoc
4 X1 DI Ufa AHRT BT G849 § ?

(1) T (2) WevEs

(3) Hiwbl (4) deiSEReT®

M.Phil./Ph.DJ’URS-EE-NOV.-2018/(Geography) (SET-Y)/(B)



59. Which of the following is not a Chinese minority community?

(1) Huis (2) Uighurs
(3) Chins (4) Manchus
= @ B A seEa qYeT El  ?

(1) g39 (2) SER

(3) (4) HT=d

27

60. Match the list I (Shifting cultivation) with List Il (Region) and choose the correct

answer using the codes given below the list ;

List-1 List - II

A. Milpa I. Indonesia

B. Ladang II. Brazil

C. Ray III. Vietnam

D. Roka IV. Central America and Mexico
A B C D

1M 1 1 I IV
2 IV I 1 1
@ I I IV I
@ II Iv 1 I

ﬂﬁ-l(f%rﬁé‘ffzﬁf’o‘aﬂw)ﬁqﬁ-ll(ﬁ)%waﬁaﬁﬁ@ﬁ%%ﬁ@mm

IYANT PR HE TR G

-1 T - 11

A. e . SemRmn

B. o= II. st

C. X 111 faga=m

D. A&l V. S=d amRaer 3R Afeaa!
A B C D

Q1 M I v
@ IV I I I
@) I I IV I
@ I IV 1 I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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61. Sub polar low pressure belts are located between
(1) 50°-55° latitudes N-S hemisphere
(2) 60° - 65° latitude N-S hemisphere
(3) 30°-45° latitude N-S hemisphere

(4) 45°-55° latitude N-S hemisphere

SY YA HH Tq/9 Jee 3h 4y Rerg #
(1) 50°-55° Afeegs N-S #iRwIR
(2) 60°-65° wifeTys N-S ediRema”
(3) 30°-45° difeeys N-S eiR%R
(4) 45°-55° Afeeye N-S 2fifRkpaR

62. Match the list I (winds) with List II (countries) and choose the correct answer using
the codes given below the list ;

List - I List - IT
A. Sirocco I.  Spain
B. Salano II. Libya
C. Khamsin [II. Sahara
D. Gibli ' IV. Egypt

A B C D
1) I I IV I
@ I I [ 1v
@ IV I 1 I
4 0 m 1 1V

M.Phil/Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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A1 (8ard) BT -1 (ﬁ)%waﬁﬂaﬁaﬂ?qﬁ?ﬁ%%ﬁﬂﬁmmww

FE IR G

T - 1 T - 11
A. e I 4
B. W& 1. fofean
C. @R 1. wERT
D. fireh V. ST

o um I v

63. Consider the following statements;
Assertion (A): Fogs are more widespread over oceans
Reason (R): The oceanic fogs are generally advectional in nature
(1) Both A and R are true and R is the correct explanation of A -
(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue butRis false
(4) Ais false but Ris true
frforRaT @l W faeR Y

e (31) : FERTR] W B AS A9 § |

PR (3TR)  TETR S BN A O W FH H fhareis & 2 |
(1) 3T T IR S} WEY MR AR 3 &) HE ARAT & |

(2) 3 TAT R ST TE WY IR A B A AT T ¢ |

(3) & W ¥ W AR A &

(4) & oI & UR] AR W B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T. O.
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64. Consider the following statements;
Assertion (A): Anticyclones are systems of high pressure surrounded by low pressure

Reason (R): A cyclone is low pressure system of isobars with lowest pressure at the
centre and pressure increasing in all the radial directions

(1) Bothaand R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A s true but R is false

(4) A is false but R is true

fFrfefad et w fRar &

AfABeT (&) : CETETATH B guE | R Sea qamg g 95 2

BRU (R) © U aghdla JTAGR &) BH qarg are oF & gl o § way B9 <9
BT & 3 il et fRenelt ¥ 4ara wear €

(1) 37 9T IR JF] WEY 8 3R 3R of o T = &

(2) o QU1 AR T HE & YR IR 31 B FE AR T
(3) & W& ¥ W AN Mo ¥

(4) 31 TeTd € URT] IR e B |

65. Match the list I (ocean currents) with List II (coasts) and choose the correct answer
using the codes given below the list ;

List - I List - IT
A. Florida I.  Spain and Azores

B. Gulfstream II. West coast of south Africa
C. Canary III. South-east USA
D. Beneguela IV. Grand Banks of Newfoundland
A B C D
(1) I v 1 1
) I I I IV
@G m m 1 IV
(4) IV 1II 1 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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@1 (T o) B AL (@) B W Ae B AR GA B A Ry 72 are @ T
BRD Hol IR 3%{ :

A - 1 A - 11
A. TEAIRST L = 3R aRd
B. Tew M IL 4% B it WS ST
C. 1 . 9su-8% g, . T
D. dfeeer V. e & 3ifs Ywess
A B C D
M m Iv 1 1
@ 1 1 I v
@ I I 1 IV
4 IV I I I

66. Which of the following is an area of steep slope extending just after the continental

self ? ‘

(1) Continental slope (2) Ocean deep

(3) Sea plain (4) Oceanic ridges

T Q B FifcTed U B A% AR € aren Wi A B e § 7
(1) Bifedca T (2) 3feE S

(@) @ @ (4) s Rew

67. Which of the following statement is false?
(1) Salinity controls evaporation
(2) On an average ocean surface water temperature is 26.7 degree centigrade
(3) The average salinity in the seas and oceans is 35%
(4) Red sea has high temperature in the south due to high evaporation
FrfoRad § & BH-A1 HAF Terd © 7
(1) wraorar qredfieaRer 67 R HRar 2 |
(2) e R @ WAl wieel o A 26.7 Rt e B €
(3) Fal 3R AEETRT # S oqorr 35% < |
(4) Sg arefieReT & HROT SR #§ Y W F 9w Ao g |

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T. 0.
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68. Which of the following statement is true?
(1) Kimbal has classified the oceans according to salinity
(2) Dead sea is the most saline water body on earth

(3) The maximum salinity in the southern part of the Indian Ocean is found in west -
of Australia due to dry conditions

(4) 80% of the'water in the oceans has a temperature permanently below 55 degree F

FriferRRad # | SIv-ar v wE & ?
(1) fmer 9 <@EoRT & AR FENERE &7 ifexor fFar 2|
(2) g R S A I P Taor arel Sl AT |

(3) = #EFrR & =ferf &= ¥ waitts waver 7= aRRufEl & sro saforr &
gf¥eH # grfl ol ®

(4) W%SO%WWW%W?@%W@W%@W%I

69. The period of nearest distance between moon and the earth is called

(1) Apogee (2) Perigee

(3) Perigean ; (4) None of the above
HeHT 3R gl & 9 rwead g &) sl @) wer o

(1) warsh (2) ufsht

(3) aRfra= (4) 378 A BIg T8I

70. Consider the following statements;
Assertion (A): Neap tides rise to a lesser height than spring tides
Reason (R): Neap tides occur on full moon

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Ais true but R is false

(4) A is false but Ris true

FrfeiRad weml ) e @ ¢

B (@) - R Trgs &1 o # 9 <z bW U a9 ded) o |
PR (@R) : T TES gRfH wR B E

(1) & 9T 3R SF1 Tl & 3R IR 37 B WE AT 8 |

(2) & A AR TEI WE B IR MR 37 B AE AT T § |

(3) ¥ WE & TRy IR T B |

(4) o1 TG § YRR IR e B |
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International map projection is a modified
(1) Cylindrical projection (2) Policonic projection
(3) Zenithal projection (4) Mercater's projection
IR A9 dioTee & U e
(1) Rifgea grorae (2) dfeldifa AT
(3) Sifvrerat wroTeR (4) FRPex UroaEH

The correct sequence of the given parts of electromagnetic spectrum in terms of their
wave length is

(1) Ultraviolet-visible-gamma-infrared-radio

(2) Gamma-ultrvoilet -visible-infrared-radio

(3) Gamma-radio-infrared-ultraviolet-visible

(4) Visible-ultraviolet-Gamma-infrared-radio
a@aﬁéﬁmﬁﬁﬁwwmzﬁﬁﬁwﬁwﬁwﬁwé:
(1) sregrarmee — Affaa — AT — g3pre — Il

(2) T — JregTarieie — alffEe — FRS — qifsrad

(3) T — A — THRS — Iegrdaere — AR

(4) Sfdraer — SregTdrdee — AT — IPRS — A

Which of the following projection is suitable for diamond shaped countries?

(1) Mercator's projection (2) Mollweide's projection
(3) Bonne's projection (4) None of the above
e TATOr # Y BE-AT BT @ ATBR a1l Q¥ B Ty SUYH &
(1) "R®ex YIS (2) HeAES HIoiaRT
(3) 919 HroteR (4) 3T & F1g 2
74. ‘Match the list T with List II and choose the correct answer using the codes given
below the list;
List -1 List - 1T
A. Hypsometriccurve 1. Population age sex diagram
B. Hythergraphs II. Spatial travel time diagram
C. Isochrones I1I. Elevation/depression ratio diagram
D. Pyramids - IV. Climatic diagram

A B C D
1) 1 I m v
@2 m v 1 1
@ m v I I
4 Iv m 1 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T.O.
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AL BT AL S AT AT B IR A B A RY T B a1 SudnT axe W SR g

-1 Y - 11
A. Remfte wd I ST oy foftr o
B. fevgums II. WRma gae gy aIRg
C. IS II. Tferae /fedre Rr s
D. firifys IV. FagAfe® e

A B C D
) I I I IV
2) M IV 1 1
@) MM IV II 1
(4 Iv T 1 1

2

(

—_

75.  Which of the following pair is not properly matched?
(1) Rotameter-used for measuring distances on maps
(2) Plainimeter - used for measuring areas on maps
(3) Pantography - used for reduction of maps
(4) Ediograph - used for measure volumes
= A @ -0 S Fa T @
(1) AeMier — T4 R g 719 B fAg ga@nT fbar oirer @
(2) wHMeR — a9 W= et @ A B g T fea e @
(3) USrmd! — THRT B BF B B forw yANT fhar o &
(4) sfeams — smgas #uw @ g s fvar s @

76. Which one of the following is not a zooplankton?

(1) Copepod (2) Flagellate
(3) Euphausid (4) Pleuston
Bt § QB siide T 8 ?
(1) Bdre (2) TeisTore
(3) TP (4) woqEe
77. Epiflora and Epifauna are
(1) Pelagic species (2) Benthic species
(3) Nekton species (4) None of the above

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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VRATART 3R VBT ' ¢
(1) frafsms sfa (2) IR S
(3) SHeH ST (4) 30 & @IS el

'Baobab species is the only significant tree from Senegal to Tanzania'. This statement
refer to which of the following biome :

(2) Monsoon biome

(3) Tropical evergreen forest biome (4) None of the above

FralaTd TS TS W AT 9% UHHE Hewqel U B ¥E dud Fefofe e
ST BT HefHa HRar ©

(1) AT araH (2) AR 9

(3) i el BRI JrH (4) $TH & BIE TR

Match the List I( Grasslands) with List II (Countries);

(1) Savana biome

List-1 List - IT

A. Pampas I. South Africa

B. Pustaz II. New Zealand

C. Canterburry IIl. Hungary

D. Veld IV. Argentina
A B C D

() 1T Iv I I

) 1 I I IV

3 1 1o ua I1v

(4) Iv 101 1 1

A1 (IRrere) B GA-11 Q) & A wel Y
-1 wdr - 11

A, T 1. T3 INHIHI

B. gudS . =goicts

C. T I &9

D. dce IV. Il
A B C D

M 1 IV I II

2 o I m Iv

@)1 I o Iv

4 1Iv. 11 1o I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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80. Find out the odd among tire following;

' (1) Lianas (2) Epiphytes
(3) Arboreal (4) Vines
= A & R sma o
(1) ferarma ;‘ (2) Wwrge
(3) i (@) aww

81. Match the list I (name of scholars) with List IT (Books) and choose the correct answer
using the codes given below the list :

List-1I List-1I
A. Aristotle i. Ges Periodos
B. Eratosthenes  ii. The Oceans
C. Hecataeus iii. Ekumene
D. Posidonius iv. Meteorologia
A B C D

1) i iv i i

() iti i i v

(@) iv iii i i

(@) i i iv i

AL (f[Agmi @1 ) B gEA- (WD) B WY A N AR g B AR R W Bre @
SYANT G Hel SR G

-1 Y - 11
A. IRK] i. T OReN
B. sweref® © i € aleww
C. fRafeaw iil. YagAA
D. difsrsirs iv. Aferafomar
A B C D

1) i iv i i
) ii i d v
@3) iv i i i

@) i i iv i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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Consider the following statements ;

Assertion(A): Posidonius pointed out that at new moon and full moon there are high
tides whereas low tides are caused when moon is in the First and Last quarter.

Reason (R): Posidonius was a scholar of Greek period.

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue butR is false

(4) A is false but R is true

frafarfad su=l TR faar #

SfpeE (@) : TR I g B Ay de ok g § S R B § SEfs dwm
TRl SR oMRad RS & 81T € 99 9 IR B € |

FRUT (31R) : difree e GiRte & e g™ o |

(1) 3T T 3R T AL & ¥R AR 3 @) TE Al 2 |

(2) 31 TN IR ST WE B UREg R I B A ARAT T T |

(3) & | ¥ U=y AR AT © |

(4) o T & IR AR FE B

Match the list I (name of the Rivers as mentioned in Rigveda) with List I1 (The present

names of the Rivers) and choose the correct answer using the codes given below the
list ;

List -1 List - II
A. Sutudri . Jhelum
B. Purusni II. Chenab
C. Asikni . III. Ravi
D. Vitasta IV. Sutlej
A B. C D

M1 1o I IV

@ m 1 I IV

@) IV I O I

@un m I IV
ii‘r?r-I(\ﬁwé’Ivkaqqﬁ@%ﬁ@ﬁ?ﬁﬁiﬁrmﬁ)aﬁﬂﬁ-ﬂ(ﬁﬁtﬁa}aﬁmﬁﬁm)éwa
e B AR A B TR R T BT BT STAN wRS T SR G -

-1 =l - 11
A, Gga I e
B. g&Al II. =d
C. SRy I1I. 3fa
D. faewr IV. Jdaqst
A B C D

M1 I I IV
) o1 I IV
3 IV I I I
@ I IV

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.LG.
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84. Consider the following statements ;
Assertion (A): Hecataes is known as the father of geography

Reason (R): His main book 'Ges Periods' presented the first systemic description of
the world

(1) Both A and R are truc and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue but R is false

(4) Ais false but Ris true

et sl wR faamr aw

e (31) : Reerd i @ far & wu § o= g §

BN (@IR) : g7 J&a g 19 GRIE favg o ver wraRerd fyavor wxwa oear 2|
(1) 3 T AR ST FEl B R AR 37 P e ARAT 2 |

(2) & 1 IR AT WEI © WY AR I B HE AT 7 B

(3) 31 el & UR= IR TTad & |

(4) o1 T B UR] AR WE B |

85. Consider the following statements;

Assertion (A): Behaviourai approach in geography was introduced in 1960s

Reason (R): Its origin was based on the frustration against the normative and
mechanistic models developed with the help of quantitative technique

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) Ais true but R is false

(4) Ais false but Ris true

fer=feRad wedl R AR # -

aifeeE (31) : el # erdeR gfedior 1960 & gerd # er faar war o |

BRI (3R) : gD IART AFHS TH-1d & A8adr & ey q9a iR gif¥e dfesd @
fovg fRrem w emnRa ot

(1) &1 AT AR SFI WA & 3R IR 37 DY ALl ARAT § |

(2) 31 AT AR ST WS & IR TR 3f DI A&l ARAT 78 8 |
(3) & HEN & W IR AT § |

(4) 31 TS © URR] SR WEl 7 |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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86. Match the list T with List I and choose the correct answer using the codes gi\-'en'

below the list;
List-1 : List - 11
A. T.Haggerstrand 1. Theoretical geography
B. William Bunge II. Geographic dissemination of innovations
C. Gilbert White - {II. Methods of regional analysis
D. Walter Isard V. Human responses to flcod
A B C D

(1 o1 1 Iv I

2 I m IV I

3 IVI I I

@ 1 Iv 1 1

A1 GA-IL S F Fet B R g B A9 G ™ Bre BT SUANT PR Tl IR G
- 1 = - 11

A. o TGS 1 Ggifae e

B. faferaw =it 1. araRi @1 “rfed Jar

C. fread @re i1 &g Rvemer & @a

D. dreex TS 1V. ar¢ & forg wrra wfafssar
A B C D

(1) o0 I I1Iv II
2 I m v I
@ v I Il
@4 I Iv 1 I
87. Which one of the following statements is Not True about humanism in geography?
(1) Humanism does not treat humans as machines

(2) Humanistic geography gives importance to human awareness, human
consciousness and human creativity

(3) Humanists accepts the reduction of space and place to geometrical concepts of
surface

(4) Humanism developed as criticism against positivism and quantitative revolution
Ry § Q BE-aT BUT A § HEGAEE B IR F GE T T 7

(1) Wqﬁﬁﬁwﬁ?ﬁzﬁwﬁﬁﬁnﬁ%l

(2) FGETE SEiE G STeEd, HIE S SR A bl B HETd adl & |

(3) HFEATE! WAE B S SFAUROTSH BT SIS MR A F T Pl PR F B |
(4) FFIETETE WERIHD AR AHHD B & [Aeg et @ w9 H sl 83|

M.Phil./Ph.D.JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T. O.
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88. Match the List I( names of the scholar) with List IT (Model characteristics)

89.

List-1I

A. Taaffe and Gould

B. Gould

C. Vance

D. Rimmer
A B C D
() 1T 1o 1 v
2 O 1 WUl IV
3) I IV II 1II
4 IV I I II

List-II
1. Sixstage transport development model(1963)

Il. Four  phases interrelationship
metropolitan and third world countries

{II. Five stage Mercantile model(1970)

between

iV. Spatial exploration model(1966)

A1 (REt & =) B -1 (Fisa ) @& | i o

- 1

A. TH R TEcs
B. MScs
C. I
D. ¥R

A B C D
() T I m 1v
2 I 1 I IV

@) I IV 0O I
4 IV 1 1 I

Which of the following model of transport development is based on the colonialism?

(1) Gould
(3) Vance

g - 11
1. © Wiy uResd fdar™T dtea (1963)
1. #grdffered ok dd gfar & <9 &

99 IR TRV IR Hay

III. 9 ROy wRawerge Jigd (1970)

V. RS aa@es = disd (1966)

(2) Rimmer
(4) Lanchene

qRaes Rem @ FrefRe sreed 3§ I Brar SufSagrae o) SRy € ?

(1) MSes

(3) =

2) ¥R
(4) =i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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90. Which stage of the Vance's model talked about localised internal trade and
manufacturing ?

(1) Fourth stage (2) Second stage

(3) Sixth stage (4) Firststage

qi @ wreer & fpd =ROT 3 vuEgd anidRe @R iR RfET & R # 9@ 9§ 7
(1) =g =R (2) fa<ia =T |

(3) BEdal AR - (4) 9UH TR

91. Who among the following is not associated with the :dea of geopolitics ?

(1) Ratzel (2) Aristotle
(3) Trewartha (4) Kjellen
P 3§ A Rriifeed & RER ¥ T g § ?
(1) Yeua " VARRCES
(3) gamed . (4) Srer
92. Which of the following is a landlocked state in South America continent ?
(1) Chile (2) Bolivia
(3) Colombia (4) Peru
e ¥ 9 3 ey sMRer wEEY 7 s dids €T 8 7
(1) ferett (2) qrefifaan
(3) ratfraan | @) T
93. Which country control the Suez canal ?
(1) Egypt (2) France
(3) Britain (4) Consortium of countries
Rt B B BT o9 PRI wRar € ?
(1) e (2) Wi
3) foes (4) <=t BT

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(B) P.T.0;
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94. Who dict-ates the following?
Whoever rules east Europe, will rule heartland,
Whoever rules heartland, will rule the world island,
Whoever rules the world island, will rule the world.
(1) Spykman .. (2) Mahan
(3) Mackinder - (4) Ratzel

1 o9 amET QAT B ?

S Bl W IRY H T AT €, s H LRI B,

SN BIS A ECas H I AT & dos 1Y § R AT
S BIs W gcs g # w Fwan ®, v § wrs v |
(1) wWrgHia ©(2) HEH
(3) e o (4) Yeor
95. Who among the following have not proposed regionalization scheme of India
(1) Rao and Bhat (2) V.Nath
(3) S.P.Chatterjee (4) M.S. Swaminathan
e & 9 fda IRa @ doFarEoes @ o gwfaa T8 g ?
(1) g 3R Hg ’ (2) & e

(3) 4. 9. et ‘ (4) TH. T WA

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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96. Match the list I (name of scholars) with List II (cbncepts/ theory) and choose the
correct answer using the codes given below the list ;

List -1 © List-1I
A. Perroux I. Growth Foci
B. Hirschman II. backwash and Spread effects
C. Myrdal III. Trickle down and polarization effects
D. R.P.Mishra IV. Growth pole theory

A B C D
1) 0 m 1
@2 o 1 I IV
@ IV Il I I
4 Iv I I 1I
@-I(ﬁaﬁiﬁam)mﬁqﬁ-ﬂ(wﬁﬁ/ﬁ«m)zﬁwaﬁazﬁaﬁwﬁzﬁ#ﬁﬁﬁ@

Fre H1 SYANT IS el ST I
AT - 1 = - 11
A. R LMY BeTd
B. &¥HA II. Jepdfer R VWS ghac
C. f&sa I o S/e iR UeRSoIY §hac
D. R 9. A V. 3y 9 IR |

A B C D
M B o I v
@ m 1 I IV
@) IV I I I
@ IV I 1 I

97. Which of the following is not an example of resource/problem based area
programme ? ' '

(1) The Drought Prone Area Programme
(2) Tribal Development Agency Project
(3) The Command Area Development Programme

(4) The Hill Area Development Programme

M. Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B) %
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98.

99.

100.

o1 & 4 B FARE /T SRy 8 $RimET BT SaEier T8 8 2
(1) 9@ waor &% Brisy

(2) TR AeRT ToiRil diode

(3) wHre TRaT ey srispa

(4) T=TEY & ferd Brima

Who among the following have Not worked on regiénal development of India?

(1) Hemlata Rao ; (2) Ashok Mitra
(3) V.SKale ‘ (4) V.Nath

o1 & @ fb wRa & Ageet R W & w8 e & 7
(1) B9 @ | (2) sreme i

(3) 9. T, BT (4) 4. =mer

Which one among the following is Not a rural development programme in India?
(1) SFDA : (2) DPAP

(3) NREP (4) ULBD

=1 & A w1 wRT F grlor ™ eries & & 2

(1) THo THo $lo Yo (2) Slo Wo To Fro
(3) THo 3Ro o Yo (4) o Tero Ho Lo

Which of the following multi-purpose river valley project in India was developed on
the lines of Tennessee valley project ?

(1) Sutlej river valley project (2) Tungbhadra river Valley project

(3) Damodar river valley project (4) Cavery river valley project

AR % P oot Wiovee # W R AT SR 3 Aome @ e ¥ gor o ?
(1) aes 74l dell Uolae (2) THET T Ao dioige

(3) TR T Tt WIotae (4) BTRY AT I HIoTge

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(B)
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Sub polar low pressure belts are located between
(1) 50°- 55° latitudes N-S hemisphere

(2) 60°-65° latitude N-S hemisphere

(3) 30°-45° latitude N-S hemisphere

(4) 45°-55° latitude N-S hemisphere

Y g FH g9 IeT 39d a9 Rea 2

(1) 50°- 55° eifeegs N-S eHIRFHIR

(2) 60°-65° wifecgs N-S eiREmIR

(3) 30°-45° oifecys N-S eHIRHAR

(4) 45°-55° wifecgs N-S &iRwmIR

Match the list I (winds) with List II (countries) and choose the correct answer using

the codes given below the list ;

List-1I List-1II
A. Sirocco - I.  Spain
B. Salano II. Libya
C. Khamsin III. Sahara
D. Gibli . IV. Egypt

A B C D
M) O I IV I
@ I I I IV
@) Iv Il I 1
4 I m 1 IV

TA- (FaR) @ gA-1 (@) & AT A B &R gA @ A A T PIe BT SUINT RSB

e IR G

-1 T - 10
A. RRraar I =
B. AT II. fafean
C. @R III. 98RI
D. frelt V. 3

A B C D
1) M 1 IV I
@ 1 I II 1V
@) IV I 1 I
4 I m 1 IV

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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3. Consider the following statements;
Assertion (A): Fogs are more widespread over oceans
Reason (R): The oceanic fogs are generally advectional in nature
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue butR is false
(4) A isfalse butRis true
frefoaRad sl wR =R w1
AfFFHAT (37) : AETATRI TR PIENT 3P AP © |
BRI (IR) : SRR & PieY 3F 9k W UHia § frarems e €|
(1) =1 TAT AR SHI FEY AR AR 37 P T ARAT 2|
(2) 31 TUT 3R SFI HEl U= MR 3 Pl e ARAT & 8 |
(3) 31 el & R AR Teid &
(4) 3 AT T IR R G B |

4. Consider the following statements;

Assertion (A): Anticyclones are systems of high pressure surrounded by low pressure

Reason (R): A cyclone is low pressure system of isobars with lowest pressure at the
centre and pressure increasing in all the radial directions

(1) Both aand R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue but Ris false '

(4) Ais false but Ris true

fraforRed ol w® faR & -

AMHU (@) : VCAETAE $H Sd1d ¥ foR e <a1d Irel 9 © |

PR (AR) : Y& FHaAT AAER & HF CEIG gl T & a8 deg § F9% B <dIg
BT © SR Wl NfSaer feemeit # <arg godr 2

(1) 3 TAT IR QI FEl © AR AR 37 B el ARAT 8 !

(2) & TUT R IF! FE T IRY AR I B AE AT TE R |
(3) 31 WE & U= IR Tl ¥ |

(4) & TAT & UG AR HEl B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography) (SET-Y)/(C)
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5. Match the list I (ocean currents) with List II (coasts) and choose the correct answer
using the codes given below the list ;

List -1 List - IT

A. Florida I. Spain and Azores

B. Gulfstream II. West coast of south Africa

C. Canary III. South-east USA

D. Beneguela IV. Grand Banks of Newfoundland

A B C D
(1) I v 1 1II
2 I I 1 Iv
@ o o1 I
4 IV I I I
Qﬁﬂlﬂgﬁuaﬁzﬁhﬁn ) @ T AT BN R Gl B A A T BIS F START
PRSP AE VIR G
L -1 LY - 11

A. TAIRST I W 3R INRY

B. To® M I 9*C BRT ATH ATSY nhTHT

C. & Il IR¥Y-53¢ Y, T4, T

D. sfsqgen V. 3§ §&% i Jwesels

A B C D

(1 I v 1 1

@ I I oI 1v

G M m1 IV

(4 v 11 1m 1

6. Which of the following is an area of steep slope extending just after the continental

self ?

(2) Ocean deep
(4) Oceanic ridges

(1) Continental slope

(3) Sea plain

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T. O.
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(1) ifeiea wig (2) s €
(3) = @ ' (4) sirafrs Rew
7. Which of the following statement is false?
(1) Salinity controls evaporation
(2) On an average ocean surface water temperature is 26.7 degree centigrade
(3) The average salinity in the seas and oceans is 35%
(4) Red sea has high temperature in the south due to high evaporation
fer=fead o & @i9-a1 Ho Tod 2 ?
(1) sfaorar arsfiaRer B R ot 2
(2) SR WHE @ |qAE S BT A9AN 26.7 ) A B B
(3) |H&l iR AEMATRI # &= SIaurdt 35% 2 |
(4) S ardIdReT & HROT SROT F ¥ W H 9w qowE B B |

8. Which of the following statement is true?

(1) Kimbal has classified the oceans according to salinity
(2) Dead sea is the most saline water body on earth

(3) The maximum salinity in the southern part of the Indian Ocean is found in west
of Australia due to dry conditions

(4) 80% of the water in the oceans has a temperature permanently below 55 degree F
fFriferRad # | BiF-1 wow @@ 7 ?

(1) fhraer 1 TaurET & AR AR BT Fiffeeor far 2

(2) TR R TS A T AfH 0T arell o A B |

(3) fo= MERrR & < &3 # waifie oaudr g IRRufRl & aRo aSforr &
uf¥ed # iy WY B |

(4) MBRTR & 80% STl &1 a9q= 55 f&fl F & 9w ol w9 ¥ e &
9. The period of nearest distance between moon and the earth is called

(1) Apogee (2) Perigee

(3) Perigean (4) None of the above
AT 3R Y2l & 99 Fraean g B @ 3 ver o R

(1) warsh (2) aRsh

(3) uRfr (4) 3 A IS T

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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(fonsicler the following statements;

Assertion (A): Neap tides rise to a lesser height than spring tides
Reason (R): Neap tides occur on full moon

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue but R is false

(4) Ais false but Ris true

fF=foRed duel R R & -

afmer (@) : ReT Trgs @ o | Y <Igs $W S8 9% ddl B |
HRT (TR : A9 TR Y ) B 2|

(1) 1 TT AR S & 8 3R AR 31 B FE AT B |

(2) 3 TAT IR THI Wal & U= IR I B el ARAT 7781 ¢ |

(3) < WEl § Wy AR e © |

(4) & AT § WY AR FE B |

Strassendorf pattern of settlement is associated with which of the following

settlement?

(1) Compact settlement (2) Dispersed settlement

(3) Linear settlement (4) Ring pattern
Aeaic o wwaTem ded FrfeRag § & fhg deadie & 9197 1 g3 & ?
(1) BT AcaHe (2) fsadRe dcere
(3) e R AcaHe (4) 7 ded
Which of the province of Canada is most densely populated?
~ (1) Ontario (2) Nunavat
(3) Alberta (4) Manitoba
FATST FT HIF-AT UId A T ATETS) arelr 8 2
(1) sfferRar (2) T
(3) srerge! (4) AfcmEr

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) _
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13. Consider the following statements;

Assertion (A): The plain areas having fertile soils and suitable climate for the
cultivation of crops are the regions of high density of population

Reason (R): There is an inverse relationship between the arable land and
concentration of population

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false

(4) Ais false butRis true .

fAfeRad ot = AR #

AfperT (@) : werel @ Eh @ oy Suems A ek Sugd wearg e deh a
NS & S T B 4T B |

BRI : ((R) : DN A R ey & Hdgw & 4 v AT Gay 2|
(1) & @ 3R S W8 2 ol AR o &) e wran ¥

) aam'mﬁﬂﬁr%mwaaﬁﬂﬁmﬁél

(3) 31 W T U= IR Tewd B |

(4) & T B U] AR GE B

14. Consider the following statements;

Assertion (A): Indigenous people are strikingly different and diverse in their culture,
religion and social and economic organizations

Reason (R): the indigenous people are termed as Fourth world

(1) Both aand R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue but R is false

(4) Ais false but R is true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)



frfoRed demt o= far == -
b (@) el AT AU Weph, e ofR wrfie iR anfife wieHt # wroy arenT
3R fafaw € -
BROT : (AR) : W AR B AR g wEr o § |
(1) & 1 3R T el 8 AR SR 3 & T ARAT € |
(2) & TAT AR ST e B W AR A DI AEl ARAT 78l B |
(3) &1 FE B TR AR TAT ¥ |
(4) I TAT B TR R FE B |
15. Consider the following statements;
Assertion (A): Pastoralism among the Masai is strongly linked with culture

Reason (R): Cattle are kept not because they can be sold or consumed, but because
they can be immolated in religious rites and magical ceremonies

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue but R is false
(4) A is false but R is true
FrefoRed seml ov far # -
B (3) : 7ATZ B drT UTNEaTE el W BT W T 83l B |
HRUT (AR) : FARET $ @1 ST & gferg e} fb S8 <o O HepdT & AT WHAT I Aebell
8, IR oY fh I enfiep AR 3R WiIgg WaRIE! # gaie 5y o a@od €|
(1) 1 TAT IR THT & ¥ AR R 37 P &) ar=r
(2) 31 AT AR ST FEl T IR AR 7 P AL ARSAT £ |
(3) 31 W B U MR Tewd B |
(@) & TAT § IR SR el B
16. Match the list I (Races) with List II (Sub races) and choose the correct answer using
the codes given below the list;
List - I List - IT

A. Caucasoid [.  American indians
B. Negroid II. Alpine
C. Mongoloid III. Melanesians

A B C
() T I 1
2 I T I
@) Il I I
4 I II II

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O.



8 , Ke
-1 () D1 G-I (Fa-39) & HT A I 3R gl & 9 R T Bre B SuAnT ek
el TR G

T -1 =T - 11

A. DHRETS ’ I mReH 3T
B. s II. 3reaE+
C. AFNGTs " 1. femR=

A B C :
1) 1T I IO
2 I I 1
@) O I I
(4 1 I 1

17. Match the list I (name of estate farms) with List II (regions) and choose the correct
answer using the codes given below the list;

List - I List - II
A. Latifundia L. Europe
B. Ranches il. Anglo America
C. Fazenda : III. Latin America
D. Plantation IV. Asia
A B C D

1M I W IV I
@ I I IV I
@ I I I IV -
4 IV I I 1

A1 (FURT B @1 ) B FA- (@F) S T Fa Y AR W B A T T B @

SUINT PRSP Aal IR G -

T - 1 o - 11
A, FEwAfeT L R
B. =4 II. Vel amRaT
C. ST II1. @fes smaRa®t
D. W< IV. Tf3mm

A B C D

() I I IV I
@ 11 I IV 1
@ I I I IV
4 IV I 1 1I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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18. Which of the following is the port of five seas ?

(1) Murmaansk
(3) Moscow

(2) St. Peterbersk
(4) Valadivostoc

T ¥ B U KT BT dGE 8 7

(1) Huis
(3) Chins

(2) YrewEd

(4) delEART®

19. Which of the following is not a Chinese minority community?
(2) Uighurs

(4) Manchus

TH W B A SN WS e § ?

(1) g=d
@) =

(2) SEPR
(4) Had

20. Match the list I (Shifting cultivation) with List II (Region) and choose the correct
answer using the codes given below the list ;

List-1
Milpa
Ladang

Ray

o 0w »

Roka

A B C
(1) 1 .10 I
2 IV 1 1
(3) I III 1v

4) II IV 1

List-1II
[. Indonesia
II. Brazil
III. Vietnam
IV. Central America and Mexico
D
IV
11
[

I11

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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21.

C

A1 (RifeT wfecier) o G- @F) @ e i B R T B A R T B @

JUGIT HRSD Hal IR G

- 1 = - 11

A. e I SeFRrT

B. oIST L sl

C. X 1. faea=m

D. @ IV. Sga FAReT iR AT
A B C D

QI O I v
@ IV 1 T I
@) I I IV I
4 II IV I I

Match the list I (name of scholars) with List IT (Books) and choose the correct answer

using the codes given below the list :

List-1I List-1I
A. Aristotle i Ges Periodos
B. Eratosthenes | ii. The Oceans
C. Hecataeus iii. .Ekumene
D. Posidonius iv. Meteorologia
A B C D

W) i v i i
@ ii i i iv
@) iv iii i i

4) i 1 iv il



C 11

-1 (RET} 31 W) BT A1 (R & T 7 B AR G & A R T e o
START HRP He SR Y

g - 1 T - 11
A, IR i, | aRe™
B. xR ii. g 3Ty
C. feafemw i, Qg
D. difsreifas iv. fereform

@) i i v i
22. Consider the following statements ;

Assertion(A): Posidonius pointed out that at new moon and full moon there are high
tides whereas low tides are caused when moon is in the First and Last quarter.

Reason (R): Posidonius was a scholar of Greek period.

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correctlexplanation of A
(3) A istrue but R is false

(4) A is false but Ris true

fermfoRad weAl W AR @

e (@) : oI ¥ aarn R Ay wEm ok yffer ¥ wea waR B & orafe de
Tgell ok MRa) famme) # e & °9 BH SaR B © |

TR (BR) : SRR i GRYS @ TF R |

(1) 3T QT &R ST W& ¥ 3R 3R o 1 AEl ARAT © |

2) &ﬁmmﬁﬁ%ﬁmaﬁﬂﬁm@rﬂﬁ%l
(3) o WA ¥ TR AR T ¥ |

(4) 3 T ¥ R AR WEl B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O.
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23.

24.

: C
Match the list I (name of the Rivers as mentioned in Rigveda) with List II (The present

names of the Rivers) and choose the correct answer using the codes given below the
list;

List-1I List - II
A. Sutudri . Jhelum
B. Purusni II. Chenab
C. Asikni [1I. Ravi
D. Vitasta IV. Sutlej
A B C D

M1 I 1 IV
@ I I I IV
@) IV I I I
4 I m I IV

-1 (S & rae # Sfeafaa afkat &1 AW 8) @ G-l (@R & adam am) & @
7 TR AN A B A R T B F SN BB HE SR G -

T -1 = - 11
A, ggs I e
B. g&AI II. @99
C. 3Ryat 1. =fa
D. faeam IV. |dgs

A B C D
M1 I 1 IV
@ m I 10 IV
@) IV I I I
4 I m I IV

Consider the following statements ;
Assertion (A): Hecataes is known as the father of geography

Reason (R): His main bock 'Ges Periods' presented the first systemic description of
the world

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue butRis false

(4) A is false but R is true

FrefaRed weMt = e w

IABU (1) : Repreraa e @ fUar & wu § 9™ e € |

BRUT (3TR) @ T I GRaed T GRIs fvg a1 gom ergRe faver ywqa @xar 2|
(1) 31 2T IR THT F&! T 3R 3R 3 P L ARAT 2 |

(2) & AT AR ] Fal & IR AR I DY & AR & B |

(3) & Wl 2 W= AR T B

(4) 3 AT B TR IR FE 2|

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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25.

26.

13
Consider the following statements;

Assertion (A): Behavioural approach in geography was introduced in 1960s

Reason (R): Its origin was based on the frustration against the normative and
mechanistic models developed with the help of quantitative technique

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A is true but R is false:

(4) A is false but Ris true

frfaRed wadl w faar &

BT (3) : e H AIER GREDIT 1960 & <rep H UeT oy AT o |

BRI (3R) : $HG! IURT HETHS qhAId D Fargdl ¥ [GaHfad A9 AR JifFe dfed @
faeg FRTEM WR MR off | '

(1) 1 TAT AR Il HEl & 3R 3R A DI Tl AT & |
(2) 3 TAT IR QT FE & U AR I P ALl IRAT G ¥ |
(3) 1 W& § U= 3R T 7 |

(4) of TAT T U] IR WA T |

Match the list I with List II and choose the correct answer using the codes given
below the list;

List-1I List - II
A. T.Haggerstrand I Theoretical geography
B. William Bunge II. Geographic dissemination of innovations
C. . Gilbert White iII. Methods of regional analysis
D. Walter Isard .IV. Human responses to flood
A B C D

(1) I 1 IV I
2 I II IV I
@ IV I I I
@ M IV I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.0.
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AL AL S A Fer B AR G & M R T Bre B SuEnn wxd TE SR g

L -1 ; Y - 11
A. o RS 1. wﬂfﬁﬁ
B. fafers sl Il. TamERl &1 “rMfae ™
C. froee ==e L. &3 favewor & die
D. dlcex g4TS V. 918 @ fow 799 ufafsa
A B C D

M I I IV I
@ I I IV I
@) IV II I 1
@ II IV 1 I

27. Which one of the following statements is Not True about humanism in geography?
(1) Humanism does not treat humans as machines

(2) Humanistic geography gives importance to human awareness, human
consciousness and human creativity

(3) Humanists accepts the reduction of space and place to geometrical concepts of
surface

(4) Humanism developec as criticism against positivism and quantitative revolution
FrefaRed # 9 S19-1 HoF et § ArFEdmae @ ar ¥ 98 98 8 ?

(1) #AFaar 79t & 7T @ w9 § T8 Ty 2

(2) AFGEE! YA AFG SHTSHT, AN IGET 3R HFe GRSl B Heed ST & |

(3) ATTIATET HeE B ST JAGUROTAT BT S8 AR W H B B WhR ¥ & |
(4) ATAAEE FHRIHD AR AT Hifd & Aeg e & v # fAaRi gan|

28. Match the List I{ names ot the scholar) with List II (Model characteristics) ;
List -1 ; List - 1T
A. Taaffeand Gould 1. Six stage transport development model(1963)

B. Gould II. Four  phases interrelationship  between
metropolitan and third world countries
C. Vance III. Five stage Mercantile model(1970)
D. Rimmer 1V. Spatial exploration model(1966)
A B C D

1 1 I I IV
@ I 1 I IV
@) I IV I I
4 IV 1 1 I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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T (e & M) B G-I (Fieet REo) & e A w

-1 ' =T - 11
A. T 3R NS L & @Ry uRae e died (1963)
B. TS I Agifered ik o gfom & <o @
C. a=A . 111 dfg oo wRewerd Jisd (1970)
- D. RPR IV. QRS TaI@ce™ died (1966)
A B C D ‘

A 1 1 I Iv
@ I I I IV
@ 1 IV Il I
@ Iv1 I I

29. Which of the following model of transport development is based on the colonialism?

(1) Gould (2) Rimmer

(3) Vance ‘ (4) Lanchene

TRaes fem @ fFrefiRad dfed 3§ A SF-w1 SuEEE W ey € ?
(1) M3 (2) R™R

3) T ' @) ==

30. Which stage of the Vance's model talked about localised internal trade and
manufacturing ?

(1) Fourth stage (2) Second stage

(3) Sixth stage (4) First stage

a @& Hed @ 9 @RT A RGeS AR AR A & ar # aq @ 7 7
(1) =g @ @) fadr ==

(3) Boar =R (4) ¥ TR

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O:
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31. Temperature between 24 and 30 degree centigrade, rainfall above 200cm, well
drained deep fertile soils is ideally suited to which of the following crop:
(1) Tea ) (2) Wheat
(3) Sesame : (4) Corn

24 3R 30 R TS B g BT TAIEF 200 o B TR qW, DT TRE F TEY SIS
gt aee wu @ ol foa vaa & fog Suged @

(1) = , @ ¥
(3) foa _' (4) @
32. Which one of the following is not producer of Rubber ?
(1) Tripura (2) Karnatka
(3) Bihar (4) Tamilnadu
=1 § ¥ B9 R BT SRS T B P
(1) g : (2) wes
(3) faEr (4) afrerrg -
33. What is the approximate share of Agriculture in national GDP of India ?
1) 15% ' 2) 20%
(3) 25% (4) 30%
IRG & I S L D A P @1 g IR @ g ?
1) 15% ' 2) 20%
(3) 25% (4) 30%

34. Mollasse and bagasse are the bio-product of

(1) Rubber industry (2) Sugar industry

(3) Cotton textiles industry (4) Japrota oil industry
Aol 3R 7 IS ©

(1) TR S F1 - (2) TR FSH &1

(3) Pic THACIST SS¥T Bl (4) SRRIE 9 SS%) B

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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35. Match the list I (name of crops) with list II (scientific name) and choose the correct
answer using the codes given below the list ;

List -1 List - IT
A. Rice L Penﬁisetum Typhoides/glaucum
B. Barley II. Oryza sativa
C. Jowar II. Hordeum vulgare
D. Bajra IV. Sorghum vulgare

A B C D
1 1 I I IV
@ Im IV I 1
G I I IV I
@ I IV I I

T (Faat & M) B -1 (@i =) & ey A e R @ @ A R T e

B SUANT HYd FEl IR G
A -1 g - 11
A. TEA I URIcH CRBRISH /TareH
B. <l II. SRS HeTgal
C. wWR 1. gfT TR
D. R V. |REH g

A B C D
() I M IV
@ I IV I I
@G I I IV I
@ 1 IV I II

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O.



18 | C
36. Which one of the following technique is most suitable to study spatial pattern of
settlements

(1) Nearest neighbour anélysis
(2) Z - test
(3) Factor analysis

(4) Residuals from regreséion
Prafafe ¥ Q P doiie deoric & QR Yed S o & Ry T ST § -
(1) Frpcaw AaR iR
(2) Se-cwe
(3) haex IR
(4) YSirSgera Wi R
37. What is the range of correlation coefficient ?
(1) Infinite |
(2) Oto 1
(3) -1to+1
(4) None of the above
PR BT TR o 7ar ¥ & ?
(1) srifAa
) 091
(3) -19 +1
@) T | Big &

38. The range of Nearest newhbour analyaas (NNA) varies between 0-1-2.15? How 0 is
interpreted in the NNA?

(1) Absolute agglomeration/concentration
(2) Random distribution
(3) Even distribution

(4) Compact distribution

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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fFreean Yar SRR (TH. T, T) & ¥ 0-1-2.15 g | T3 T T H 0 &) aren
B B A § 7

(1) TeIge WAIREA / SIS e
Q) ¥ou o

(3) w Rwreger

(4) BrTe feeege

39. Match the list I (name of scholars) with List II (methods/techniques) and choose the
correct answer using the codes given below the list ;

List -1 : List - II
A. Ashok Mitra 1. Rank size rule
B. King and Dacey - II. Ternary diagram
C. GK. Zipf - III. Ranking method
D. M. G. Kendal IV. Nearest neighbour analysis

A B C D

1) M 1 IV I

@ 1 Iv I I

@ IV I I II

@4 U I 1 IV

-1 (Rgr & =) & gA-11 @Y/ dede) & arr da & AR @ @ A fRd ™
BTS BT STIART HB el IR g -

-1 - 11
A. s fE I Yo Ay wd
B. f& 3R < II. TR IRA
C. <. &. s II1. e fafr
D. TH. Sl ded IV. feead AR g

A B C D
1) I I IV II
2 I Iv 1 1I
@ IV I M II
4 I I I IV

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O.
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40. Consider the following statements;
Assertion (A): Ginni coefficient is a measure of inequality
Reason (R): Range of G varies between 0 and 1
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue butR is false
(4) A is false but R is true
1 Pl R IR o ¢
B (3) : R S-UfBRaee 39 geaiferd &1 919 @
RO : (@R) - SN A T 0FR 1 D G 2
(1) & AT 3R ST FEl § AR SR 31 B LT ae=qn 2
(2) 31 TAT IR < FE 2 TR AR I P AL A=A TEY B
(3) o W&l © W= R Tad &
(4) 31 T B tﬁﬁ IR WEl B

41. International map projection is a modified

(1) Cylindrical projection (2) Policonic projection
(3) Zenithal projection (4) Mercator's projection
ST A FrorRr. @ e e |

(1) Ricifgma wroraRm (2) dielieife doreRr
(3) SifHeret droierm (4) REeR ToraE

42. The correct sequence of the given parts of electromagnetic spectrum in terms of their
wave length is '

(1) Ultraviolet-visible-gamma-infrared-radio

(2) Gamma-ultrvoilet -visible-infrared-radio

(3) Gamma-radio-infrared-ultraviolet-visible

(4) Visible-ultraviolet-Gamma-infrared-radio

T S91E B WeH # gy gren Wagn & Y T Rt o @d argeH @
(1) sregrEiaee — QARFEe - T — 3RS — (AT

(2) T — eI — dfad — s9pRe — e

(3) T — AT — RS — Aegldfdeie — qRTa

(4) e — sregEfdae ~ THT — 39PRS — el

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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43.

44,

45.

21
Which of the following projection is suitable for diamond shaped countries?
(1) Mercator's projection (2) Mollweide's projection
(3) Bonne's projection (4) None of the above
=1 vetoer § | SIF-A1 ERT $ FHR drel <2 B Ay IuYe B
(1) ¥R YIoTaT : (2) HictaTss WoTEH
(3) 9 UoTaRE (4) 39 A wIg T8l

Match the list I with List IT and choose the correct answer using the codes given
below the list; '

List-1I List-II

A. Hypsometric curve = 1. Population age sex diagram

B. Hythergraphs II. Spatial travel time diagram

C. Isochrones [II. Elevation/depression ratio diagram
D. Pyramids . IV. Climatic diagram

A B C D

M1 I m o

2 O v 1 1

@ m v mo1

@ v m 1 1o

-1 BT G-I S AT AA TR IR G B N R T Pre FT ITANT HReb FEl SR G+ ¢

qA -1 - A - 11
A. Rwamfes &g I S oMy fof o
B. fexeum® [I. WRE ¢ad TEH ARG
C. 3mgahH 111 ferae / fevem [y e
D. foxifae IV. gergHfed IRy

A B C D
M 1 I IV
@ U IV I I
@) M IV I I
4 IVv I I 1

Which of the following pair is not properly matched?
(1) Rotameter-used for measuring distances on maps
(2) Plainimeter - used for measuring areas on maps
(3) Pantography - used fcr reduction of maps

(4) Ediograph - used for measure volumes

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) ol b
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et 4 & B0 e Ao e @ R
(1) ReMIR — F99 R g J199 & forg wan fear s @
(2) AR — AR TR &9 B AU @ fow wanT e e @
(3) USHTH! — FR) BT HH FW b o wAT fhar war @
(4) eI — SrgaH AW B Ty wAnT fhar SiTer @

46. Which one of the following is not a zooplankton?

(1) Copepod (2) Flagellate
(3) Euphausid ) (4) Pleuston
foer % @ 1 operiaes T § 2
(1) Fdts (2) TR
(3) TwiRrs T () e
47. Epiflora and Epifauna are
(1) Pelagic species . (2) Benthic species
(3) Nekton species (4) None of the above
NERCINECINRYEEIE I
(1) TS wfer ) e sIfy
(3) WHeH Sfy (4) ¥ | g TE

48. 'Baobab species is the only significant tree from Senegal to Tanzania'. This statement
refer to which of the following biome :

(1) Savana biome (2) Monsoon biome

(3) Tropical evergreen forest biome (4) None of the above

AT G AT A AT 9 v wew(el Us 81 9% e PrefaRaa few
91 b1 HafHT BT B

(1) w\ar 9raH (2) W= arEE
(3) ¢ies o BRE 4™ 4) T | 1 T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) |
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49. Match the List I( Grasslands) with List I (Countries);

List-1 List - II
A. Pampas I.  South Africa
B. Pustaz IT. New Zealand
C. Canterburry IIi. Hungary
D. Veld IV. Argentina

A B CcC D
) I Iv I 1
@ I 1 1 IV
@ 1 o 1 1w
4 v 1o 1m I
-1 (et 1 A (@9) B |y A o

-1 - 11
A. TR [ AT3Y IHIHT
B. g I =gsiele
C. dwea L &
D. dcs IV. 3rf=HT

A B C D
() I v I I

@ 0 I I IV
@1 I I IV
@ IV I I I

50. Find out the odd among tie following;

(1) Lianas (2) Epiphytes
(3) Arboreal (4) Vines
for o &1 R s Y
(1) feramra - (2) dfwTEe
(3) smEiRae (4) ars=
51. Rocks having vertical strata are easily loosened and broken down due to the process
of
(1) Oxidation (2) Bio-chemical weathering
(3) Temperature changes (4) Chelatian

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) BT 0
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52.

53.

C
(1) SffairSer o (2) RS defdn
(3) amoHE H uRedH E (4) frreem

Which of the following cunes are formed by ineffective winds along the coasts and
margins of deserts?

(1) longitudinal dunes (2) Transverse dunes
(3) Barkhan dunes : (4) Parabolic dunes
EATR & HROT BT B P

(1) wreiiegfeTa s (2) AT Sg=

(3) TREM g (4) rdifere sz

Match the list I (The end product of normal or fluvial cycle of erosion) with List II

(Geomorphologists) and choose the correct answer using the codes given below the
list ;

List -1 List - II
A. Peneplain I.  A.C. Lawson
B. Pediplain II. L.C.King
C. Panplain L. C.H. Crickmay
D. Panfan IV. W.M. Davis
A B C D

(1) IV I II I
@ 1 I I 1v
@G m I I Iv
@ IV 1 I 1

AL (R0 & AR A1 Ao 9% B it Sens) @y gl (Rrammwdife) @
T A B R A B A R T Pl B SuAT =S T I g

- 1 - 1T
A. uffes I u 3 dfe=
B. ufsws II. wer o). fo
- C. Yo I11. <. 3. fhen
D. U5%H IV. g, uA. Sfas

A B C D
(1) IVv I I I
@ 1 I 1o 1v
@G M I I IV
4 IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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54. Match the list I with List II and choose the correct answer using the codes given

below the list ;

List-1 List - IT
A. Medial moraines 1. The material dropped at the end of a valley glacier
Ground moraines  II. The material dropped at either side of a glacier
C. Lateral moraines . III. Deposition of glacial till along the internal margins
of two glaciers at their confluence
D. Terminal moraines IV. Deposition of glacial till at the floor of a valley
A B C D
(1 1T I o 1v
@ I I IV I
3) Iv III I I
4 M IV I 1
AL A B T e R AR G B A R T S T ST awd W SRR g -
-1 =T - 11
A. AfeTa #1RA L N R & ofd # Arg T wrd
B. UTSTE ARA I fRRR & 3F we FRE T aref
C. ofeve HRA I 309 WM W 31 QR @ HaRe A & A
TRRR 1 f¥Uifrem
D. cfidel aRA IV. T Jeil & da R TR of feurferer
A B C D
(1 1 I O 1Iv
2 I miIwv I
3 Iv 11 I I
4 I IV I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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55. Match the list I (Metamorphic rocks) with List II (Original rocks) and choose the

correct answer using the codes given below the list ;

List -1 List-1II
Gneiss I. Sandstone
Marble II. Shale

Quartzite  III. Granite

g e

Slate IV. Limestone
A B & D

(1) I I 1v 1

2 Iv. 1 1O 1

@ I v 1 I

4 I I 1m 1v

-1 (reriéer <) @1 AL (HRFT ) B e e @ ol g B A Ry T

IS BT IUINT PRSP WE 9N G

A - 1 -1
A, #rF I dewrm
B. #AMde . ¥
C. HESEe 1. I1ze
D. W IV, AR
A B C D

(1) I I I1v I
2 IV III I 1
3 HOr 1v. 1 1II
4 I I I v
96. The earth is rotating on its axis is established by the fact that
(1) The moon and stars move in the sky
(2) The earth experiences day and night
(3) The planetary winds are blowing

(4) The time in different parts of the earth is not same

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)



el o g W YA & 8, YE 39 T § AT FAT o
(1) dgar 3R AR MHTY & g @ |
(2) gt & &R I &1 ST B B |
(3) @il gard Sl 2 |
(4) gt @ faft=r fewat & g A T B
57. The gradient of highly meandering river is ranges between
(1) 20cm to 10 m per km
(2) 20 cm to 15 m per km
(3) 20 cm to 20 m per km
(4) 20 cm to 25 m per km
s gAEeR A8 @ T e & d g B
(1) 20 S0 ¥ 10 o gl o
(2) 20 o & 15 Hio ufr fHlo
(3) 20 W0 ¥ 20 o ufdl fdHlo
(4) 20 Iflo & 25 Hio yfer fehHTo

58. Consider the following statements and select the correct answer from the code given
below;

Assertion (A): Fjords are the features produced by glacial erosion

Reason (R): Glaciers descending from coastal mountains may reach the sea and
continue their erosion on sea floor

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A istrue but R is false

(4) A is false but R is true

frfaRad ol R faR =X ok R RA ™ Fre I SugH ST g ¢
IMHUT (37) : BIE TR &R0 gaR Scfed R € |

FROT (ITR) : TER UETSl Q TAA el TRRR IR G Ugd Wadl § AR WA qd W
T EROT SR 7 FHhd T |

(1) 31 T 3TR =T W& ¥ &R AR o & WE ARAT § |

(2) o TAT IR ST AL B IR AR 3 P FE IRAT TE B |

(3) 3 W T WG AR TA ¢ |

(4) 31 ol & RN IR el © |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P10,
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-59.

60.

61.

62.

Which of the following layer reflect very high frequency radio waves ?

(1) Elayer (2) Flayer

(3) Sporadic E layer (4) G layer
Fret ¥ & P TR aga wea argfy IR e @) SRR T & ?
(1) g w=a (2) T% wa

(3) WRfS®F § wa (4) S od
Aurora Borealis is produced in :

(1) Ioﬁosphere : (2) Exosphere
(3) Mesosphere (4) Stratosphere
SIRRT AIRTford s S & @

(1) IATSARBIR (2) TFRAIRmR
(3) HARwIR (4) wIRHR

Which one of the following statement is not true ?

(1) India has two of the 25 hot spots in the world

(2) China has about 30% of its area under forest

(3) Saprophytes rely on dead animals and plants

(4) Lightening is one of the process of nitrogen fixation in soils
=1 3 | Be-a1 B I TS R

(1) faeg # 25 &fc e § 4 Q) 9Ra ¥ |

(2) 99 & AU &F BT AT 30% ST B ehT 2|

(3) AWIBIST {T THART 3R Uil o) finR 7 |

(4) wrgefT A A Tsgor fhaiee @ ufhar § a2

Match the list T (name of national parks/sanctuariec) with List II (state) and choose

the correct answer using the codes given below the list;

List - I ' List - 1I
A. Keoladeo Ghana bird sanctuary 1. Assam
B. Jaldapara sanctuary II. Himachal Pradesh
C. Shikari devi sanctuary III. West Bengal
D. Manas wildlife sanctuary IV. Rajasthan

A B C D
1) IV I I I
@ I O 1 IV
@ I I IV II
@ 1 I m v

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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-1 (R S /deer @ M) B gl @) @ AR Ad B iR g @ e Rl

T - 1 , AT 11
A. DadRd 9T 98 Haegyl I o
B. SIeQURT gl . R gew
C. fUrom <& Aot III. I%< 977al
D. A9 qIgcSAR® HFedRl IV. oTRRIH

A B C D
(1) IV I I 1
@ m oI
@G I 1 IV I
@ 1 I I IV
63. Which of the following satellites provide global coverage with high resolution

(1) Geostationery satellites (2) Sun synchronous satellites
(3) Both (1) and (2) - (4) None of the above
R § W PF-A1 IUIE ST WS & Wl If¥Td HaRe USH B € |
(1) RrareeeR dearge (2) 99 Riraa
(2) (1) 3R (2) < - (4) 5T & TIg TE
64. LANDSAT, SPOT and IRS are examples of
(1) Geo-stationery (2) Sun -synchronous
(3) Return Beam Vidicon (4) Radars
(1) Rra=eeER (2) A-Risprd
(3) Rest 9m RAfss™ | (4) IER

65. Which of the following sensors are unaffected by atmoshpheric conditions and thus
they are able to penetrate smoke, clouds, haze and snow.

(1) Microwave sensors (2) Radio wave sensors

(3) Infrared sensors (4) Photographic sensors

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(C) ? p.T.0.
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F1 3 & a-a AR argrsea Rafd & s wew @ ok 39 veR ¥ ger, @,
g9 SR 9% ¥ yder R H e § |

(1) AEHgT I~ (2) AT Ie [ARR
(3) TIPS V=R | (4) PERnfhe IR

66. What time is most suitabl for aerial photography?
(1) 9.00 A.M. to 12.00 A.M. (2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 A.M. to 8.00 A.M. (4) 4.00 P.M. to 5.00 P.M.
SRae W & foy ST TR e Suged €
(1) 9.00 AM to 12.00 A.M. (2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 AM. to 8.00 A.M. (4) 4.00 P.M. to 5.00 P.M.

67. What is the range of weve lengths of visible and near infrared radiation spectral
region ?

(1) Wave band of 3-14um (2) Wave band of 5-100 um
(3) Wave band of 5-50 um (4) Wave band of 0.4-3 pm
fafsiaa @ik foe 3=pRs WA Waee d99 & Ja o &1 w7 Vo7 & ?
(1) 99 9% of 3-14um (2) 99 d€ of 5-100 um

(3) 99 J of 5-50 um (4) 99 98 of 0.4-3 pm

68. Which is not the right expianation of the term?
(1) Datum is the reference plane usually the mean sea level

(2) Ground nadir is the piumb point on the ground from the perspective centre of the
aircraft

(3) Both1and 2 are true-

(4) 1is true 2 is wrong

B TH B T8 ReT TE § ?

(1) STH AMaR OR SIRA WS WK BT VBN @ & |

(2) TS AR foam & uRey o= F 999 R <4 @ET 2 |
(3) M 1R 29 &

(4) 198 8 2 Tad ©

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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69.

70.

o1

Which is not the right explanation of the term?

(1) Antecedent boundaries existed even before the cultural elemenis like roads,
villages etc.

(2) Subsequent boundaries came after the cultural elements but il ignored the
cultural elements

(3) 1is true and 2 is wrorig

(4) Both 1and 2 are wrong

@ ot B wd e T ¥ ?

(1) @l ) anfe S wieploes awl | uge o qdad] A Ao o |

(2) adt dmd [ilie adl @ 9q A AfhT g wiwpie gl @ s ovd 7
(3) 198 & 3R 27e &

(4) 29 1 3R 2 7o B

Match the list I (name of scholars) with List II (name of the theory) and choose the
correct answer using the codes given below the list ;

List - I ~ List-1I
A. Mackinder 1. Air power theory
B. Spykman II. Heartland theory
C. A.T.Mahan III. Rimland theory
D. Jones IV. Unified field theory
A B C D
() T o I Iv
2 nor 1 I1v 1
@ I Iv II II

@ IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T. O.
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Cc

@I(ﬁ@?ﬁfﬁﬂmzﬁmﬁ-ﬂ(ﬁmmwﬁ%waﬁaﬁaﬁ??ﬁﬁﬁﬁﬁﬁ@

IS B SHANT G FE TTR T
T -1 - 11
A BefdeR . L 9y uR g
B. wWrsedd 1. srids fgma
C. vé& mm IL Ryds
D. w1 1v:ﬁmﬁg¢h@ﬁ@ﬁf
A B C D
1) I m 1 Iv
2 W I IV I
@ I IV I I
4) IV II I I

Who among the following is not associated with the idea of geopolitics ?

(1) Ratzel (2) Aristotle
(3) Trewartha (4) Kjellen
Pt 3 & a9 Rridifren & Rar @ 78 T 8 2

(1) Yesra | (2) 3w

(3) wrarert - (4) ST
Which of the following is a landlocked state in South America continent ?
(1) Chile (2) Bolivia
(3) Colombia (4) Peru

et % & P e sReT FEE  de wige We @ 2
(1) fereh (2) drefifear
(3) reifrar 4) I

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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73.

74.

75.

Which country control the Suez canal ?

(1) Egypt -. (2) France

(3) Britain _ (4) Consortium of countries
R DA P BT T3 A e & ? |

(1) ¥ ', @ i

(3) faes : (4) <9 F1 \G

Who dictates the following?

Whoever rules east Europe, will rule heartland,
Whoever rules heartland, will rule the world island,
Whoever rules the world island, will rule the world.

(1) Spykman : ‘(2) Mahan

(3) Mackinder ' (4) Ratzel
o I e <@ © 7

A P N TR A A B 2, ardds A A @
S B1E Y Bdels H AT BYAT ® gos a1 H WA B,
S BIE N geS 19 H AR bRl g, v H e |

(1) s (2) T

(3) HpfbeR (4) Yoo

Who among the following have not proposed regionzlization scheme of India
(1) Rao and Bhat (2) V.Nath

(3) S.P.Chatterjee (4) M.S. Swaminathan

e & & e WA @ Ao eE B B SRaifad e fear g

(1) ¥ 3R ¥g | (2) & =

(3) TH. 9. Feal (4) TH. TH. ETHERMA

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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76. Match the list T (name of scholars) with List II (concepté/ theory) and choose the
correct answer using the codes given below the list ;

List-1 List - 1T
A. Perroux L .. Growth Foci
B. Hirschman I1. backwash and Spread effects
C. Myrdal [II. Trickle down and polarization effects
D. R.P.Mishra IV." Growth pole theory
A B C D
(1 I 1m 1 1V
2 or 1 o
3 IV I I I

4) Iv 11 1 1I

AL (Tt & ) B A1 (AR / Rigrn) & a1 da ) ok g & AR Ry W
PIS BT SUANT PP FE IR I -

-1 = - 11
A. R I. T Biers
B. ¥+ II. d%dfer iR BIs shae
C. fasa 1. fiFmar SR iR UeRESYH shae
D. R 4l fAsy IV. UTr gre ey

A B C D
) I I 1 IV
2) M I I IV
@) IV Il I I
(4) Iv I 1 I

—

77. Which of the following is not an example of resource/problem based area
programme ?

(1) The Drought Prone Area Programme

(2) Tribal Development Agency Project

(3) The Command Area Development Programme
(

4) The Hill Area Development Programme

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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e A @ oF FaE /AR SR &S i BT SaleNl 8l 8 ¢
(1) &1 Y997 &5 B
Q) I e TRl dreree
(3) T TRAT RErRT FTHm
(4) uBrS! & faerd HrimA

78. Who among the following have Not worked on regicnal development of India?

(1) Hemlata Rao (2) Ashok Mitra

(3) V.S.Kale (4) V.Nath

e & 1 frem IR @ O faerd R Bl T A g ?

(1) &¥erar w19 (2) orelE o

(3) 4. TH. BT (4) 41 =

79. Which one among the following is Not a rural development programme in India?

(1) SFDA : (2) DPAP

(3) NREP (4) ULBD

o= o @ @ yRa ¥ g ey aded T8 g 7
(1) T¥o Yo Elo To | (2) B0 o Yo bio
(3) THo 3MRo Fo o | (4) o Teio o o

80. Which of the following multi-purpose river valley project in India was developed on

the lines of Tennessee valley project ?

(1) Sutlej river valley project (2) Tungbhadra river Valley project

(3) Damodar river valley project (4) Cavery river valley project

TRA A Ae-ad Uorae § A fraeT e S del diotae a1 el | g o ?
(1) derst Tal deil wrorae (2) TrET T Il Ui

(3) TMIER & Jeit Utde - (4) B T dell droige

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O.
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81.

82.

Match the List I( indices or term) with List II (Symbois) ;

List- I List - II
A. Cyclomaticnumber 1.
B. Etaindex L v
C. Alpha index - I
D. Node IV. «
A B C D

1O I IV I II
@ I 1 II IV
@G 1 I Il IV
4 I I IV I

-1 (3fed srerar <) &1 G-I (Few) & 9 3 @

T - 1 - 11
A. AFARCH L i
B. eI ssad IL v
C. 3TH o I n
D. s V. a
A B C D

1) I IV I I
@ I 1 II IV
@) I I II.IV
4 1 I IV I

Which one of the following is not a transport connectivity measure?

(1) Koning number (2) Route index
(3) Piindex (4) Detours index
T W DIF-9T gUIE Paefdd) HoR T8 & ?

(1) DT F9% | (2) wc ISH

(3) U e . (4) Rex seew

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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83. Which one of the followirg is demersal fish variety/species?

(1) Salmon . (2) Sardine
3) Cod : (4) Herring
$TH 9 DA SHAA Aol [ /uSiiia & 8 ?

(1) e . (2) TR
(3) @re ' (4) 2R

37

84. Arrange the following in descending order according to their size of population in

2015

(i) Bangladesh (ii) Japan (iii)Brazil (iv) Nigeria

(1) (iv)-(iii )-(id )-() (2) (ii)-())-(ik)-(iv)

(3) (iii)-(1)-(iv)-(ii) | (4) (iii)- (iv)-())-(ii)

2015 ¥ SHEET & MBR & AFAR FrfeRad o eRrdl B9 § gafRerd a :
(i) TR (i1) ST (iii) SIS (1v) AgoiiRaT

(1) (iv)-(iii )-(ii )-(3) (2) (i)-(1)-(iti)-(iv)

(3) (iii)-(i)-(iv)-(ii) (4) (iii)- (iv)-(i)-(ii)

85. Match the list I (name of hooks) with List IT (Authors) and choose the correct answer

using the codes given below the list ;

List -1 List - II
A. The nature of geography I. D.Harvey
B. The urban questions II. P.Hagget
C. Social justice and the city II1. R.Hartshorne
D. Locational analysis in geography ~ IV. M.Castels -

A B C D
1) IVv 1 1 I
@ I IV I 1
@ 1 I I IV
4) 11 I IV-1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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WA (Yl @A) GE-I @RIPT) B T A an IR gl @ M R W B @1

SUGNT V& WEl IR G -
& -1

A. & TR i Rt -

B. T 31d+ gdvay

C. |RIT IRed U8 & Rl

D. ded snfofe 57 Rt
A B C D

1) IV 1 1 II

(2) N1 v 1 1

@) I I I 1V

4@ I 1 v 1

86. Consider the following statements;

Assertion (A): Losch's model is less restrictive than Christaller's

T - 11

I. 3o 8@

II. fo &7
[I1. 3TRo ‘IR
IV. THo Sea

Reason (R): Losch treated each function as having a separate range, threshold and

hexagonal hinterland

Answer:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A

(3) A istrue butR is false
(4) A is false but R is true
fFrfeiRaa ol W faar W

B (@) : AT BT Afed fheer @ gor ¥ o9 ufefa 2

A/RY (AIR) : A 7 TIS HRE B P N ol, Ieles IR BRI feexels &

wTH A B

(1). 31 91 3R 1 FEl € 3R 3R 3 B AL AR |

(2) 31 T IR T FWEl & IR 3R 37 B HEl IRl 98 2 |

(3) o WEl B W] AR TG 2 |
(4) &1 AT T IR MR HEl B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)



87. Chain migration is based on;
(1) Job opportunities (2) Kinship
(3) Proximity to place of origin (4) Combination of 1 and 3
o ATSIE ARG B

(1) ISR & TR TN (2) FEEET W

(3) SfT & WH & FAdedar W (4) 18R 3 H FIRE W
88. Which one of the follow'mg do not concerned with migration laws?

(1) Stouffer (2) Reilly

(3) Ravenstien (4) Thompson

T Q@ P A1 e Rl | e T8 8 7

(1) wIHR 2) el

(3) YIRS (4) AaraHA
89. Find out the odd term out of the following :

(1) Central business district (2) Loop

(3) Centralization : (4) Core

farfRad # & faww wreg w1 war &g

(1) s faemw RRgae (2) =

(3) Vg (4) PR

90. C. Harris and E. Ullman have propounded theory of multiple nuclei which is based
on 9 zones. Which zone occupy the heavy manufacturing?

(1) 3rd zone (2) 4th zone
(3) 6th zone (4) 8th zone

o 2R 2R Fo AT T 9 WHI W IR agar MYE & Rigra @1 venfia fear 8
-1 S o fafemior $7 eifdninT wRar g 7

(1) 3rd 5= (2) 4th S
(3) 6th S (4) 8th =

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) P.T.O.
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91. Match the list I (Pass) with list IT (State) and choose the correct answer using the codes
given below the list;

List - I List - II
A. Shipkila . I Arunachal Pradesh
B. Niti pass I[I. FHimachal Pradesh
C. Nathula II. Uttrakhand
D. Bomdila IV. Sikkim

A B C D
M 0 M IV I
@ 0 m I 1V
@ IV I 1 I

(4) IV I II I

AL () B AL (R) @ W A R SR g B AR RY T e @7 SuanT e

el SR g ¢ ‘
-1 = - 11
A. Ry e L 3rUmEd a9
B. ifcr oy '11. fedreret uaw
TR T III. STRIES
D. ard & V. fafdes

A B C D
1M I I IV I
@ I o I v
@ IV I I 1II

4 IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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92. Match the list I (name of Rivers) with List II (Their tributaries) and choose the correct
answer using the codes given below the list ;

List-1 List - II
A. Krishna I. Chambal
B. Brahamaputra II. Indravati
C. Godavari III. Tista
D. Yamuna IV. Bhima

A B C D
1 IV I I 1
@ M IV I I
@ IV I I I
@ 1 IV I 1
-1 (A B =) B A (S AEEd ARl & @ A Y AR @ b AR R
T PIS BT SYANT TS Hal IR G

- 1 - 11
A. ST I =ed
B. s&IgAT . Sarad
C. e 1. foxa
D. IgAT V. A

A B C D
1) IV I I 1
@ I IV I I
@ IV I I I
@ I IV I I

93. Match the list I (type of climate) with List II (region) and choose the correct answer
using the codes given below the list ;

List-1I List-1II
Aw I. Rain shadow zone of Karnatka
Amw II. Thar desert

BShw III. West Bengal and Bihar
BWhw IV. Malabar coast

A B C D

Q@ m v I 1

2 oI I v 1I

@ oI I Iv I

4 o v I 1

M P

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C) ' P.T.O.
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- 1
A. T g
B. T A S&g
C. &I 9. T4 sY

AL (STeary BT YeR) S -] @F) 3 9 A9 B R @@l @ 4R RY T e
SUAN PG Fel IR G

T - 11
FACH BT T TS A+

1. 9R
1. =R 977 3R fasr

D. 91 S« Td. S&] V. AGER RS

A B C D
1M o IV 1 1
@ O I IV I
@ I 1 IV II
4 I IV I I

94. Main reserve of Chromite in India are distributed in :

(1) Bihar

 (3) Gujarat

R # mrAee o1 9w Rerd faaka @ ¢
(1) faer # (2) oifear A
(3) ORI H (4) TSR H

(2) Orissa

(4) Rajasthan

C
Eal

95. Which of the following wood is obtained in the dry region of India, particularly
Karnatka, Andhrapradesh and Tamilnadu?

(1) Ebony
(3) Sal

(2) Sandalwood

(4) Mahua

frefofed 3 @ B0 dod TRT @ T &3 § g @ W R, e eAes, I

gy IR aferg # ?
(1) sar

(3) wre

(2) @eH
(4) wge

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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96. Match the list I (Tribes) with List IT (states) and choose the correct answer using the
codes given below the list ;

List -1 List - I
A. Santhals I. Rajasthan
B. Mikirs II. Anrdaman and Nicobar
C. Jarawas III. Jharkhand
D. Bhils IV. Assam
A B C D
1) Iv I I 1
(2 m v 1m 1
3 I I I v
4 I m 1 IV
-1 (STTerfie) Y <Eh-IT () B e Fer B o A D A R T P b1 9w
RS FEl g
AT - 1 = - 11
A, 9TeIe] [. ISR
B. fafaw II. Siea 3R FpER
C. oRdl Il sIREs
D. e IV. arrH
A B C D
(1) Iv I I I
2 o1 v 1m 1
@ I o ur v
4) I III I1 IV

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)
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g7.

98.

99.

100.

Which of the following are stationary waves?

(1) Swell : (2) Surf

(3) Sea (4) Seiches

fFrfefad # | -3 R a9 8 ?

(1) ¥t : (2) &

(3) ’ (4) dr_

At each place in sea or ocean tide occurs every day after

(1) 12 hours 20 minutes (2) 12 hours 22 minutes
(3) 12 hours 24 minutes ; (4) 12 houre 26 minutes
YR ST AR § Yo E W TES & R 2 §

(1) 12 =2 20 fa=e (2) 124c 22 fiFe

(3) 12EC 24 fame (4) 1282 26 faFe

The process of soil formation is referred as

(1) Orogenesis (2) Pedogenesis

(3) Orthogenesis (4) Cosmogenesis

gl & 7o @ ufthar @1 defia far wmar @

(1) 3IRHR™ (2) USromRiT

(3) U (4) DRI

Which of the following stage occurs when 50% of the total voids and pore spaces are
filled and the remaining 50% is occupied by air :

(1) Field capacity stage . (2) wilting stage
(3) Saturated étage (4) Unsaturated stage

= RO § A -9 T T T WG a9 AR G WH BT 50% R I § iR 9
50% 4T ¥ R ST 7 ?

(1) wies IR = 2) fafeT =<
(3) dges B _ (4) FHgRES R

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(C)



1. Which one of the following statement is not true ?
(1) India has two of the 25 hot spots in the world
(2) China has about 30% of its area under forest
(3) Saprophytes rely on dead animals and plants
(4) Lightening is one of the process of nitrogen fixation in soils
o=t & & B Hoe W T} 2
(1) faza % 25 &fc W 4 ¥ 8 vRa ¥ 2
(2) A9 & U &F BT THT 30% ST B SN ¥
(3) ARTEEE Fa ST &R i or fnfk &
(4) <zl g # AEeree fhaieE &) uftvar § < v 2

2. Match the list I (name of national parks/sanctuaries) with List II (state) and choose
the correct answer using the codes given below the list;

List- I List - II
A. Keoladeo Ghana bird sanctuary [.  Assam
B. Jaldapara sanctuary II. Himachai Pradesh
C. Shikari devi sanctuary III. West Bengal
D. Manas wildlife sanctuary IV. Rajasthan

A B C D
1) IV I 1 I
@ 1 I T IV
@ I 1 IV I
4 I I I IV

@-I(ﬂ@ﬂmﬂ/ﬁmﬁ:{mﬁqﬁ#ﬂ(ﬁﬂ)%wuﬁaaﬁﬂh@%%ﬁﬁ
T BTS BT ITANT B T SR G

T - 1 - 11
A. BIARE T TS A I M
B. STeRURT Haregd 1. feqme ugw
C. Ror < Ao 1. 9&_e &I
D. AR digcsdigh HaaRl IV. ToRIE

A B C D
Q) IV I I I
@ I I 1 IV
@G I 1 IV I
4 I I 1 IV

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D) PO,



3. Which of the following satellites provide global coverage with high resolution

(1) Geostationery satellites (2) Sunsynchronous satellites
(3) Both (1) and (2) (4) None of the above
fAfeifad § ¥ BI9-11 ISuUE o YIeEE & WY ARad have] YaE BRd & |
(1) ERCT= deage (2) & Riw=a |
(2) (1) 3R (2) 3= (4) ¥ @ 218 &
4. LANDSAT, SPOT and IRS are examples of
(1) Geo-stationery (2) Sun -synchronous
(3) Return Beam Vidicon (4) Radars
(1) R (2) F9-RimrTd
3) Rt 9w RAeE (4) 3R

5. Which of the following sensors are unaffected by atmoshpheric conditions and thus
they are able to penetrate smoke, clouds, haze and snow.

(1) Microwave sensors (2) Radio wave sensors
(3) Infrared sensors (4) Photographic sensors
B & R Bl-a1 IR argHed Rafy | swwifi wsar ® @ik 39 ueR 9 g, e,
g IR 9% § JaAY HRT H HeTH € |
(1) #gDIIT AR (2) fsar a9 =R
(3) THHRS T (4) BRI E H=R
6. What time is most suitable for aerial photography?
(1) 9.00 A.M. to 12.00 A.M.
(2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 A.M. to 8.00 A.M.
(4) 4.00 P.M. to 5.00 P.M. X
URIA BIRRMH!. & foly BIF-A1 AHY Fay SUGRT €
(1) 9.00 A.M to 12.00 A.M.
(2) 1.00 P.M. to 2.00 P.M.
(3) 7.00 A.M. to 8.00 A.M.
(4) 4.00 P.M. to 5.00 P.M.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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7. What is the range of wave lengths of visible and near infrared radiation spectral

region ?

(1) Wave band of 3-14um (2) Wave band of 5-100 um
(3) Wave band of 5-50 um (4) Wave band of 0.4-3 pm
fafStaer &R e g=pRs YAvw Waed o & g <t a7 Ty o7 & ?
(1) 99 ¥ of 3-14pum ' (2) ¥9 ¥ 0f 5-100 pm

(3) ¥ ¥sof 550 um (4) 37 §< 0f 04-3 um

8. Which is not the right explanation of the term?
(1) Datum is the reference plane usually the mean sea level

(2) Ground nadir is the plumb point on the ground from the perspective centre of the
aircraft

(3) Both 1 and 2 are true
' (4) 1listrue2iswrong

S TH B AL AR TE & ?

(1) STH MR TR AT FHE WR BT G @ 8 |

(2) TS TR o & oRey 3 @ o R w9 @rge 2|
(3) T 13k 29 2

(4) 198 82 Tod ®

9. Which is not the right explanation of the term?

(1) Antecedent boundaries existed even before the cultural elements like roads,
villages etc.

(2) Subsequent boundaries came after the cultural elements but it ignored the
cultural elements

(3) 1listrue and 2 is wrong

(4) Both1and 2 are wrong

BIF H &) [l I TE § ?

(1) oo, wifal anfd Y i aw@t ¥ geer A qdadt @ Ao off |

(2) SrgacH MY AiReplerd Tl @ T8 M Wfh Ug WiRplos awl B S AT B
(3) 18" 8 &R 2 77ere ©

(4) T 1 &R 2 ToIg &

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D) - P.T.O.
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10. Match the list I (name of scholars) with List II (name of the theory) and choose the
correct answer using the codes given below the list ;

List -1 List - II
A. Mackinder 1. Air power theory
B. Spykman II. Heartland theory
C. AT.Mahan I Rimland theory
D. Jones IV. Unified field theory

A B C D
M IO m I IV
@ I I IV I
@G I IV I II
@ IV I I I

Tﬁrlﬁaﬁéﬂm aﬁ@pﬂnﬁrmaﬂﬁm)%wmﬁaaﬁaﬂ?@a%?ﬂ%ﬁﬁ@

IS B SUANT PRD Fel IR G
T -1 - 11
A. Fofher I oy ureR Rigrd
B. g II. scdts Rgra
C. T & 579 1. Redis

D. WA V. gFwEe Bes g
A B C D

1 I°m I IV
@ M I IV I
@ 1 IV I II
4 IV I I I

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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given below the list ;

List - I
A. Shipki la
B. Niti pass
C. Nathula
D. Bomdi la

A B C
(1) I 1m 1v
@ U m I
@ Iv 11 1
(4) IV I 1II

IL.

III.

IV.

D
I
v
III

1

List - II

Arunachal Pradesh

Himachal Pradesh

Uttrakhand
Sikkim

5

11.  Match the list I (Pass) with list IT (State) and choose the correct answer using the codes

AL ([r) B G-I () B A1 Ao e iR gl @ AR RY T @re @7 SwinT o

el IR g
L -1

A. Rrepy &

B. Hifa 91

C. e

D. drs) o
A B €
(1) I 1 1v
@ I m I
@) IV I I
4) IV I 1II

D
I
IV
II
I

[. 3r5UTad yeyl

1. fR9rae uewr

I STRREe

V. fafps

P.T.O.



6 | D
12. Match the list I (name of Rivers) with List II (Their tributaries) and choose the correct
answer using the codes given below the list;

List- I List - II
A. Krishna I. Chambal
B. Brahamaputra II. Indravati
C. Godavari III. Tista
D. Yamuna IV. Bhima

A B C D
1) IV I 1 1
(2 O 1v. I 1
@G Iv I 1 1
4 I IV TI I
AL (et @A) @1 -1 (ST e i) B 9 S o R gl B AR Ry
T BIS P IUAN FG Hel SR g

- 1 - 11
A. FOT L a=d
B. #&Igan 1. ggrac
C. TEE ML foar
D. Il IV. 9

A B C D
(1) IVv I 1 I
@ I IV I I
@ IV I I I
@ 1 IV I I

13. Match the list I (type of climate) with List II (region) and choose the correct answer
using the codes given below the list ;

List - I _ List - IT
A. Aw I. Rain shadow zone of Karnatka
B. Amw II. Thar desert

C. BShw III. West Bengal and Bihar
D. BWhw IV. Malabar coast

A B CcC D

a v 1 I

m 1 IV I

I I IV 11

Im v 1 1

P T T e i
[3e)
R

N

‘M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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A1 (ST BT FER) B A @) B e A R ok ad B A Ra e
SYANT PP T IR A -,

-1 = - 11
T S L PAlced BT T ST o
T. . S, 1. IR IR

LT T sey, L SRe 9 @ik fAER
. 4l S&, TAL S TV, AR BRe

A B CD

QM I IV 1 1

@ O I IV I

@ I I IV II

4 I IV I I

o N w »

14. Main reserve of Chromite in India are distributed in :

(1) Bihar | (2) Orissa

(3) Gujarat '- (4) Rajasthan
YRd ¥ HERE BT = ﬁrrﬁi foafRa 2 -

(1) feer (2) shfew &
(3) TowTT H (@) TSR

15. Which of the following wood is obtained in the dry region of India, particularly
Karnatka, Andhrapradesh and Tamilnadu?

(1) Ebony (2) Sandalwood

(3) Sal (4) Mai’lua \

fFrfafeT & | B0 Tesl TRT B gp & F g B o 8, PG BAed, o
ge¥l 3R dfferg # ?

(1) = (2) da

(3) < (4) wgam

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P-T. O,
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16. Match the list I (Tribes) with List II (states) and chcose the correct answer using the
codes given below the list ;

List-1 List - IT
Santhals I. Rajasthan
Mikirs II. Andaman and Nicobar

Jarawas III. Jharkhand

o 0w »

Bhils IV. Assam
A B C D

(1) Iv. . 1Ir m 1

(2 I v 1 I

@ I 1o o wv

4 I 1m 1 v

-1 (SSTIerdl) o - (RT) & |1 7 BN 3R G @ A Ry W e @1 Swm

W@‘E?T ﬂe[
T - 1 T - 11
A, 9rerd I. YoRI™E

B. fafex II. 3feq iR aEr

SRAT III. sIREs
D. e IV, A
A B C D
1N IV I 1o 1
) Il IV I I
3 I I 1 IV

4 I 0O 1 1v

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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18.

19.

20.

Which of the following are stationary waves?

(1) Swell (2) Surf

(3) Sea (4) Seiches

frforlRed § | I3 W 99 & ?

(1) = ) %

(3) @ | () dow

At each place in sea or ocean tide occurs every day after

(1) 12 hours 20 minutes (2) 12 hours 22 minutes
(3) 12 hours 24 minutes ‘ (4) 12 hours 26 minutes
TS AT AENIR H IS S8 W TISS & o BT @

(1) 12 &< 20 fAse (2) 12 22 fime

(3) 12 24 fase (4) 1292 26 fime

The process of soil formation is referred as

(1) Orogenesis ' (2) Pedogenesis

(3) Orthogenesis (4) Cosmogenesis

S & o1 B ufhar o1 wWefta frar smar 2 -

(1) IRHRTE (2) YoM

(3) smertoER (4) RECHRE

Which of the following stage occurs when 50% of the total voids and pore spaces are

filled and the remaining 50% is occupied by air :
(1) Field capacity stage (2) wilting stage

(3) Saturated stage (4) Unsaturated stage

Pt oot ¥ ¥ BT B ¥ o W as SR OR R BT 50% R S § sl 9

50% BaT W WX ST & ?
(1) wice HURTE o () fafeT ®'w
(3) dgRTs WA (4) IrTHYTS RS

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)

P.T. O.
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21. Rocks having vertical strata are easily loosened and broken down due to the process

of

(1) Oxidation (2) Bio-chemical weathering

(3) Temperature changes (4) Chelatian

SIgad ORI dTell gEe AT A Srefl 8 Wil § iR <2 ol ®, 39 ufdhar & dR
(1) sifeireeT (2) Ia-HFEa Jafar

(3) dmHE H uRadH (4) freres

22. Which of the following dunes are formed by ineffective winds along the coasts and
margins of deserts?

(1) longitudinal dunes

(2) Transverée dunes

(3) Barkhan dunes

(4) Parabolic dunes _

frr=forfaa & & fow sz @1 Fmior act ofR st & 7 & e =em arel srrd)
B & HROT BT B 7

(1) <~TegfeTa s34

2) T g
(3) W §g™

@) REfTs S

23. Match the list I (The end product of normal or fluvial cycle of erosion) with List II

(Geomorphologists) and choose the correct answer using the codes given below the
list ; '

List - I List - IT
A. Peneplain [. A.C.Lawson
B. Pediplain H. LC. King
C. Panplain III. C.H. Crickmay
D. Panfan IV. WM. Davis
A B C D
1) IV II I I
2) I I m v
@ I I I 1V
@4 IV I Il 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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AL @R @ WHRY A7 sqeriid 9 @1 i Sere) B ekl (Reemsitne) @
1 A B SR A B MY A W P B SwIT gxe TE TR G

- 1 = - 11
A, ufFes L U9 da
B. ufSw I uet AL
C. e I 4. w3, fhaw
D. 9% Iv. a'q T, e
A B C D

1 IV I I I
@ 1 I 0 1V
@G m I I 1
4 IV I 1 I

24. Match the list I with List IT and choose the correct answer using the codes given
below the list ;

‘List-1I List - IT
A. Medial moraines I The material dropped at the end of a valley glacier
B. -Ground moraines  II. The material dropped at either side of a glacier

C. Lateral moraines III. Deposition of glacial till along the internal margins
of two glaciers at their confluence

D. Terminal moraines  IV. Deposition of glacial till at the floor of a valley
A B C D
M I oI oIV
2 I 1 IV I
@) IV I I I
(4) II Iv. I 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P. T.O.
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 EHL D - S AR A Y AR A B A RY T Pl B SUART aee adl SR g

Tq - 1 " [ - 11
A. Afeas ARA [ 9 WRRR & o  # ARrg T |rsh
Ireve AR I RRR & A avw AR T
C. olerd ARA Ol Ju9 W R 3T oRRR & oiaRe 7ife @ e
ORRR &1 feuiforem
D. cfifFa dR= IV, & T § dd W TR a7 feuifieE
A B C D |

QM I I I IV
@ I II IV I
@) IV II I I
@ IO IV I I

25. Match the list T (Metamorphic rocks) with List II (Original rocks) and choose the

correct answer using the codes given below the list ;

List -1 List - II
Gneiss I. Sandstone
Marble II. Shale

Quartzite III. Granite

o0 W o»

Slate IV. Limestone
A B C D

(H) I I v I

2 Iv. 1 I 1

3 I v I I

4 I O I 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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<A1 (eTis W) B AL R ) B e de Y ok < B A Ry M

BIS B SUANT HRD e SR A

T -1 = - 11
A. | [ dseH
B. #Hd& S I 3
C. qRwIEe -~ i, DEIET
D. Wi IV. dgAREM

A B C D
(1) I IO Imv I
2) IV III I 1
@ m v 1 1
@1 1o m v
26. The earth is rotating on its axis is established by the fact that

—

(1) The moon and stars move in the sky

(2) The earth experiences day and night

(3) The planetary winds are blowing

(4) The time in different parts of the earth is not same
el ol N1 R W <E B, qE 9 qed W nfid gan o
(1) == 3R AR e A gE § |

(2) gedt f& 3R T &7 99T B 2|

(3) wiveX &aT¢ St B |

(4) yedl & faft=1 fevat o vy wr =) 2

27. The gradient of highly meandering river is ranges between

(1) 20cm to 10 m per km (2) 20 cm to 15 m per km

(3) 20 cm to 20 m per km (4) 20 cm to 25 m per km
e gATIER T4 B @t e & g X 2

(1) 20 ¥¥Io | 10 o ufy fHHo (2) 20 IHlo & 15 Ho e fFHo
(3) 20 o J 20 Fo Ry Redto (4) 20 o ¥ 25 Fo wRY Frdio

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)

P.T. O
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28. Consider the following statements and select the correct answer from the code given
below;

Assertion (A): Fjords are the features produced by glacial erosion

Reason (R): Glaciers descending from coastal mountains may reach the sea and
continue their erosion on sea floor '

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A is true but R is false

(4) A isfalse butRis true _

freifofiaa wemt W e w &R 9 Y T P ¥ Sugw S A ¢
B (3) : B TORRR &RV (AR S Rewart ¥ |

BRU @R) : TET GETSl W IaRA A ORRR R 06 UEd Wed € R WYE 9o W
YT &ROT TN TG HHA § |

(1) 31 AT AR IFI FET § AR AR 37 B &) ARAT 2 |

(2) & AT IR Al FE T U AR A B FE ey TE R
(3) & W& © R IR AT ¥ |

(4) 31 T & TReg AR G ¥ |

29. Which of the following laver reflect very high frequency radio waves ?

(1) Elayer (2) Flayer
(3) Sporadic E layer (4) Glayer
e & | P R 98d I2d Mgy e axt @ uffdfea wwdy @ ?
(1) 3 = (2) TP R
(3) WRfEH § uRd (4) i u=e

30. Aurora Borealis is produced in :
(1) Ionosphere (2) Exosphere
(3) Mesosphere | (4) Stratosphere
IRRT SIRToRT g7 S &erm B
(1) rgARmaR Q) TERRTIR
(3) FRIRwR @) BoRmR

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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31.

32.

Match the List I( indices or term) with List I (Symbois)

f

List - I List - IT
A. Cyclomaticnumber [ p
B. Etaindex - IL v
C. Alpha index - I n
D. Node = IV §
A B C D

1) I IV II I
@ 0 1 I IV
@ I I I IV
@ I I IV I

- (3w e &) @1 -1 (Rrew) @ e e

-1 - 11
A. dETAAfes g L
B. g1 §SaN B S A
C. 3cHT sSH I n
D. s IV. o
A B C D

M I IV I I
@ I I I 1V
@ I I . Iv
4 1 I IV I

Which one of the following is not a transpbrt connectivity measure?

(1) Koning number (2) Route index
(3) Piindex (4) Detours index
T W P AR Bl SoR e ® ?

(1) BIfFT 7R . (2) < s

(3) ¥ s 4) R 7

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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33.

34.

35.

Which one of the following is demersal fish variety/species?
(1) Salmon | (2) Sardine

(3) Cod (4) Herring

T 9 - S Aol e/ onfy @ & ?

(1) Fa¥ = : (2) ESIEA

(3) @fs @) 2R

Arrange the following in descending order according to their size ‘of population in
2015 '

(i) Bangladesh (ii) Japan (iii)Brazil (iv) Nigeria .

(1) (iv)-(iii )-(ii )-(i) (2) (ii)-(i)-(ini)-(iv)

(3) (iii)-(1)-(iv)-(ii) (4) (iii)- (iv)-())-(ii)

2015 7 ST & AR W AR F=feRad o1 areRid) w9 A syaRed &
(i) IR (ii) SA (i) Al (iv) TEeiiRan

(1) (iv)-(iii )-(ii )-(3) (2) (ii)-(i)-(i1i)-(iv)

(3) (iii)-(i)-(iv)-(ii) (4) (iii)- (iv)-(1)-(ii)

Match the list I (name of books) with List II (Authors) and choose the correct answer
using the codes given below the list ;

List-1 List - II
A. The nature of geography I. D.Harvey
B. The urban questions II. P.Hagget
C. Social justice and the city III. R.Hartshorne
D. Locational ahalysis in geography  IV. M.Castels

A B C D
(1) IV I 1 I
@ I IV I 1
@ 1 I II IV
4 I I IV I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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@—I(Wa%?m)ﬂ;ﬁ-ﬂ(ﬁ@aﬁ)ﬁmwﬁaﬁaﬁvwﬁzﬁﬁﬁﬁ@maﬂ
T -1 A - 10
A. T TR 3ife Rahm) L 3wl
B. < 3T qvad II. Qo &Te
C. 9 SiRew o T ) III. 3o B+
D. hIEe FiRRT 59 BRI V. o dvd
A B C D

M IV I I II
@ HO IV I 1
@ I I ur v
(4) II 10 1V 1
36. Consider the following statements;
Assertion (A): Losch's model is less restrictive than Christaller's

Reason (R): Losch treated each function as having a separate range, threshold and
hexagonal hinterland

Answer:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A s true butR is false

(4) A is false but R is true

f=fead womt w faar &

ABAT (@) : AT BT HAsel fveer B qor ¥ B9 ufaealg 2

PRI (IR) : A T GAD R B TH e o, eGSR e foeexdts @
wUH A T

(1) &1 AT IR 4 FE & 3R AR o 3 & TR |

(2) o1 TAT IR T WE B U IR I B T gReT S |
(3) ¥ Wl 2 WK AR oA & |

(4) o Ter & TR TR GE R |

L]

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P.T.O.
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37. Chain migration is based on;

(1) Job opportunities , (2) Kinship

(3) Proximity to place of origin (4) Combination of 1 and 3

T AGYTA AMERT ¥ '

(1) ISR B TR W (2) \EET W

(3) SRy & WM & feear W (4) 1R 3 & FIoH W
38. Which one of the followirig do not concerned with migration laws?

(1) Stouffer ' (2) Reilly

(3) Ravenstien (4) Thompson

T N B T R P ddfe i g 7

(1) ®wx | (2) - e

(3) YaTeeTEd (4) oI
39. Find out the odd term out of the following :

(1) Central business district (2) Loop

(3) Centralization (4) Core

fr=foriRaa # & faws wreg &1 gar oy -

(1) dza e SR (2) <@

(3) WrgerEurer (4) PR

40. C. Harris and E. Ullman have prepounded theory of multiple nuclei which is based

on 9 zones. Which zone occupy the heavy manufacturing?
(1) 3rd zone " (2) 4th zone
(3) 6th zone (4) 8th zone

Hlo 2RA AR So I 1 9 THI W ameRa gl T & R &1 <enfia fear 21
BIH-AT S gor fafsater a1 T e § ?

(1) 3rd S . (2) 4th 5=
(3) 6th S+ (4) 8th &

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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41. Temperature between 24 and 30 degree centigrade, rainfall above 200cm, well
drained deep fertile soils is ideally suited to which of the following crop :

(1) Tea (2) Wheat
(3) Sesame (4) Corn

24 3R 30 & AERe & 7 &1 AUEE 200 Fo B B 9T, e AE QA TEN IYSTH
gt smeel wu W FEfaleT fow wae @ forg Soges ¥

(1) = () T}
(3) fre 4) B
42. Which one of the following is not producer of Rubber ?
(1) Tripura (2) Karnatka
(3) Bihar (4) Tamilnadu
7 & | ®19 eR BT SRS TE € ?
(1) Prger (2) Pfed
3) fEr (4) aferrg
43. What is the approximate share of Agriculture in nati.onal GDP of India ?
(1) 15% (2) 20%
(3) 25% (4) 30%
HRT & ML SfL S W F B a1 srAe SRR gar § 2
(1) 15% (2) 20%
(3) 25% (4) 30%

44. Mollasse and bagasse are the bio-product of

(1) Rubber industry (2) Sugar industry

(3) Cotton textiles industry (4) Japrota oil industry
HON R S ar-ede 7

(1) =X g% @ (2) TR K &

(3) Bicd THATTEA TS Pl (4) SRR OF S BT,

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D) - P.Y. O,
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45. Match the list I (name of crops) with list I (scientiiic name) and choose the correct
answer using the codes given below the list ;

List -1 List - II
A. Rice I. Pennisetum Typhoides/glaucum
B. Barley II. Oryza sativa
C. Jowar III. Hordeum vulgare
D. Bajra IV. Sorghum vulgare

A B C D
1 I m o Iv
@ I IV I I
(3) I I v I =
4) I IV I II

- (FEa & ) ﬁ?ﬁﬁﬂﬁﬁﬁ?ﬁﬁﬂ)ﬂ#ﬁ@lﬁ*ﬁﬁ&ﬁ?iﬁr%?ﬁ%ﬁﬁmﬁm
BT IYANT TS Fel SR G

T -1 L - 11
A. TFA I. URICH CISBIISY / Taled
B. St II. RIS Fergdl
C. SR 1. gifdam gair
D. qRRT IV. IREA gaRR

A B C D
QM I m I IV
@ I IV I I
@3 I I IV I
@ I IV I II

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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46. Which one of the following technique is most suitable to study spatial pattern of
settlements

(1) Nearest neighbour analysis

(2) Z - test

(3) Factor analysis

(4) Residuals from regression

FfaRed # & BH- qaeie Aeaic & WRH e & s & g we-t SwyEm §
(1) Fecan TR AT

(2) Te-xe

(3) BacR srIferRT

(4) YSiregee wiHA R

47. What is the range of correlation coefficient ?

(1) Infinite 2) Oto1 _
(3) -1to+1 (4) None of the above
BRI BT SR o w7 ot & ?

(1) srefaa 2) 09 1

(B) -19 +1 4) 379 | BIg TE

48. The range of Nearest neighbour analysis (NNA) varies between 0-1-2.15? How 0 is
interpreted in the NNA?

(1) Absolute agglomeration/concentration
(2) Random distribution

(3) Even distribution

(4) Compact distribution

fdead Jar AR (T, U9 @) @1 ¥ 0-1-2.15% &9 &1 U9, T, U F 0 9 e
D B T B ?

(1) vsAIege WARIM / Brige
(2) Yeu fewiiegem

(3) A e

4) orTe Rigee

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P.T.O.
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49. Match the list I (name of scholars) with List IT (methods/techniques) and choose the

correct answer using the codes given below the list ;

List -1
Ashok Mitra
King and Dacey

GK. Zipf

¥ 0N s

M. G. Kendal

A B C D
(1) I I IV I
) I IV 1 1
3 Iv 1 1II I

@4 I I I IV

List - II

I. Rank size rule

1. Ternary diagram

~ III. Ranking method

IV. Nearest neighbour analysis

-1 R @ 9) B T A-11 R /aee) & 9 30 & R gl @ R Ry ™

P BT IUINT TS el IR g

T - 1
CRICREE
BT ik S
i @&, fRores
TH. Sl ded

A B C D

o 0w »

1) m 1 IV I
@ I IV 1 II
@) IVv I 1 I

4 I oI 1 IV

A - 11
I. & 99 S
II. TSI 3RY

1. e e

1V, feedd R TAfaRi

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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50. Consider the following sta temen{s;
Assertion (A): Ginni coefficient is a measure of inequality
Reason (R): Range of G varies between 0 and 1
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) AistruebutR is false
(4) Ais false butRis true
= poAl ) faar a
it (a) @ e SIUBRITT 371 gaanfdd) @1 am 2
PRI (HR) : S BT 0:MR 1 B 99 &
(1) 31 &7 IR AT T & 3R 3R 3] ) JE) AR 2 !
(2) 31 AT R TN [ & U AR I B FE AR FE) B
(3) 31 el § UG AR AT &
(4) 3 T T IR AR HE B

51. International map projection is a modified

(1) Cylindrical projection (2) Policonic p]"ojeclion
(3) Zenithal projection (4) Mercator's projection
IR AY YITaH & U IR - :

(1) Ricifgra doreH (2) diel®IfTs U
(3) Sifvrera wrorae™ (4) FARBER WIOTaer

52. The correct sequence of the given parts of electromagnetic spectrum in terms of their
wave length is

(1) Ultraviolet-visible-gamma-infrared-radio

(2) Gamma-ultrvoilet -visible-infrared-radio

(3) Gamma-radio-infrared-ultraviolet-visible

(4) Visible-ultraviolet-Gamma-infrared-radio

o g @ el A Rigga g Wagw & RY Ty Rt o w@dl argee f
(1) srerdfee — QftEer — T — s9hRS — YR

(2) T — I ERAE — AfTEe — IR — NfoTae

(3) TF — AT — TWRS — AceEiTae — AT

(4) ARTEA — IregTARIIT — T — TFHRS — AT

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P.T.O.



24 D
53. Which of the following projection is suitable for diamond shaped countries?
(1) Mercator's projection |
(2) Mollweide's projection
(3) Bonne's projection
(4) None of the above
=1 geTor § FBI-A1 € & AR qrel I B Y Uy @

(1) FR&e Yrorags™

(2) #lTarss UIoTdRT
(3) SIF WIoTaRr
4) T | BE TR

54. Match the list I with List II and choose the correct answer using the codes given
below the list;

List -1 List - 11

A. Hypsometriccurve 1. Population age sex diagram
B. Hythergraphs II. Spatial travel time diagram
C. Isochrones III. Elevation/depression ratio diagram
D. Pyramids : IV. Ciimatictdiagram
A B € B

M I o IV
@ m IV 1 I
@ M IV I I

@ v I 1 1
AL BT G-I S 1 Het B 3R G & A Ry T BT BT I wRe FE SR G

& -1 T - 11
A. Rwmfcs &d I Sde oy fofft e
B. f&Reumw II. WR¥Re gad <9y NG
C. oS 111, ferae / feuer Bry v
D. fuxifae IV. FATSHCd IR

O I T W IV
@ O IV I I
@) M IV I I
@ IVv m I 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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95. Which of the following pair is not properly matched?

56.

87.

(1) Rotameter-used for measuring distances on maps

(2) Plainimeter - used for measuring areas on maps

(3) Pantography - used A — maps

(4) Ediograph - used for measure volumes

e & B0 I A T8 @

(1) Jerier — T R & 799 @ forg wanT fvar s @

(2) ©FeR — a9 R &= @Y WU B g v R oar @
(3) USHUTHT — AR BT HH A B o0 YT R e R

(4) SRS — SR AICY & forg wainT frar S

Which one of the following is not a zooplankton?

(1) Copepod (2) Flagellate
(3) Euphausid (4) Pleuston
o1 § 9 B Setiae & & ?

(1) @mdfs (2) TR
(3) gwiRrs (4) wg¥red

Epiflora and Epifauna are

(1) Pelagic species (2) Benthic species

(3) Nekton species (4) None of the above

(1) ffores onfa | (2) ¥R Sy
(3) Wper iy 4) T8 | PIE FE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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58. 'Baobab species is the only significant tree from Senegal to Tanzania'. This statement

refer to which of the following biome :
(1) Savana biome (2) Monsoon biome

(3) Tropical evergreen forest biome (4) None of the above

IRMETE YT AT A AT TF (A Al e g U8 sed Frefafed fea

(1) \arT 9 (2) AR arE
. (3) ciftse Taii| BT I (4) 379 & I8 &I
99. Match the List I( Grasslands) with List II (Countries);
List - I List - II

A. Pampas I.  South Africa

B. Pustaz II. New Zealand

C. Canterburry [II. Hungary

D. Veld IV. Argentina

A B C D
1) 1 IV I I
@ 0 I I IV
@G 1 1 IV
@ IV I I I
- (IRITE) &Y gA-11 (S9) B AT Hef DY

3 - 1 @ - 10
A. TR [ T3 nraT
B. AN II. =goiele
C. deEd 1. &8
D. IS IV. =T

A B C D
M 1 IV I I
@ I 1 I IV
@G 1 o W IV
4 IVv II T I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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Find out the odd among the following;

(1) Lianas (2) Epiphytes

(3) Arboreal (4) Vines

et & ¥ v s @

(1) fergmma (2) Ufwrge

(3) s (4) a4

Who among the following is not associated with the idea of geopolitics ?
(1) Ratzel (2) Aristotle

(3) Trewartha (4) Kjellen

et 3 ¥ B Rrniiffeed & Ram =81 oo § ?

(1) Yerer (2) srvwq

(3) rarer (4) et

Which of the following is a landlocked state in South America continent ?
(1) Chile (2) Bolivia

(3) Colombia (4) Peru

Fre i W 3 wrey sPRer W ¥ ds dfee we & ?

(1) el (2) drfifaan

(3) retfraa 4) U

Which country control the Suez canal ?

(1) Egypt (2) France

(3) Britain _ (4) Consortium of countries
WS AT BT BT 37 IR e ¥ ?

1) hre (2) wiw

3) fes (4) <o @1 HY

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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64. Who dictates the following?
Whoever rules east Europe, will rule heartland,
Whoever rules heartland, will rule the world island, .
Whoever rules the world island, will rule the world.
(1) Spykman (2) Mahan
(3) Mackinder (4) Ratzel
] I ST ST © ?
ST BTE N IR H AT BRAT B, FIEAS H WA B,
ST B1g A BTdele # WA BRAT € des B9 H AT B,
ST Bls Al 9 gIU H AT dRal &, v # e e |

(1) wngai (2) wEr
(3) FofrsR (4) Yeua
65. Who among the following have not proposed regionalization scheme of India
(1) Rao and Bhat (2) V.Nath
(3) S.P.Chatterjee (4) M.S. Swaminathan
e #  fhae R @ AUersoed Wi B gRarfad T8 fhar € ?
(1) %@ 3R w7 @ @
(3) Ta. a. aETyﬁ (4) TH. UH. WHIARA

66. Match the list I (name of scholars) with List II (concepts/theory) and choose the
correct answer using the codes given below the list ;

List - I List - I
A. Perroux I. Growth Foci
B. Hirschman II. backwash and Spread effects
C. Myrdal III. Trickle down and polarization effects
D. R.P.Mishra IV. Growth pole theory

A B C D
) I m I IV
@ I I 1 IV
@) IV II I I
4 IV I 1 I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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W—I(ﬁ@ﬁ%w)aﬁqﬁ-ﬂ(&aﬁ/ﬁ?@ﬁzﬁwmﬁaaﬁaﬁ?qﬁ%ﬁhﬁ%ﬁw
IS BT SWANT RSP FE SR G -

= - 1 T - 11
A. IR L WY B
B. & L dodmw ek W sowe
C. s« 1. fewd S 3R dleREoY shae
D. R 4. s IV. MY Uit a1

@ IV I I I
@) IV I 1 II

67. Which of the following is not an example of resource/problem based area
programme ? |

(1) The Drought Prone Area Programme

(2) Tribal Development Agency Project

(3) The Command Area Development Programme

(4) The Hill Area Development Programme

et o & o1 e/ e smeiRa 8 SRiET BT Sk T8 8 ?
(1) @1 9qoT &5 HRiHH

(2) wrEae AT goRkf doe

(3) @S TRar famr wrisn

(4) yBTS! &7 fAera sriwmy

68. Who among the following have Not worked on regional development of India?

(1) Hemlata Rao (2) Ashok Mitra
(3) V.S.Kale (4) V.Nath

=1 % <7 fFem IRa & Sora Rem ® a1 =78 fwn £ 2
(1) e <@ (2) s e
(3) 41 . Bt (4) o). S

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) BT
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69.

70.

71.

Which one among the foliowing is Not a rural develepment programme in India?
(1) SFDA (2) DPAP

(3) NREP (4) ULBD

Fost A 21 ar sRa @ uriiv o eris =181 8 °?

(1) o ¢Ho Slo Yo (2) o Qo To Yo

(3) U¥io 3[Ro So Yo (4) Yo Ucto Flo Eo

Which of the following multi-purpose river valley project in India was developed on

the lines of Tennessee valiey project ?
(1) Sutlej river valley proiect (2) Tungbhadra river Valley project
(3) Damodar river valley project (4) Cavery river valley project

e H T Fedl-udy giorde H et e S 39 aioige @ Amren H gam o ?

(1) mes 7 delt groiae (2) e 9 dell diotde
(3) THIER T4 dell urerae (4) ST T de drorae

Sub polar low pressure beits are located between

(1) 50°- 55° latitudes N-S hemisphere

(2) 60° - 65° latitude N-S hemisphere

(3) 30°-45° latitude N-S hemisphere

(4) 45° - 55° latitude N-S hemisphere

I gAY FH GG ICT §0 4rg R T

(1) 50°- 55° WfeTgE N-S eHIREAR

2) 60° -65° ARTTE N-S TRwaR ' '
(3) 30°-45° @feeys N-S gHIRmIR

(4) 45°-55° Wfeegs N-S eHIRwIR

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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72. Match the list I (winds) with List IT (countries) and choose the correct answer using

the codes given below the list ;

List-1I List - IT
A. Sirocco I.  Spain
B. Salano II. Libya
C. Khamsin | III. Sahara
D. Gibli IV. Egypt
A B C D

1) O I IV I

@ 1 I I IV

@ Iv m o 1

@ o m 1 1V

A1 (&) B AL (39) & AT A B SR G B AR A T B BT Swun o

e IR g
-1 = - 11
A. fRraen L &+
B. Qe 1. fafear
C. @HRy 1. \ERT
D. fireh Iv. $hre
A B C D

(1) WM 1 IV 1
@ I I m 1v
3 IV I U 1

4 I m 1 1

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P.T.O.
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73.

74.

Consider the following statements; '

Assertion (A): Fogs are more widespread over oceans

Reason (R): The oceanic fogs are generally advectional in nature
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue butR is false

(4) A isfalse butRis true

AMHAT (37) : FERAFRI TR BIE AfS ATd 2 |

HRY ($R) : AR & DN ¥ AR R G # fhareis g € |
(1) 31 T AR SEI A AR MR o BT FE A= 2 |

(2) 3 AT AR IFT FEl U= AR 3 B TEY AR & 2 |

(3) 31 el & U AR TToAd &

(4) o T & U] IR el B

Consider the following statements;

Assertion (A): Anticyclones are systems of high pressure surrounded by low pressure
Reason (R): A cyclone is iow pressure system of isobars with lowest pressure at the
centre and pressure increasing in all the radial directions

(1) Both a and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A istrue but R is false

(4) A is false but R is true

freferiad wol w faar @

DB (31) : VAT HF <d1d W BR Sod gard arell aF © |

PBRYT (IR) : TH Fhard AGAER B G g9 arell o & orad b § a8 $H <d[q
BT & IR W 7er feemsit # <9 ggar 2

(1) & o7 IR SF1 981 & &R o) o o0 O wurey &1

(2) & AT AR ST FE B IR AR I B FE AR FE B |
(3) 3 WEl & W] IR THAd &

(4) & TG © IR AR FE B

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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75.

76.

33

Match the list I (ocean currents) with List II (coasts) and choose the correct answer
using the codes given below the list ;

List- I List - 11
A. Florida [.  Spain and Azores
B. Gulfstream II. West coast of south Africa
C. Canary III. South-east USA
D. Beneguela IV. Grand Banks of Newfoundland
A B C D

1) oI v 1 1

2 I I I Iv

@G M o I 1V

(4 IV I IO 1
W—l(ﬂgﬁﬂuaﬁ)aﬁqﬁ-n(aﬁ)fﬁwaﬁaaﬁaﬁ??ﬁﬁa%?ﬂ%{%&@mww
Wﬂ@%‘ﬂ'\’f\ﬁ

-1 T - 11

A. TATRST L 3R eeiRd

B. To®6 &M I 9RE RS iTF ATSY AT

C. & III. HSY-8%€ 3, TA. T

D. dfguen V. ¥ d& oifft Yweeds
A B C D

1 I v 1 1
@ I I I Iv
@G m I I 1V
@ IV I U I

Which of the following is an area of steep slope extending just after the continental
self ?

(1) Continental slope (2) Ocean deep

(3) Sea plain (4) Oceanic ridges

T W BT Bifericed Web & a8 RARaRd & arell W& wl1g 37 &85 2 ?
(1) difesicd g (2) e v

3) & = (4) shwife Row

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P.T.O.
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17,

78.

79.

Which of the following statement is false?

(1) Salinity controls evaporation

(2) Onan a?erage ocean surface water temperature is 26.7 degree centigrade
(3) The average salinity in the seas and oceans is 35%

(4) Red sea has high temperature in the south due to high evaporation
=R & 1 ®iF-a1 P o § ?

(1) orQurar ardiamReT b a3 ewar 2|

(2) ST W B TAE TN BT aIgEE 26.7 fR IR 2ar ¥

(3) wHal 3R TETRI & &g ofgvrar 35% & |

(4) Sog RO B HROT ST H Ye W § S q1uEE g f

Which of the following statement is true?
(1) Kimbal has classified the oceans according to salinity
(2) Dead sea is the most saline water body on earth

(3) The maximum salinity in the southern part of the Indian Ocean is found in west
of Australia due to dry conditions

(4) 80% of the water in the oceans has a temperature permanently below 55 degree F

fr=feiad & & SIF-91 HuT W ® ?

(1) fraer 7 Squien & AR FETARRY &7 qiffawor faar 2 |

(2) &Rl R T A I AP TGO Il ST SN B |

3) = HENIR & <feroll & % waifs deorr g aRRufal & aro sefemn &
uf¥e # Rl Sl R

(4) TBRATR & 80% STel &I argd 55 &l F 9 i vl g & grar 2

The period of nearest distance between moon and the earth is called

(1) Apogee (2) Perigee

(3) Perigean - (4) None of the above
AT 3R Yol & 7 Fcad g o 3l #1 wer o @

(1) qursh - (2) aRsh

(3) uRfrg= (4) 779 ¥ B TEI

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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80. Consider the following statements;

81.

82.

Assertion (A): Neap tides rise to a lesser hei ght than spring tides
Reason (R): Neap tides oceur on full moon

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Ais true butR is false

(4) Ais false butR is true

fFrfeeaT et w Rar w

SIEED LT (31) : RS Tge @1 garm # v ege o9 o aw aad 8
BRY @TR) : Y TT5s P w® 21 £

(1) & 1 AR I e 2 MR AR a7 3 W awan ¥

(2) 31 TAT AR T AE ® UG IR T A T e T R

(3) & WE B W AR TAT ¥ |

(4) 31 TTeId & TR IR G B |

Strassendorf pattern of settlement is associated with which of the following
settlement?

(1) Compact settlement (2) Dispersed settlement
(3) Linear settlement (4) Ring pattern

Wewrie o1 e Yo Prfafad # W R Weeie @ e o gan & 7
(1) e dearic | (2) Reive deeric

(3) <IfFfRR Jeerie | (4) 1 s

Which of the province of Canada is most densely populated?

(1) Ontario (2) Nunavat

(3) Alberta (4) Manitoba

HATST BT DIF-AT YT Fad T a7} arer 2 ?

(1) sifgerRar (2) TrEe

(3) orAqey 4) AfeEr

M.Phil./Ph.D./URS—EE-NOV.-ZO18:’(Geography)(SET-Y)/(D) P.T. 0.
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83.

84.

Consider the following statements;

Assertion (A): The plain areas having fertile soils and suitable climate for the

cultivation of crops are the regions of high density of population

Reason (R): There is an inverse relationship between the arable land and

concentration of population

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) Aisfalse but Ris true

frfolRaa wemt o= g = -

s (1) : wEel & AN 3 Ry SuoTe B ok Sugw werEg 9 e A
AT & ST U B & |

PR : (3MR) : Y YA AR Mt & g @ g vd Qi ey 2|
(1) & 9T R ST F&! 8 3R AR 3 BT Hel AR § |

(2) 31 TT IR T T ¥ UG TR I B Fel ARAT & B |

(3) & WEl & WR] IR T 2 | '

(4) 31 T 8 W] AR FEl 7 |

Consider the following statements;

Assertion (A): Indigenous people are strikingly different and diverse in their culture,

religion and social and economic organizations

Reason (R): the indigenous people are termed as Fourth world

(1) Bothaand R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct expianation of A
(3) Aistruebut Ris false

(4) Ais false but R is true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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frfeiaa et w foar & :

AHDAT (&) : T AT IO PR, e v W iR anfte WeH B arenT
3R fafaw &

BRI : (IR) : T AR By ARl g st S

(1) 1 TAT IR F! T 2§ 3R IR 7 a7 T ar=AT

(2) 31 TAT IR I FE B U AN I BT WE IR 7 P |
(3) ¥ e 2 WY AR ToA |

(4) 31 oA © IR IR WE B |

85. Consider the following statements;

Assertion (A): Pastoralism among the Masai is strongly linked with culture

Reason (R): Cattle are kept not because they can be sold or consumed, but because

they can be immolated in religious rites and magical ceremonies

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A istrue but R is false

(4) A is false but R is true

fFrferfae weml w far v

SHBAT (%) : FAE B dra unfears geAr I ARPRY & ST gon B |

PRI (3TR) : AARMT BT @1 ST 2 gaforg 81 5 = Ja1 W GohaT £ A7 W o b
€, WX e 5 3 enfife W oiR g wAREt F gt R o W ¥
(1) 1 qaT 3R & FET § 3R 3R o & T e 2

(2) & AT IR Tl FE § U IR & B AL FR=AT ¥ |

(3) 3 WEl & Ry AR e B |

(4) 3 TTeId & WR IR W B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P.T. 0.



38

D

86. Match the list I (Races) with List IT (Sub races) and choose the correct answer using

87.

the codes given below the list;
List-1 ' List - 1T

A. Caucasoid [.  American indians
B. Negroid , II. Alpine
C. Mongoloid 1II. Melanesians

A B C
(1) 1 1 1
(2) 0 1 I
(3) m o I
4) 1 I 1
AL (R9) BT G- (Fa-3H) & AT A R AR g @ A RA T e @ SuanT wwe
B! TR G

T - 1 = - 11

A. PIHETS I wmRew gfeaw
B. s II. 3reugH
C. A=NTS II1. femfRras

A B C
(1) 1T I I
() I I I
(3) I I I
(4 1 I I

Match the list T (name of estate farms) with List II (regions) and choose the correct
answer using the codes given below the list;

List-1 List - II
A. Latifundia 1.  Europe
B. Ranches II. Anglo America
C. Fazenda- III. Latin America
D. Plantation IV. Asia
A B C D

(1) T I IV I
@ I I IV I
@ 1 I II IV
4) IV II 1 1
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W—I(ﬂﬂﬁfﬁlﬁﬁ%)aﬁwﬁ—ll(ﬂa)%wﬁa&iiaﬁﬁ?ﬁﬂ%fﬁ?ﬂ%ﬁwEb*@'ﬁ

SN IR T IR G

= -1 T - 11
A ddwAfsr L g
B. Y=d II. el amiRer
C. sl 1. <ifest smRer
D. @y IV. TR

A B C D

1) I I IV I
@ I I IV I
@G I I I IV

4) Iv III T 1I
88. Which of the following is the port of five seas ?

(1) Murmaansk (2) St. Peterbersk

(3) Moscow (4) Valadivostoc

T W B dfa AT BT e & ?

(1) == (2) drews

(3) HR=pr 4) TSRS
89. Which of the following is not a Chinese minority community?

(1) Huis (2) Uighurs

(3) Chins (4) Manchus

T A B A sreqeere wHER E & ?

(1) gz@ (2) S¥R

(3) f= (4) H=e

80. Match the list I (Shifting cultivation) with List II (Region) and choose the correct
answer using the codes given below the list ;

List -1 List - II

A. Milpa - I. Indonesia

B. Ladang II. Brazil

C. Ray III. Vietham

D. Roka IV. Central America and Mexico
A B C D

M I I O 1v
@ IV I I I
@) I II IV I
(4 I IV I 1

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(D) P. T: 0.
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A1 (Rifter wfecae™) a1 G- @) & A1 9 a2 3R g @ AR Y W Bre a7
SN PRSP A SR G -

-1 - 11

A. faer I. semfdmn

B. s II. soid

S , T. faga=m

D. &0 IV. Al MmRaT iR Hfdaar
A B C D ,

M) I m I 1V
2 IV I II I
@) I I IV I
@) I IV I I

91. Match the list I (name of scholars) with List II (Books) and choose the correct answer
using the codes given below the list :

List-1I List - II
A. Aristotle i. Ges Periodos
B. Eratosthenes ii. The Oceans
C. Hecataeus iii. Ekumene
D. Posidonius iv. Meteorologia

A B C D
(I) i v i i
Q) iti i i v
@) iv i i i
@) i i iv il
a1 (gt &1 9m) &1 GA-I (Gal) & T A & 3R A & Y A 1 I @
STINT HRD Hel SR g

T -1 = - 10
A. IRK] i. T diRe™
B. svereli ii. < oA
C. Rofeaw iii. YagAE
D. Wi iv. Aferenforn
A B CD

(1) i iv il i
(2) ii i i iv
(3) iv iii i ii
4) ii i v i
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92. Consider the following statements ; |

Assertion(A): Posidonius pointed out that at new moon and full moon there are high
tides whereas low tides are caused when moon is in the First and Last quarter.

Reason (R): Posidonius was a scholar of Greek period.

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and Rlare true but R is not the correct explanation of A
(3) Ais true but R is false

(4) A is false but R is true

frferRaT wodt w faar &

At (3) : ARSI F gdmn 6 "y daE R gftf ¥ wew waR B § sfy dgA
gl 3R TRed fRFmd) # g ® a9 BH W B ¥

DR (AR) : diEIFTT W dikve & va g o |

(1) & 1 AR Sl FE 8 3MR R 37 P FE =T B

(2) 31 TAT IR THI W T W AR 3 B FE @A A8 2|

(3) 31 HE & W= AR TerT B |

(4) & AT € g IR AR B

93. Match the list I (name of the Rivers as mentioned in Rigveda) with List IT (The present
names of the Rivers) and choose the correct answer using the codes given below the

list ;
List - I List - 1I
A. Sutudri [.  Jhelum
B. Purusni II. Chenab
C. Asikni II. Ravi
D. Vitasta IV. Sutlej
A B C D

M1 I m v
@I I o IV
@) IV Il I I
@I I 1 1v
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-1 (ST 8 e A SfeaRad afkal o1 99 2) @ @11 @Rl & adws W) @
el

A

B IR A B AR A T P FHT ST FRD T SR G

A - 1 QI - 11
A, ggEr I 9o
B. gl . =4
C. et II. 34
D. faaw IV. aqs
A B C D

M1 I I v
@O I I IV
@) IV I I 1
@ n m 1 1

94. Consider the following statements ;
Assertion (A): Hecataes is known as the father of geography

Reason (R): His main book 'Ges Periods' presented the first systemic description of
the world

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue butRis false

(4) A is false but R is true

frfafRad wod R fAar &< -

AP (o) : Rprermd e & fiar & wu # oF o 2 |

DR (@R) : 396 J& Y 19 QRIS [qvg o) gorg gafkerd fdavor gga e 2 |
(1) o T2H R SFI WET & 3R AR 3 B F& ARA © |

(2) 31 AT IR I WEI & TR SR 3 B &l AR 78 7 |

(3) & WA ¥ W= IR Teid 8 |

(4) 31 I § UR=] IR WeEl B |

95. Consider the following statements;

Assertion (A): Behavioural approach in geography was introduced in 1960s

Reason (R): Its origin was based on the frustration against the normative and
mechanistic models developed with the help of quantitative technique

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A istrue but R is false

(4) A is false but R is true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)



ferferRea oMl wR faer o

BT (&) : e § FEER gRedIo 1960 & e & U far w2y o |

FRY (TR) : TAD! SERT HHESG dH-Nd B Teral & R 7a R g dfeq &
faeg PRmem w smenRa o |

(1) & AT IR T T 2 AR AR o B FE @

(2) & TAT IR T e § U IR o B A& AT 78§ |

(3) o HEI & U= IR el © |

(4) o T T UG IR WE R |

96. Match the list I with List II and choose the correct answer using the codes given
below the list;

List-I List - IT
A. T.Haggerstrand 1. Theoretical geography
B. William Bunge II.  Geographic dissemination of innovations
C. Gilbert White HI. Methods of regional analysis
D. Walter Isard IV. Human responses to flood
A B C© D

(1) I 1 IV I
@ I I IV I
@) IVI I I
@ I IV I I

A1 BT AT S A1 At B SR G B A R T B @ swi PG el SR G

LA -1 | CoEr-II
A. %o BRE S [ dgi~s e
B. fafers =it II. =Rl &7 SMe TaR
C. fireee =T 1. &= faveme & ada
D. 9T 39T V. 718 & o wmg fdfear
A B C D

1) I I IV II
(2) I I v 1
3 Iv II I 1
(4) II IVv. 1 1I
97. Which one of the following statements is Not True about humanism in geography?
(1) Humanism does not treat humans as machines

(2) Humanistic geography gives importance to human awareness, human
consciousness and human creativity

(3) Humanists accepts the reduction of space and place to geometrical concepts of
surface

(4) Humanism developed as criticism against positivism and quantitative revolution
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frr=foad § | I9-91 $eF Pile § AFadae @ R A 98 T8 8 ?
(1) Araar 7g=t B 7 @ WO F AE A ¥
(2) IS e A SIS Hd], HFd AT 3R A YF-TeAGar o] Fe<d ol # |
(3) AL HAE B SN SRR BT W8 3R H H BH BT WIPR B ¢ |
| (4) HFIATETE FHRIHAS HR A=AHS Hifd & Ovg T & w9 § fawfag g
98. Match the List I{ names of the scholar) with List II (Model characteristics) ;

List - I List - II
A. Taaffeand Gould [. Six stage transport development model(1963)
B. Gould il. Four  phases interrelationship  between
' metropolitan and third world countries
C. Vance 1. Five stage Mercantile model(1970)
D. Rimmer V. Spatial exploration model(1966)
A B C D | |

1) I I I IV
@ I I I IV
@) I IV I I
(4 IV I I 1II

-1 (gl & =) 37 G-I (@tee fBEon) & | Jd o

= -1 & - 11
A. T IR M . © T uRaed e #fead (1963)
B. iSes _ il Agnfferes &R IR gfar & <wil &
C. a1 III. 9fa RO FRaege Arsd (1970)
D. R¥R V. R TRIeee  disd (1966)
A B C D

1) I 1 m IV
2 I 1 1 Iv
@ I Iv II I
4) VI I II -
99. Which of the following model of transport development is based on the colonialism?

(1) Gould (2) Rimmer (3) Vance (4) Lanchene
gRaes faemy & FrfaRaa dfed & | dH-91 Suf~deee R R 8 ?
(1) MSes (2) RFR (3) I (4) ==

100. Which stage of the Vance's model talked about localised internal trade and
manufacturing ?

(1) Fourthstage (2) Second stage (3) Sixth stage (4) First stage
I @ Afed @ A TR0 7 R SfidRe agR R fafior & ar # arq @ & ?
(1) aged a=or (2) fadia ==or (3) Bodl TR (4) werH =R

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(D)
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